TB2 Electronics IPB

Tilt, Recline, Tilt & Recline, Lift & Tilt. INFMANU3594



PRIDC

M OB I1LITY

QUANTUKA“’ LIVE YOUR BEST®
A R R =y I |

This lllustrated Parts Breakdown (IPB) Catalog has been compiled from the latest product
information available at the time of publication. Quantum Rehab® / Pride Mobility Products®
Corporation reserves the right to make changes and updates to this manual and to the
product(s) it represents. Any changes, updates, or improvements to the product(s) may result
in slight differences between this manual and the product that has been purchased.

An IPB is a graphically portrayed parts listing of product components which have been deemed
to have serviceable, maintenance significance. When applicable, IPBs utilize “exploded”
illustrations that detail serviceable components and a corresponding itemized parts list of
reference numbers, part numbers, descriptions, quantities, and any applicable pricing.
Most product components are incorporated into assemblies and may not be available for
replacement.

Serviceable components will be noted by a callout in the illustration that will correspond to a
alphanumeric reference number in the parts list. ltems may also be listed in the parts list by
parent assemblies. In most cases when a parent assembly is listed, there will be child parts
or sub-assemblies listed under that parent.

For example: The parent assembly reference number is A1 — A5. That part contains
all of the items listed as and contained within Al, A2, A3, A4, & A5. As long as these
subcomponents have a callout associated with them, they can be selected for
replacement or quote.

Updates to the contents of an IPB will be made on a regular basis based upon applicable
product changes and enhancements. This PDF catalog has been export from the Provider
based service site. The most up to date parts look up tool and ordering application is located
at: prideprovider.com. Please utilize this system to enhance your user experience. It is built
with highly interactive materials that are set with relational properties that will facilitate easier
part look-up, more accurate parts selection, notification of onhand part availability, and quick
links to related documents and products.

We welcome all questions and comments regarding the Quantum Rehab® / Pride Mobility
Products® Corporation IPB systems.

Any pricing that is included in Quantum Rehab® /Pride Mobility Products® Corporation IPBs
is subject to change without prior notice.

Thank you for choosing products from Quantum Rehab® and Pride Mobility Products®
Corporation.

CeC

© 2020 Quantum Rehab®/Pride Mobility Products® Corporation
www.pridemobility.com

www.prideprovider.com

www.quantumrehab.com




1. Tilt

1.1. Tilt thru Toggle
Tilt thru Toggle Harness and INhibit ASSY . . . . .. e e e e e e e 1
High Power Toggles and Mounts, TubUlar Arms . . . . . . e e e e et e e e e e e e e e e 3

1.2. Tilt thru Single Switch
TB2 Single Switch through Current Limit BOX . . . . . .. e e e e e 5

1.3. Curtis thru AM1/AM2 Assy's

AM1/ AM2, Master Assembly and Modules, After 1/2/12 . . . . . e 7
AM1/AM2, Master Assembly and Modules, Before 1/2/12 . . . . . .. e 9
AM1/ AM2, Harnesses and Hardware . . . ... ... ... ittt e e 11
AM1/ AM2 Attendant Control and Recline Plastics . . . ... .. ... .. 13

1.4. Curtis thru AAM Tilt Assy's

TB2 Tilt, AAM, Master Assembly, After 1/2/12 . . . . e 15
TB2 Tilt, AAM, Master Assembly, Before 1/2/12 . . . . . e 19
TB2 Tilt, AAM, HarNESSES . . . . . . ottt e e e e e e e e e 23
TB2 Tilt, AAM, Hardware . . . . ...t e e e 25

1.5. Remote Plus ALM / ALM5L Assy's

Remote Plus, ALM-ALMSL Master Level Table . . . . .. ... . e e e e e e e 27
Remote Plus, ALM-ALMSL Harnesses . . . . . .. ... e e e e e e e e e e e 29
Remote Plus, ALM-ALMSL Hardware . . . .. .. ...ttt e e e e e e e e e e e 31

1.6. Remote Plus Switch-it Tilt Assy's

Remote Plus / Switch-it, Tilt Master Assembly and Switch-it BoX . . .. .. ... .. . . . . e 33
Remote Plus / Switch-it, Tilt Harnesses . . . .. .. .. . e e 35
Remote Plus / Switch-it, Tilt Hardware . . . . . . ... e 37

1.7. Dynamic Shark/ PG Drives VSI & VR2 Assy's
TB2 Electronics, Shark, VSI, VR2 Harnesses and Pressure Pads . . . ... . ... ... . . e e 38

2. Recline

2.1. Curtis thru AM1/AM2 Assy's

AM1/ AM2, Master Assembly and Modules, After 1/2/12 . . . . . . e 41
AM1/AM2, Master Assembly and Modules, Before 1/2/12 . . . . . ... e 43
AM1T/ AM2, Harnesses and Hardware . . . .. ... .. ... ittt e e 45
AM1/ AM2 Attendant Control and Recline Plastics . . . ... .. ... ... 47

2.2. Curtis thru AAM Recline Assy's

TB2 Recline, AAM, Master Assembly, After 1/2/12 . . . . . e 49
TB2 Recline, AAM, Master Assembly, Before 1/2/12 . . . . .. e 51
TB2 Recline, AAM, Harnesses . . . . . .. . e 53
TB2 Recline, AAM, Hardware . . . . . . ... e 55

2.3. Remote Plus Switch-it Recline Assy's

Remote Plus / Switch-it, Recline, Master Assembly and Switch-it BOX . . . .. ... .. .. . . . . . 57
Remote Plus / Switch-it, Recline, Harnesses . . .. . . ... ... e e e e e 59
Remote Plus / Switch-it, Recline Hardware . . . . .. .. .. .. . e 61

3. Tilt & Recline

3.1. Curtis thru AM1/AM2 Assy's
AM1/ AM2, Master Assembly and Modules, After 1/2/12 . . . . . . e 62
AM1/AM2, Master Assembly and Modules, Before 1/2/12 . . . . . .. e 65
AM1T/ AM2, Harnesses and Hardware . . . ... ... ... ittt e e e e e 67



AM1/ AM2 Attendant Control and Recline Plastics . . . . . ... . .. .. 69

3.2. Curtis thru AAM Tilt & Recline Assy's

TB2 Tilt and Recline, AAM Master Assembly, After 1/2/12 . . . . e e e 71
TB2 Tilt and Recline, AAM Master Assembly, Before 1/2/12 . . . . . .. e 75
TB2 Tilt and Recline, AAM, HarneSSes . . . . . . . .t e e e e e e e e e e 77
TB2 Tilt and Recline, AAM, Hardware . . . . . . ..t e e e e e 79

3.3. Remote Plus Switch-it Tilt & Recline Assy's

Remote Plus / Switch-it, Tilt and Recline, Master Assembly and Switch-itBox . ... ... ... ... .. . . . . . . . . . 81
Remote Plus / Switch-it, Tilt and Recline Harnesses . . ... ... ... . ... e e e e 83
Remote Plus / Switch-it, Tilt and Recline Hardware . . . .. ... ... ... e e e e e e 85
Remote Plus / Switch-it, Tilt and Recline, Attendant Control Hardware . .. ... .. ... .. . . ... et 86

3.4. Dynamic Shark/ PG Drives VSI & VR2 Assy's
TB2 Electronics, Shark, VSI, VR2 Harnesses and Pressure Pads . . . . ... ... ... . . e e e 88

4. Lift & Tilt

Q-Logic Electronics, TB2 Lift and Tilt (Config #40) . . . . . . ...t e e e e e e e e e 91
Q-Logic w/ Attendent Control Electronics, TB2 Lift and Tilt (Config #40) . . . . . ... . . . e e e e 93
Q-Logic w/ Ind Legs Electronics, TB2 Lift and Tilt (Config #41) . . .. .. . e e e e e e e 95
Q-Logic w/ Ind Legs and Attendant Control Electronics, TB2 Lift and Tilt (Config #41) . . . .. .. . . . . . . . . . e 97
Q-Logic w/ Comb Legs Electronics, TB2 Lift and Tilt (Config #42) . . . . . . .. .. i e e e e e e e e e 99
Q-Logic w/ Comb Legs and Attendant Control, TB2 Lift and Tilt (Config #42) . . . . . . . . . . . . e 101
Q-Logic w/ AFP Electronics, TB2 Lift and Tilt (Config #43) . . . . . . .. e e e e e e 103
Q-Logic w/ AFP and Attendant Control Electronics, TB2 Lift and Tilt (Config #43) . . . .. . ... . .. e 105
Elevate Inhibit Retro Kit, TB2 Lift and Tilt . . . . . . ... .. e e e e 107
Multiplier & Top Cover Mounting, TB2 Tiltand Recline . . . . . .. .. . . e e e e e e e e e 109

Electrical System Diagrams

TB2 Lift and Tilt, Electrical System Diagram . . . . . ... ... e 111
TB2 Lift and Tilt w/ Attendant Control, Electrical System Diagram . . . . . ... ... . e 112
TB2 Lift and Tilt w/ Independent Legs Electrical System Diagram . . . . ... ... .. 114
TB2 Lift and Tilt w/ Independent Legs and Attendant Control, Electrical System Diagram . . ... ... ... . ... . it 116
TB2 Lift and Tilt w/ Combined Legs, Electrical System Diagram . . . . . ... ... . .. e 118
TB2 Lift and Tilt w/ Combined Legs and Attendant Control, Electrical System Diagram . ... ....... ... ... ... . . . . . i, 120
TB2 Lift and Tilt w/ AFP, Electrical System Diagram . . . . .. ... ... e 122
TB2 Lift and Tilt w/ AFP and Attendant Control, Electrical System Diagram . . . ... ... ... . . . . . e 124

5. Lift, Tilt, & Recline

Q-Logic Electronics, TB2 Lift, Tilt and Recline (Config #44) . . . . . . .. e 126
Q-Logic w/ Ind Legs Electronics, TB2 Lift, Tilt and Recline (Config #45) . . . . .. . . . . . e 129
Q-Logic w/ Combined Legs Electronics, TB2 Lift, Tilt and Recline (Config #46) . . ... .. ... .. . . . . . e 133
Q-Logic w/ AFP Electronics, TB2 Lift, Tilt and Recline (Config #47) . . . . . . . . . e e 135
Multiplier & Top Cover Mounting, TB2 Tilt and Recline . . . . . .. . . . . e 137
Elevate Inhibit Retro Kit, TB2 Lift and Tilt . . . . ... . ... e e e 139

Electrical System Diagrams

TB2 Lift, Tilt, and Recline, Electrical System Diagram . . . . . ... ... 141
TB2 Lift, Tilt, and Recline w/ Independent Legs, Electrical System Diagram . . .. ... ... ... . i 142
TB2 Lift, Tilt, and Recline w/ Combined Legs, Electrical System Diagram . . .. ... ... ... .. .. e 144
TB2 Lift, Tilt, and Recline w/ AFP, Electrical System Diagram . . . . .. . .. ... e 146

6. Electronics Box Assy's

9. Standard Electronics Box Assy's

Electronics Box - ALM - Solid Back Plate/ Cane Mount, TB2 . . . . .. . . ... . . e 148
Electronics Box - AAM - Solid Back Plate/ Cane Mount, TB2 . . . . . .. . ... e 151
Electronics Box - Switch-it - Solid Back Plate/ Cane Mount, TB2 . . . . . . . . .. .. e 153

Electronics Box - SingleSwitch - Solid Back Plate/ CaneMount, TB2 . . .. . ... . .. . . e 155



Electronics Box to Push Bar Mounting Bracket, TB2 . . . . . .. . . . e 157

10. Compact Electronics Box Assy's

Electronics Box - Compact, Solid Back, TB2 . . . . . . . ... e 159
Electronics Box - Compact, TB2 . . . . . ...t 161
Electronics Mount - Compact Ele Box, thru Toggle, TB2 . . . . . ... .. e e e 163
Electronics Mount - Compact Ele Box, thru Toggle, Solid Back, TB2 . . . ... ... ... e e e e 165
Electronics Mount - Compact Box Bracket, Offset, 10"-28", TB2 . . . . . .. ... .. ittt e e et e e e e 167

7. Curtis LED Light Assy's

Q-Logic, LED Lights, TB2 Tiltor Tilt and Recline . . . . .. .. . e e e e e e e e e e e e 169
Q-Logic, LED Lights, Power Seat w/ Tiltor Tiltand Recline . . ... ... .. .. . . . . e e e e e e e 171
Q-Logic, LED Lights, TB2 ReClNe . . . . .. .. e e e e e e e e 173

8. Toggle & Push Button User Controls

High Power Toggle and Mount, Tubular Arms . . . . . e e e e e e 175
Seating Controls and Mounts, TubUIar ArmS . . . . . e e 177
4 Way Seating Controls for AAM and SwitCh-it . . . . . . .. 179

9. Curtis Stand-alone Charger Port Assy

Curtis Stand Alone Charger Port . . . . . ... 181
Appendix AiPages INAeX . . ... .. e e e 183
Appendix BiParts INdeX . . . ... e 184



Tilt thru Toggle Harness and Inhibit Assy

PRIDG

1.1. Tilt thru Toggle

NE Electronics PTO Harness

-,

Without Pressure Switches

(&
‘. Manual
Recline
“J,' Cane
o U
TOGGLE

BOX

@ § -

a0y (e

Microswitch Inhibit, No Manual Recline

N

TO POWER BASE

Y

TO POWER BASE

;

TO TOGGLE HARNESS

*H1 is used in place of G1
with vent tray configurations.

Please Note: ltems G1 and H1 are not
included with the Master Assembly. They are
used in conjunction with DWR1265H039
when the unit does not have a manual recline

Master assemblies are not pickable from table, please select from parts list

Tilt through Toggle with... Master Assembly F1|F2 |F3|F4 |F5 |F6 |F7 |FB | F9 |F10|F11|F12|F13|F14 |*G1 | "H1
..Pressure Switches A1 | ELEASMBE389| 5 1 2 2 1 1 2 1 2 1
..No Pressure Switches B1| ELEASMBE395| 5 1 2 2 1 1 1 2 1
.Manual Recline and Pressure Switches C1| ELEASMBS147| 5 1 1 1 1 1 2 1
..Manual Recline and No Pressure Switches | D1 | ELEASMB5520) 5 1 1 1 1 1 1
..NE Electronics Only E1| ELEASMB6031| 5 1 2 2 1 2 1 1 1 2 1

Master Assembly F1|F2 |[F3 | F4 |F5 |F6 | F7 | FB | F9 |F10|F11|F12|F13|F14 [*G1 | "H1

The numbers within the table represent the quantity of each harness for each configuration.

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:05 UTC 2020



Tilt thru Toggle Harness and Inhibit Assy

PRIDC
Item Part No. Name Qty
A1 ELEASMB6389 REMOTE PLUS/VSI/VR2/SHARK/Q-LOGIC/NE+,THRU HIGH POWER TOGGLE,W/PRESSURE 1
SWITCH,TB2 TILT
B1 ELEASMB6395 REMOTE PLUS/VSI/VR2/Q-LOGIC/NE+ THRU HIGH POWER TOGGLE,TB2 TILT 1
c1 ELEASMB5147 REMOTE PLUS/Q-LOGIC/VSI/VR2/SHARK/NE+ THRU HIGH POWER TOGGLE, W/MANUAL 1
RECLINE,W/PRESSURE SWITCH,TB2 TILT
D1 ELEASMB5520 REMOTE PLUS/Q-LOGIC//VSI/VR2/NE+,THRU HIGH POWER TOGGLE,W/MANUAL RECLINE,TB2 TILT 1
E1 ELEASMB6031 NE,THRU HIGH POWER TOGGLE,W/PRESSURE SWITCH,TB2 TILT 1
F1 PLSTIE1004 TIE WRAP,BLACK,8" 1
F2 ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 1
F3 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 1
F4 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 1
F5 SCRASBH1148 SCREW,BHSCS,BLACK ZINC,1/4-20 X 0.50",W/PATCH 1
F6 CLPCBLC1025 CLAMP,CABLE,STEEL,0.50" DIA,RUBBER COATED 1
F7 DWR1265H011 ELECTRONIC,HARNESS, TAPE SWITCH RELAY,GEN 2,TB2 TILT 1
F8 DWR1265H012 HARNESS,POWER/INHIBIT EXTENSION,FOR TOGGLE, TILT 1
F9 DWR1265H001 ELECTRONIC,SWITCH,PRESSURE,ANTI-PINCH,TB2 TILT 1
F10 DWR1265H039 HARNESS,MICROSWITCH INHIBIT,TILT 1
F11 DWR1265H028 HARNESS, TAPE SWITCH RELAY BY-PASS,TILT 1
F12 ELE142519 HARNESS,COMBINATION,INHIBIT, MANUAL TILT,ROHS 1
F13 DWR1265H052 ELECTRONIC,HARNESS, TILT THROUGH TOGGLE,NE,H-1265-052 1
F14 DWR1265H057 ELECTRONIC,HARNESS,PTO ONLY,NE,H-1265-057 1
G1 FRMASMB14496 MOUNTING BRACKET,ASSY,INHIBIT MICROSWITCH,TB2 TILT 1
H1 MOUNTING BRACKET,INHIBIT MICROSWITCH,TB2 TILT,ARTICULATING VENT TRAY 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:05 UTC 2020




High Power Toggles and Mounts, Tubular Arms <
PRIDC

1.1. Tilt thru Toggle

(c1)
2® —~ N\,
Left Side @
A1b ' _
Right Side | Bﬁ%%

Ala

&
&

&
&

ARMREST

TO ELECTRICAL

HARNESS
(c1)
@@ )
a‘?
Toggle Handle 5> Bﬁ

@ _
SN
Right Side - .
Dia
b )
Left Side ' -
D1b % , TN
_ g
TO ELECTRICAL
HARNESS ABRMREST

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:06 UTC 2020



High Power Toggles and Mounts, Tubular Arms

PRIDC
Item Part No. Name Qty
Ala ELECTRONIC,ASSY, TOGGLE BOX,ERGONOMIC,REMOTE PLUS/EUROPA,VSI,W/VERSA/SYNERGY 1
MOUNTING BLOCK,RIGHT
Alb ELECTRONIC,ASSY,TOGGLE BOX,ERGONOMIC,REMOTE PLUS/EUROPANSI,W/VERSA/SYNERGY 1
MOUNTING BLOCK,LEFT
B1 MOUNTING BRACKET,ASSY,HIGH POWER TOGGLE BOX,W/MOUNTING HARDWARE 1
C1 FRMASMB8929 MOUNTING BRACKET,ASSY,TOGGLE BOX,W/THREADED INSERTS 1
D1a ELEASMB5157 ELECTRONIC,ASSY,HIGH POWER TOGGLE BOX,W/MOUNTING BRACKET,RIGHT 1
D1b ELEASMB5156 ELECTRONIC,ASSY,HIGH POWER TOGGLE BOX,W/MOUNTING BRACKET LEFT 1
E1 FRMASMB11354 MOUNTING BRACKET,ASSY,HIGH POWER TOGGLE BOX,W/MOUNTING HARDWARE,MULTI- 1
POSITIONAL
F1 DWR1000C390 KNOB,BLACK,RUBBER, TOGGLE BOX,C-1000-390 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:06 UTC 2020




TB2 Single Switch through Current Limit Box <
PRIDCE

1.2. Tilt thru Single Switch

SINGLE SWITCH
i

Only items with callouts are
available for replacement.  roeiectronics

BOX . 7

Please Note: ltems B1 and C1 are not
included with the Master Assembly. They are
used in conjunction with DWR1265H039
when the unit does not have a manual recline.

=l ATE

*C1 is used in place of B1 Only items A1 thru A11 may be included in
with vent tray configurations. the Master Assemblies.
Single Switch through Current Limit Box and... Master Assembly | A1 | A2 | A3 | A4 | A5 | AB | A7 | A8 | A9 | A10 [A11 |*B1 | *CH
..with Pressure Switches N/A N/A 2 1 4 1 1 2 2 1 1
..No Pressure Switches N/A N/A 4 1 1 2 2 1 1
.Manual Recline with Pressure Switches N/A N/A | 1 2 1 1 1 4 1
.Manual Recline, No Pressure Switches N/A NA [ 1 1 [ 1] 4] |

The numbers within the table represent the quantity of each harness for each configuration.

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:06 UTC 2020



TB2 Single Switch through Current Limit Box

PRIDC
Item Part No. Name Qty
A2 ELE142519 HARNESS,COMBINATION, INHIBIT, MANUAL TILT,ROHS 1
A3 DWR1265H001 ELECTRONIC,SWITCH,PRESSURE,ANTI-PINCH,TB2 TILT 1
A4 DWR1265H011 ELECTRONIC,HARNESS, TAPE SWITCH RELAY,GEN 2,TB2 TILT 1
A5 CLPCBLC1025 CLAMP,CABLE,STEEL,0.50" DIA,RUBBER COATED 1
A6 SCRASBH1148 SCREW,BHSCS,BLACK ZINC,1/4-20 X 0.50",W/PATCH 1
A7 PLSTIE1004 TIE WRAP,BLACK,8" 1
A8 ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 1
A9 DWR1265H039 HARNESS,MICROSWITCH INHIBIT,TILT 1
A10 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 1
A11 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 1
B1 FRMASMB14496 MOUNTING BRACKET,ASSY,INHIBIT MICROSWITCH,TB2 TILT 1
c1 MOUNTING BRACKET,INHIBIT MICROSWITCH,TB2 TILT,ARTICULATING VENT TRAY 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:06 UTC 2020




AM1/ AM2, Master Assembly and Modules, After 1/2/12 L
PRIDE

1.3. Curtis thru AM1/AM2 Assy's

Tilt (AM1) and... *Master Assembly | Module w/ Programming /\
R4000/ Q614, No Pressure Switches A1 | ELEASMB7102 ab ELEASMBEG578
R4000/ Q614 with Pressure Switches B1 | ELEASMB6574 ab ELEASMB6578
Manual Recline with Pressure Switches C1 | ELEASMB6E036 || cuer ELEASMB6043
Manual Recline, No Pressure Switches D1 | ELEASMB7100 | cder ELEASMB6043
No Pressure Switches E1 | ELEASMBB573 | cdiet ELEASMB6043
Pressure Switches Fi | ELEASMBB035 | cdet ELEASMB6043

Tilt (AM2) and... ‘Master Assembly | Module w/ Programming A\ |
AFP, No Pressure Switches G1 | ELEASMB7101 sn | ELEASMB6433
AFP with Pressure Switches H1 | ELEASMB6429 gh ELEASMB6433
Elevate il ELEASMB7159 i ELEASMB7162
R44 AFP, No Pressure Switches Ji | ELE121679 i ELE121680

Recline and.. *Master Assembly | Module w/ Programming A\
Recline Only (AM1) K1 | ELEASMB6640 k ELEASMB6045
AFP (AM2) L1 | ELEASMB6641 I ELEASMB6435
Elevate (AM2) M1 | ELEASMB7160 m | ELEASMB7163

Tilt, Recline, and... *Master Assembly | Module w/ Programming /A
Pressure Switches (AM2) N1 | ELEASMB6639 | n/o ELEASMB6044
No Pressure Switches (AM2) 01 | ELEASMB7103 n/o ELEASMB6044

A Actuator Mlodule Re P lacement A *Master assemblies contain AM1 or AM2 modules in addition to
harnesses and hardware components, which are not shown.
**Modules shown here are ONLY compatible a _ . .
i . eference component pages for illustrations and parts lists with the
with units manufactured AFTER Master Assembly part number in the table. Lower-case letters
January 2, 2012.** designate modules in assemblies with the matching upper-case letter.
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:07 UTC 2020



AM1/ AM2, Master Assembly and Modules, After 1/2/12

PRIDC
Item Part No. Name Qty

A1 ELEASMB7102 NE+/Q-LOGIC THRU AM1,TB2 TILT,TILT,45°,(CONF. #20) 1
B1 ELEASMB6574 NE+/Q-LOGIC THRU AM1,TB2TILT,TILT,45°, W/PRESSURE SWITCH (CONF. #20) 1
c1 ELEASMB6036 NE+TB2 TILT,TILT THRU JOYSTICK W/MANUAL RECLINE,W/PRESSURE SWITCH (CONF. #20) 1
D1 ELEASMB7100 NE+TB2 TILT,TILT THRU JOYSTICK W/MANUAL RECLINE,W/O PRESSURE SWITCH,(CONF. #20) 1
E1 ELEASMB6573 NE+/Q-LOGIC THRU AM1,TILT,W/O PRESSURE SWITCH,TB2 TILT,(CONF. #20) 1
F1 ELEASMB6035 NE+/Q-LOGIC THRU AM1,TB2 TILT,TILT THRU JOYSTICK,W/PRESSURE SWITCH (CONF. #20) 1
G1 ELEASMB7101 NE PLUS,TB2 TILT, TILT/POWER ARTICULATING FOOT PLATFORM,THRU JOYSTICK,W/O PRESSURE | 1

SWITCH,(CONF. #23)
H1 ELEASMB6429 NE PLUS,TB2 TILT,TILT/POWER ARTICULATING FOOT PLATFORM,THRU JOYSTICK,W/PRESSURE 1

SWITCH (CONF. #23)
" ELEASMB7159 NE PLUS,TB2 TILT, TILT/ELEVATE,THRU JOYSTICK,(CONF #24) 1
J1 ELE121679 NE PLUS,TILT,AFP,THRU JOYSTICK,45°,(CONF. #23) 1
K1 ELEASMB6640 NE PLUS,TB2 RECLINE,RECLINE ONLY,(CONF. #08) 1
L1 ELEASMB6641 NE PLUS,TB2 RECLINE,RECLINE/POWER AFP,W/INDEPENDENTLY CONTROLLED POWER 1

AFP,(CONF. #11)
M1 ELEASMB7160 NE PLUS,TB2 RECLINE,RECLINE/ELEVATE,(CONF. #14) 1
N1 ELEASMB6639 NE PLUS,TB2 TILT & RECLINE,TILT/RECLINE,W/PRESSURE SWITCH (CONF. #28) 1
o1 ELEASMB7103 NE PLUS,TB2 TILT & RECLINE,TILT/RECLINE,W/O PRESSURE SWITCH,(CONF. #28) 1
alb ELEASMB6578 AM1 MODULE,W/PROGRAMMING,TB2 TILT,R4000/Q614,(CONF #20) 1
cldlelf ELEASMB6043 AMA1,TILT ONLY,(CONFIG #20) 1
g/ ELEASMB6433 AM2,TILT W/AFP,(CONFIG #23) 1
[ ELEASMB7162 AM2,LIFT & TILT,(CONFIG #24) 1
j ELE121680 NE+ AM2 MODULE, TILT/AFP,45°,(CONF. #23) 1
k ELEASMB6045 AM1,RECLINE ONLY,(CONFIG.#8) 1
[ ELEASMB6435 AM2,RECLINE W/AFP,(CONFIG #11) 1
m ELEASMB7163 AM2,LIFT & RECLINE,(CONFIG.#14) 1
n/o ELEASMB6044 AM2,TILT & RECLINE,(CONFIG #28) 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:07 UTC 2020




AM1/AM2, Master Assembly and Modules, Before 1/2/12 L
PRIDE

1.3. Curtis thru AM1/AM2 Assy's

Tilt (AM1) and... *Master Assembly Module w/ Programming /A
R4000/ Q614, No Pressure Switches Al | ELEASMB7110169 ab ELEASMB7110038
R4000/ Q614 with Pressure Switches B1 | ELEASMB7110165 ab ELEASMB7110038
Manual Recline with Pressure Switches C1 | ELEASMB7110161 odlelt ELEASMB7110036
Manual Recline, No Pressure Switches D1 | ELEASMB7110166 cidient ELEASMB7110036
No Pressure Switches E1 | ELEASMB7110163 cidie ELEASMB7110036
Pressure Switches F1 | ELEASMB7110158 || caer ELEASMB7110036

Tilt (AM2) and... *Master Assembly Module w/ Programming /\ |
Articulating Foot Platform, No Pressure Switches | G1 | ELEASMB7110168 gh ELEASMB7110037
Articulating Foot Platform with Pressure Switches || H1 | ELEASMB7110162 gh ELEASMB7110037
Elevate 11 ELEASMB7110171 i ELEASMB7110039

[Recline and.. *Master Assembly Module w/ Programming /A
Recline Only (AM1) J1_| ELEASMB7110176 | | ELEASMB7110041
Articulating Foot Platform (AM2) K1 | ELEASMB7110178 k ELEASMB7110042
Elevate (AM2) L1 ELEASMB7110179 | ELEASMB7110043

Tilt, Recline, and... *Master Assembly Module w/ Programmlni A
Pressure Switches (AM2) M1 | ELEASMB7110172 m/n ELEASMB7110040
No Pressure Switches (AM2) N1 | ELEASMB7110174 m/n ELEASMB7110040

*Master assemblies contain AM1 or AM2 modules in addition to
harnesses and hardware components, which are not shown.

A Actuator Module Replacement A

**Modules shown here are ONLY compatible
with units manufactured BEFORE
January 2, 2012.**

Reference component pages for illustrations and parts lists with the
Master Assembly part number in the table. Lower-case letters
designate modules in assemblies with the matching upper-case letter .

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:08 UTC 2020



AM1/AM2, Master Assembly and Modules, Before 1/2/12

PRIDC
Item Part No. Name Qty
A1 ELEASMB7110169 | ELECTRONIC,ASSY,TB2 TILT,TILT,R4000/Q614,(CONF. #20) 1
B1 ELEASMB7110165 | NE+/Q-LOGIC THRU AM1 (FW 1.16),TB2 TILT,TILT,R4000/Q614,W/PRESSURE SWITCH (CONF. #20) 1
c1 ELEASMB7110161 yonﬂL) (FW 1.16),TB2 TILT,TILT THRU JOYSTICK W/MANUAL RECLINE,W/PRESSURE SWITCH (CONF. 1
D1 ELEASMB7110166 | NE PLUS (FW 1.16),TB2 TILT,TILT THRU JOYSTICK W/MANUAL RECLINE,(CONF. #20) 1
E1 ELEASMB7110163 | NE+/Q-LOGIC THRU AM1(FW 1.16),TB2 TILT,TILT,(CONF #20) 1
F1 ELEASMB7110158 | NE+/Q-LOGIC THRU AM1 (FW 1.16),TB2TILT,TILT THRU JOYSTICK,W/PRESSURE SWITCH (CONF. #20) | 1
G1 ELEASMB7110168 | NE PLUS (FW 1.16),TB2 TILT,TILT/AFP,THRU JOYSTICK,(CONF. #23) 1
H1 ELEASMB7110162 | NE PLUS (FW 1.16),TB2 TILT, TILT/ARTICULATING FOOT PLATFORM,THRU JOYSTICK,W/PRESSURE 1
SWITCH (CONF. # 23)
" ELEASMB7110171 | NE PLUS (FW 1.16),TB2 TILT,TILT/ELEVATE, THRU JOYSTICK,(CONF # 24) 1
J1 ELEASMB7110176 | NE PLUS (FW 1.16),TB2 RECLINE,RECLINE ONLY,(CONF. #08) 1
K1 ELEASMB7110178 | NE PLUS (FW 1.16),TB2 RECLINE,RECLINE/POWER AFP,W/INDEPENDENTLY CONTROLLED POWER | 1
AFP,(CONF. #11)
L1 ELEASMB7110179 | NE PLUS(FW 1.16),TB2 RECLINE,RECLINE/ELEVATE,(CONF #14) 1
M1 ELEASMB7110172 | NE PLUS (FW 1.16),TB2 TILT & RECLINE, TILT/RECLINE,W/PRESSURE SWITCH (CONF. #28) 1
N1 ELEASMB7110174 | NE PLUS (FW 1.16),TB2 TILT & RECLINE, TILT/RECLINE,(CONF. #28) 1
alb ELEASMB7110038 | AM1 MODULE (FW 1.16), W/PROGRAMMING,TB2 TILT,R4000/Q614,(CONF. #20) 1
cldlelf ELEASMB7110036 | AM1 MODULE(FW 1.16),W/PROGRAMMING,TB2 TILT,(CONF. #20) 1
g/ ELEASMB7110037 | NE+ AM2 MODULE (FW 1.16),W/PROGRAMMING, TB2 TILT/POWER FOOT PLATFORM,(CONF. #23) 1
[ ELEASMB7110039 | NE+ AM2 MODULE(FW 1.16),W/PROGRAMMING,TB2, TILT/ELEVATE,(CONF. #24) 1
j ELEASMB7110041 | AM1 MODULE (FW 1.16), W/PROGRAMMING,TB2 RECLINE,(CONF. #8) 1
k ELEASMB7110042 | NE+ AM2 MODULE (FW 1.16),W/PROGRAMMING,TB2 RECLINE/POWER FOOT PLATFORM,(CONF. #11) | 1
[ ELEASMB7110043 | NE+ AM2 MODULE (FW 1.16),W/ PROGRAMMING, TB2 RECLINE/ELEVATE,(CONF. #14) 1
m/n ELEASMB7110040 | NE+ AM2 MODULE (FW 1.16),W/PROGRAMMING, TB2 TILT/RECLINE,(CONF. #28) 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:08 UTC 2020

10




AM1/ AM2, Harnesses and Hardware —
PRIDE

1.3. Curtis thru AM1/AM2 Assy's

TILT OR RECLINE TILT AND RECL RECLINE AND AFP/ ELEVATE | TILT AND AFP/ ELEVATE
=N RECLINE ====:~\ AG or Al1 B =
3 TILT : F

Manual Recline Inhibit
i O

INE
—_ /8

AGTUATOR E -
AG or A11 e s

=

JOYSTICK (| JovsTiok iy JOYSTICK (| ]
: AM2 : AM2
& &

ARTICULATING FOOT PLATFORM

(RECLINE ONLY)

TO POWER BASE

&

Recline Actuator

(TILT CONFIGURATIONS)
@ P

Master Assembly Parts are not pickable from table, please use parts list o select
Tilt (AM1) and... Before 1212 | After1/2/12 _|A1]A2]|A3]A4]A5|A6[A7]A8]A9]A10[A11]A12]A13]A14|A15]A16]A17]A18]B1[B2]
R4000/ Q614, No Pressure Switches| ELEASMB7110169 | ELEASMB7102 1 2 1
R4000/ Q614 w/ Pressure Switches | ELEASMB7110165 | ELEASMB6574 | 2 1 2 1
Man. Recline w/ Pressure Switches | ELEASMB7110161 | ELEASMBB036 | 2 1{1]1 2 1
Man. Recline, No Pressure Switches E_LEASMB?1101 66 | ELEASMB7100 11111 2 1
No Pressure Switches ELEASMB7110163 | ELEASMBES73 1 2 1
Pressure Switches ELEASMB7110158 | ELEASMBE035 [ 2 [ 1| 1 2 1
Tilt (AM2) and... Before 1/2/12 After 1/2/12 | A1|A2|A3[A4 A5|A6|A7|AB|A9|AT0[ATIAT2|A13A14|A15|A16/A17|A18|B1 |B2
AFP. No Pressure Switches ELEASMB7110168 | ELEASMB7101 1 1 [1]5]1 211 1 11[1
AFP with Pressure Switches ELEASMB7110162 | ELEASMB6429 | 2 | 1 | 1 bl s 10 =] B 211 111]1
Elevate ELEASMB7110171 | ELEASMB7159 1 Sl1f{1]114]11]2 1
R44 AFP, No Pressure Switches N/A ELE121679 1 1111511 211 i I ]
Recline and.. Before 1/2/12 After 1/2/12  |A1]A2|A3|A4|A5|A6|A7|AB|A9|AT0[AT1|A12]A13[A14|A15|A16/A17|A18|B1|B2
| Recline Only (AM1) ELEASMB7110176 | ELEASMBE640 1 511 2 1
Articulating Foot Platform (AM2) ELEASMB7110178 | ELEASMB6641 1 1111511 2 1 1 1 AT
Elevate (AM2) ELEASMB7110179 | ELEASMB7160 1 51414 114]11]2 1
Tilt, Recline, and... Before 1/2/12 After 1/212 |A1|A2|A3|A4|A5|AG|A7|A8|AS|A10|AT1|A12|A13]A14]A15/A16{A17|A18|B1|B2
Pressure Switches (AM2) ELEASMB7110172 | ELEASMBE639[ 2|1 [ 1 511 2 ]
No Pressure Swilches (AM2) ELEASMB7110174 | ELEASMB7103 1 511 2 1

The numbers within the table represent the quantity of each harness for each configuration.

TB2 Electronics IPB

11

Export Date: Tue Sep 08 03:06:08 UTC 2020



AM1/ AM2, Harnesses and Hardware

PRIDC
Item Part No. Name Qty
A1 DWR1265H001 ELECTRONIC,SWITCH,PRESSURE,ANTI-PINCH,TB2 TILT 2
A2 DWR1265H004 HARNESS,"Y", ANTI-PINCH SWITCH,TB2 TILT 1
A3 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE H-1111-047,(CURTIS:17881302) 1
A4 ELE142519 HARNESS,COMBINATION,INHIBIT, MANUAL TILT,ROHS 1
A5 CLPCBLC1025 CLAMP,CABLE,STEEL,0.50" DIA,RUBBER COATED 1
A6 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A7 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 1
*A8 PLSTIE1004 TIE WRAP,BLACK,8" 5
*A9 ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 1
A10 DWR1265H016 ELECTRONIC,HARNESS,POWER SEAT INHIBIT,CURTIS, TRUBALANCE TILT 2,H-1265-016 1
A11 DWR1265H017 ELECTRONIC,HARNESS,POWER SEAT, TRU-BALANCE TILT 2,H-1265-017 1
A12 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 1
A13 SWTMAGN1001 ELECTRONIC,SWITCH,HERMETIC,PRX +8100 1
A14 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
A15 NUT8120005 NUT,T-SLOT,BLACK,M8-1.25 1
A16 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 1
A17 SCRHHCS1382 SCREW,HHCS,BLACK ZINC CHROMATE,M8-1.25 X 12MM,10.9 1
A18 MEC138637 BRACKET,STRAIN RELIEF,AM1 1
B1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 1
B2 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:08 UTC 2020

12




AM1/ AM2 Attendant Control and Recline Plastics

uuuuuuuu

1.3. Curtis thru AM1/AM2 Assy's

g

To Seating Module

TB2 Electronics IPB

13

Export Date: Tue Sep 08 03:06:09 UTC 2020



AM1/ AM2 Attendant Control and Recline Plastics

PRIDE
Item Part No. Name Qty
Al PLSASMB2069 PLASTIC,ASSY,CURTIS/AAM, TRU-BALANCE 2 POWER RECLINE 1
*B1-C1 ELEASMB6642 ASSY,NE+ATTENDANT CONTROL MODULE,W/BRACKET & HARDWARE 1
B1 CTL137822 CONTROLLER ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
B2 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
B3 DWR1010D298 MOUNTING BRACKET ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
B4 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
B5 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 2
c1 FRMASMB10455 MOUNTING BRACKET,ASSY, ATTENDANT CONTROL,C-1010-285 1
D1 BRK8110019 MULTIPLIER L-BRACKET,TRU-BALANCE 2 POWER RECLINE 1
D2 SCRPPH1379 SCREW,PPH,BLACK ZINC,8-32 X 0.375" 2

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:09 UTC 2020
14




TB2 Tilt, AAM, Master Assembly, After 1/2/12

1.4. Curtis thru AAM Tilt Assy's

N.

‘;

o] m

A4

PRIDE

M -' E] a b c
a o [

g h i

i k |

m n o

P q r

S t u

v w X

y z aa

The Run Plug is
not neccessary for
modules manufactured
after June 7, 2012.

RUN PLUG
LOCATION

CURTIS - Tilt ¢ *Master Assermbly AAM Module Actuator Module
w/ Pressure Switches (and...) Al ELEASMB5154 abjk | ELEASMB5628 A Re pl acement A
Manual Recline B1 ELEASMBS5780 ablik | ELEASMB5628
Independent Legs C1 ELEASMB5350 c ELEASMB5629 Mg ﬂliIYeSCE;O“;% I;-:gr\le\flﬁ': 2
Combined Legs D1 ELEASMBS351 dm | ELEASMBS5630 units m anﬂfactu red
Articulating Foot Platform El ELEASMB5602 e/n ELEASMB5631 AFTER Jan uary 2‘ 2012.
Tilt Only (R4000/Q614 Program) F1 ELEASMB5813 figolp | ELEASMBS819
Manual Recline (R4000/ Q614 Program) G1 ELEASMB5816 Vgolp | ELEASMB5819 N EstEr assariblias caniaih Rafreases
Independent Legs (R4000/Q614 Program) H1 ELEASMB5817 h.!q ELEASMB5820 amﬂ';?;f;if:gﬂ’?;g::ﬁi;g; :*f‘g:"”‘
Combined Legs (R4000/Q614 Program) 11 ELEASMB5818 i ELEASMB5821 illustrations and parts lists with the
w/ No Pressure Switches (and... i | eieaswesarz | amik [Ereasuesezs | | MasterAssemby part numberinthe
Manual Recline K1 ELEASMB5781 ablik | ELEASMBS628 )
Independent Legs L1 ELEASMBS375 ! ELEASMBS629 Aﬁlx_n?iwrﬁ;;ﬁf; I;tt:sr;;riﬁt?;: :\?ith
Combined Legs M1 | ELEASMBS376 dm | eLeasMBSE30 M watching/upper oase etey:
Articulating Foot Platform N1 ELEASMB7107 en | ELEASMBS631
Tilt Only (R4000/Q614 Program) o1 ELEASMB7211 figolp | ELEASMBS5819
Manual Recline (R4000/Q614 Program) P1 ELEASMB7117 glop | ELEASMB5819
Independent Legs (R4000/Q614 Program) Q1 ELEASMB7108 g | ELEASMBS820
Combined Legs (R4000/Q614 Program) A1 ELEASMB7109 iir ELEASMBS821
Articulating Foot Platform (R44 Program) S ELE121670 s ELE121671
w/ Elevate (and...) T1 ELEASMB5498 Yu | ELEASMBS5632
Attendant Contral U1 ELEASMB5497 tu ELEASMB5632
Independent Legs V1 ELEASMBS500 VW | ELEASMB5633
Independent Legs and Attendant Control w1 ELEASMB5499 viw ELEASMBS633
Combined Legs X1 ELEASMB5502 Xy | ELEASMB5634
Combined Legs and Attendant Control Y1 ELEASMB5501 xly ELEASMB5634
Articulating Foot Platform Z1 ELEASMBS604 z/aa | ELEASMBS635
AFP and Attendant Contral AA1 ELEASMBS5605 zlaa | ELEASMBS635

TB2 Electronics IPB

15

Export Date: Tue Sep 08 03:06:09 UTC 2020



TB2 Tilt, AAM, Master Assembly, After 1/2/12

PRIDC
Item Part No. Name Qty
A1 ELEASMB5154 AAM,TILT,W/PRESSURE SWITCH,(CONFIG. #20) 1
B1 ELEASMB5780 AAM,TILT THRU JOY. W/MAN. RECL.,PRESSURE SWITCH(CONF #20) 1
C1 ELEASMB5350 AAM,TILT/IND. OR COMB. LEGS, THRU JOY.,PRESSURE SWITCH,(CONF #21) 1
D1 ELEASMB5351 AAM,TILT/COMB. LEGS,THRU JOY.,PRESSURE SWITCH,(CONF .#22) 1
E1 ELEASMB5602 AAM,TILT/AFP,THRU JOY.,W/PRESSURE SWITCH,(CONFIG #23) 1
F1 ELEASMB5813 AAM, TILT,R4000,W/PRESSURE SWITCH,(CONFIG.#20) 1
G1 ELEASMB5816 AAM,TILT THRU JOY. W/MAN. RECL.,R4000/Q614,PRESSURE SWITCH,(CONF #20) 1
H1 ELEASMB5817 AAM,TILT/IND. OR COMBINED LEGS, THRU JOY.,R4000/Q614,W/PRESSURE SWITCH,(CONFIG.#21) 1
1 ELEASMB5818 AAM,TILT/COMBINED LEGS, THRU JOY.,R4000/Q614,W/PRESSURE SWITCH,(CONFIG.#22) 1
J1 ELEASMB5372 AAM,TILT W/O PRESSURE SWITCH,(CONFIG #20) 1
K1 ELEASMB5781 AAM,TILT THRU JOY. W/MAN. RECL.,W/O PRESS SWITCH,(CONF #20) 1
L1 ELEASMB5375 AAM,TILT/IND. OR COMB. LEGS,THRU JOY.,W/O PRESS SWITCH,(CONF #21) 1
M1 ELEASMB5376 AAM,TILT/COMB. LEGS,THRU JOY.,W/O PRESS SWITCH,(CONF #22) 1
N1 ELEASMB7107 AAM,TILT/AFP,THRU JOY.,W/O PRESSURE SWITCH,(CONF #23) 1
01 ELEASMB7211 AAM, TILT,R4000,(CONFIG #20) 1
P1 ELEASMB7117 AAM,TILT THRU JOY. W/MAN. RECLINE,45°,(CONFIG #20) 1
Q1 ELEASMB7108 AAM,TILT/IND. OR COMB. LEGS,THRU JOY.,R4000/Q614,(CONF #21) 1
R1 ELEASMB7109 AAM,TILT/COMBINED LEGS, THRU JOY.,R4000/Q614,(CONFIG #22) 1
S1 ELE121670 AAM,TILT/AFP,THRU JOYSTICK,45°,(CONFIG #23) 1
T1 ELEASMB5498 AAM,TILT/ELEVATE, THRU JOY.,(CONFIG #24) 1
U1 ELEASMB5497 AAM,TILT/ELEVATE, THRU JOY. W/ATTENDANT,(CONFIG #24) 1
V1 ELEASMB5500 AAM,TILT/ELEVATE/IND. LEGS,THRU JOY.,(CONFIG #25) 1
W1 ELEASMB5499 AAM,TILT/ELEVATE/IND. LEGS,THRU JOY. W/ATT.,(CONF #25) 1
X1 ELEASMB5502 AAM,TILT/ELEVATE/COMBINED LEGS,THRU JOY.,(CONFIG #26) 1
Y1 ELEASMB5501 AAM,TILT/ELE/COMB. LEGS, THRU JOY. W/ATT.,(CONF #26) 1
Z1 ELEASMB5604 AAM,TILT/ELEVATE/AFP,THRU JOY.,(CONFIG #27) 1
AAT ELEASMB5605 AAM, TILT/ELEVATE/AFP,THRU JOY. W/ATTENDANT,(CONF #27) 1
alblj/k ELEASMB5628 AAM,TILT ONLY,(CONFIG.#20) 1
c ELEASMB5629 AAM,TILT W/INDEPENDENT LEGS,(CONFIG #21) 1
d/m ELEASMB5630 AAM,TILT W/COMBINED LEGS,(CONFIG #22) 1
e/n ELEASMB5631 AAM,TILT W/AFP,(CONFIG #23) 1
figlolp ELEASMB5819 AAM,TILT,R4000,(CONFIG. #20) 1
hiq ELEASMB5820 AAM,TILT/IND. LEGS,R4000,(CONFIG. #21) 1
ifr ELEASMB5821 AAM,TILT/COMBINED LEGS,R4000,(CONFIG. #22) 1
[ ELEASMB5629 AAM,TILT W/INDEPENDENT LEGS,(CONFIG #21) 1
s ELE121671 AAM,TILT/AFP,45° (CONFIG. #23) 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:09 UTC 2020

16




TB2 Tilt, AAM, Master Assembly, After 1/2/12

PRIDE
wofl] ._\c ne ;ﬂ ..; ‘ 3 5 ”
5 5 &3 'E' & [E)a 85 d e f
g h i
j k |
m n 0
p q r
s t u
v w X
y z aa

The Run Plug is
not neccessary for
modules manufactured
after June 7, 2012.

RUN PLUG
LOCATION

"Master Assembly AAM Module Actuator Module
w/ Pressure Switches (and...) AT ELEASMB5154 abik | ELEASMB5628 A Re p lacement A
Manual Recline B1 ELEASMB5780 abfi/k | ELEASMB5628
Independent Legs Ci ELEASMB5350 ¢ ELEASMB5629 Mgﬂtﬂ‘?iggov;gggrzﬁe
Combined Legs D1 ELEASMBS351 dm | EL EASMB5630 units m angfactu red
Articulating Foot Platform Et ELEASMB5602 en | ELEASMBS631 AFTER January 2, 2012.
Tilt Only (R4000/Q614 Program) Fi ELEASMB5813 igolp | ELEASMB5819
Manual Recline (R4000/ Q614 Program) Gt ELEASMB5816 ligiolp | ELEASMB5819 Mastai assomblias contain Harmgssas
Independent Legs (R4000/Q614 Program) H1 ELEASMBS817 f?*’q ELEASMB5820 3“dﬂ';?:?;i‘:;gr:‘gg::r:‘sp:g;:';é’:v"'-
Combined Legs (R4000/Q614 Program) 11 ELEASMB5818 ir ELEASMB5821 illustrations and parts lists with the
w/ No Pressure Switches (and...) Jt | ELeaswesazz | amik | ELEASMBS628 Wiates Assembgtf"g_" Pumbekinthe
Manual Recline Ki ELEASMB5781 ablik | ELEASMB5628 )
Independent Legs i ELEASMB5375 ! ELEASMBS5629 Aﬂ[\-honwrggcciﬁ;es '?n“:ﬁ,friﬂ?ﬁf :n?ith
Combined Legs M1 ELEASMB5376 dm | ELEASMBS630 the matching upper case letter.
Articulating Foot Platform N1 ELEASMB7107 e/n ELEASMB5631
Tilt Only (R4000/Q614 Program) o1 ELEASMB7211 Yg'olp | ELEASMB5819
Manual Recline (R4000/Q614 Program) P1 ELEASMB7117 tigiolp | ELEASMB5819
Independent Legs (R4000/Q614 Program) a ELEASMB7108 hig ELEASMB5820
Combined Legs (R4000/Q614 Program) R1 ELEASMB7109 ir ELEASMB5821
Articulating Foot Platform (Rd4 Program) S1 ELE121670 s ELE121671
w/ Elevate (and...) il ELEASMB5498 Yu | ELEASMBS632
Attendant Control U1 ELEASMB5497 Yu | ELEASMB5632
Independent Legs V1 ELEASMB5500 viw ELEASMB5633
Independent Legs and Attendant Control w1 ELEASMB5499 viw ELEASMB5633
Combined Legs X1 ELEASMB5502 ®y | ELEASMBS634
Combined Legs and Attendant Control Y1 ELEASMB5501 xly ELEASMB5634
Articulating Foot Platform Z1 ELEASMB5604 zlaa | ELEASMB5635
AFP and Attendant Control | m1| Eieasweseos | e | eLeaswesss |
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:10 UTC 2020

17



TB2 Tilt, AAM, Master Assembly, After 1/2/12

PRIDC
Item Part No. Name Qty
tiu ELEASMB5632 AAM,TILT/ELEVATE,(CONFIG. #24) 1
viw ELEASMB5633 AAM, TILT/ELEVATE, INDEPENDENT LEGS (CONFIG. #25) 1
xly ELEASMB5634 AAM,LIFT & TILT W/COMBINED LEGS,(CONFIG.#26) 1
zlaa ELEASMB5635 AAM,LIFT & TILT W/AFP,(CONFIG.#27) 1
BB DWR1361H030 ELECTRONIC,HARNESS,RUN PLUG,MALE,MERCURY SWITCH,SWITCH-IT CONTROLLER,H-1361-030 | 1

TB2 Electronics IPB

18

Export Date: Tue Sep 08 03:06:10 UTC 2020




TB2 Tilt, AAM, Master Assembly, Before 1/2/12

PRIDE

1.4. Curtis thru AAM Tilt Assy's

a b c
] g h i
il k|t
m n o]
p q r
s t u
v w X
¥ z

The Run Plug is
not neccessary for
modules manufactured

after June 7, 2012.

RUN PLUG
LOCATION

CURTIS - Tilt Only with... *Master Assembly || /A AAM Module /A ACt Luator MOd u |e
w Pressure Switches (and...) A1 | ELEASMB7110181 abik | ELEASMB7110044 A Re 0] lacement A
Manual Recline B1 | ELEASMB7110182 abik | ELEASMB7110044
Independent Legs C1 | ELEASMET7110186 c ELEASMB7110047 Modules Shown_ here .a B
Combined Legs D1 | ELEASMB7110187 d/m | ELEASMB7110049 ON I.'Y Compatlble with
Articulating Foot Platform E1 | ELEASMB7110190 e/n ELEASMB7110051 units man UfaCtU red
BEFORE January 2, 2012,
Tilt Only (R4000/Q614 Program) F1 | ELEASMB7110207 figlolp | ELEASMB7110053
Manual Recline (R4000/ Q614 Program) G1 | ELEASMB7110210 figlolp | ELEASMB7110053
Independent Legs (R4000/Q614 Program) H1 | ELEASMB7110211 hiq ELEASMB7110055 *Master assemblies contain harnesses
: and hardware components not shown.
Combined Legs (R4000/Q614 Program) 11 | ELEASMB7110213 ir | ELEASMB7110057 Reference component pages for
w/ No Pressure Switches (and..) J1 | ELEASMB7110192 abik | ELEASMB7110044 d;g;’“f‘i‘;‘;z ;’t‘)‘;’y%aa“rfr‘:ﬁ:ﬁbvgf?n”:ﬁe
Manual Recline K1 | ELEASMB7110193 abjk | ELEASMB7110044 table.
Independent Legs L1 | ELEASMB7110194 I ELEASMB7110047 Lower case letters designate
Combined Legs M1 | ELEASMB7110206 d/m | ELEASMB7110049 AAM modules in assemblies with
Ariiculating Foot Platform N1 | ELEASMB7110417 e | ELEASMB7110051 SR PG ORes | ENe,
Tilt Only (R4000/Q614 Program) 01 | ELEASMB7110208 figlolp | ELEASMB7110053
Manual Recline (R4000/Q614 Program) FP1 | ELEASMB7110209 figiolp | ELEASMB7110053
Independent Legs (R4000/Q614 Program) Q1 | ELEASMB7110212 hfq ELEASMB7110055
Combined Legs (R4000/Q614 Program) R1 | ELEASMB7110214 ir | ELEASMB7110057
w/ Elevate (and...) S1 | ELEASMB7110215 sit ELEASMB7110059
Attendant Control Ti | ELEASMB7110419 sit ELEASMB7110059
Independent Legs U1 | ELEASMB7110217 uly ELEASMB7110062
Independent Legs and Attendant Control V1 | ELEASMB7110216 ulv ELEASMB7110062
Combined Legs W1 | ELEASMB7110219 wix ELEASMB7110064
Gombined Legs and Attendant Control X1 | ELEASMB7110218 wix | ELEASMB7110064
Articulating Foot Platform Y1 | ELEASMB7110220 yiz ELEASMB7110066
Articulating Foot Platform and Attendant Control Z1 | ELEASMB7110221 y/lz | ELEASMB7110066

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:10 UTC 2020

19




TB2 Tilt, AAM, Master Assembly, Before 1/2/12

PRIDC
Item Part No. Name Qty

A1 ELEASMB7110181 | AAM(FW 1.45), TILT, W/PRESSURE SWITCH,(CONFIG #20) 1
B1 ELEASMB7110182 | AAM(FW 1.45),TILT THRU JOY. W/MAN. RECLINE,W/PRESSURE SWITCH (CONFIG #20) 1
C1 ELEASMB7110186 | AAM(FW 1.45),TILT/IND. OR COMB LEGS,THRU JOY.,W/PRESSURE SWITCH,(CONFIG #21) 1
D1 ELEASMB7110187 | AAM(FW 1.45), TILT/COMBINED LEGS, THRU JOY.,W/PRESSURE SWITCH,(CONFIG #22) 1
E1 ELEASMB7110190 | AAM,TILT/AFP(FW 1.45), THRU JOY.,W/PRES SWT,(CONF #23) 1
F1 ELEASMB7110207 | AAM(FW 1.45),TILT,R4000,W/PRESSURE SWITCH,(CONFIG.#20) 1
G1 ELEASMB7110210 | AAM(FW 1.45), TILT THRU JOYSTICK W/MAN.RECLINE,R4000/Q614,W/PRESSURE 1

SWITCH,(CONFIG.#20)
H1 ELEASMB7110211 | AAM(FW 1.45),TILT/IND. OR COMBINED LEGS,THRU JOY.,R4000/Q614,W/PRESSURE 1

SWITCH,(CONFIG #21)
1" ELEASMB7110213 | AAM(FW 1.45), TILT/COMBINED LEGS, THRU JOY.,R4000/Q614,W/PRESSURE SWITCH,(CONFIG #22) 1
J1 ELEASMB7110192 | AAM(FW 1.45),TILT,(CONFIG #20) 1
K1 ELEASMB7110193 | AAM(FW 1.45),TILT THRU JOY. W/MAN. RECLINE,W/O PRESSURE SWITCH,(CONFIG #20) 1
L1 ELEASMB7110194 | AAM(FW 1.45),TILT/IND. OR COMBINED LEGS,THRU JOY.,W/O PRESSURE SWITCH,(CONFIG #21) 1
M1 ELEASMB7110206 | AAM(FW 1.45), TILT/COMBINED LEGS, THRU JOY.,W/O PRESSURE SWITCH,(CONFIG #22) 1
N1 ELEASMB7110417 | AAM(FW 1.45), TILT/AFP,THRU JOY.,W/O PRESSURE SWITCH,(CONFIG #23) 1
01 ELEASMB7110208 | AAM(FW 1.45),TILT,R4000,(CONFIG.#20) 1
P1 ELEASMB7110209 | AAM(FW 1.45),TILT THRU JOY. W/MAN. RECLINE,45°,(CONFIG #20) 1
Q1 ELEASMB7110212 | AAM(FW 1.45),TILT/IND. OR COMBINED LEGS,THRU JOY.,R4000/Q614,(CONFIG #21) 1
R1 ELEASMB7110214 | AAM(FW 1.45),TILT/COMB LEGS,THRU JOY.,R4000/Q614,(CONF #22) 1
S1 ELEASMB7110215 | AAM(FW 1.45), TILT/ELEVATE, THRU JOY.,(CONFIG #24) 1
T ELEASMB7110419 | AAM(FW 1.45),TILT/ELEVATE,THRU JOY. W/ATTENDANT(FW 1.06),(CONFIG. #24) 1
U1 ELEASMB7110217 | AAM(FW 1.45),TILT/ELEV./IND. LEGS,THRU JOY.,(CONFIG #25) 1
V1 ELEASMB7110216 | AAM(FW 1.45), TILT/ELEVATE/IND. LEGS, THRU JOY. W/ATTENDANT(FW 1.06),(CONFIG #25) 1
W1 ELEASMB7110219 | AAM(FW 1.45), TILT/ELEV/COMB LEGS,THRU JOY.,(CONF #26) 1
X1 ELEASMB7110218 | AAM(FW 1.45), TILT/ELEVATE/COMBINED LEGS, THRU JOY. W/ATTENDANT(FW 1.06),(CONFIG #26) 1
Y1 ELEASMB7110220 | AAM(FW 1.45), TILT/ELEVATE/AFP,THRU JOY.,(CONFIG #27) 1
Z1 ELEASMB7110221 | AAM(FW 1.45), TILT/ELEVATE/POWER AFP,THRU JOY. W/ATTENDANT CONTROL(FW 1

1.06),(CONFIG #27)
alblj/k ELEASMB7110044 | AAM(FW 1.45),TILT,(CONFIG. #20) 1
c ELEASMB7110047 | AAM(FW 1.45),TILT/IND. LEGS,(CONFIG. #21) 1
d/m ELEASMB7110049 | AAM(FW 1.45), TILT/COMBINED LEGS,(CONFIG. #22) 1
e/n ELEASMB7110051 | AAM(FW 1.45), TILT/POWER AFP,(CONFIG. #23) 1
flglo/p ELEASMB7110052 | AAM(FW 1.45),TILT,R4000,(CONFIG. #20) 1
hiq ELEASMB7110055 | AAM(FW 1.45),TILT/IND. LEGS,R4000,(CONFIG. #21) 1
ifr ELEASMB7110057 | AAM(FW 1.45), TILT/COMBINED LEGS,R4000,(CONFIG. #22) 1
[ ELEASMB7110047 | AAM(FW 1.45),TILT/IND. LEGS,(CONFIG. #21) 1
sit ELEASMB7110059 | AAM(FW 1.45), TILT/ELEVATE,(CONFIG. #24) 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:10 UTC 2020

20




TB2 Tilt, AAM, Master Assembly, Before 1/2/12

PRIDE

CURTIS - Tilt Only with...

we[] wol] we] wa[] walD]
o

Hogfigks

L= Al

e

HeaEEE
U O
0

12V OUT

a b c
d e f
g h i
j k |
m n ]
p q r
s t u
v w X
y z

The Run Plug is
not neccessary for
odules manufactured

after June 7, 2012.

RUN PLUG
LOCATION

*Master Assembly

M AAM Module

Actuator Module

wi Pressure Switches (and...) A1 | ELEASMB7110181 anjk | ELEASMB7110044 A Re placerne nit A
Manual Recline B1 | ELEASMB7110182 abijk ELEASMB7110044
Independent Legs C1 | ELEASMB7110186 [+ ELEASMB7110047 MOdU|eS Shown, here ,a re
Combined Legs D1 | ELEASMB7110187 dim ELEASMB7110049 ONLY Compahble Wlth
Articulating Foot Platform E1 | ELEASMB7110190 eln ELEASMB7110051 units manUfaCTU r@d

BEFORE January 2, 2012.
Tilt Only (R4000/Q614 Program) F1 | ELEASMB7110207 Viglo/p | ELEASMB7110053
Manual Recline (R4000/ Q614 Program) G1 | ELEASMB7110210 figlo/p | ELEASMB7110053
Independent Legs {R4000/Q614 Program) H1 \ ELEASMB7110211 hfq [ ELEASMB7110055 “Master assemblies contain harnesses
z and hardware components not shown.

Combined Legs (R4000/Q614 Program) I | ELEASMB7110213 ir | ELEASMB7110057 Reference component pages for

wl No Pressure Switches (and...) J1 | ELEASMB7110192 abik | ELEASMB7110044 Nilll:ftgragi r; z r:rl;?y p;e:rtf rliﬁﬁbfrt? nﬂ: :e
Manual Recline K1 | ELEASMB7110193 abfjk | ELEASMBY110044 table.
Independent Legs L1 | ELEASMB7110194 ! ELEASMB7110047 Lower case letters designate
Combined Legs M1 | ELEASMB7110206 dim ELEASMB7110049 AAM modules in assemblies with
Articulating Foot Platform N1 | ELEASMB7110417 eln ELEASMB7110051 the matching upper case letter.
Tilt Only (R4000/Q614 Program) 01 | ELEASMB7110208 figio/p | ELEASMB7110053
Manual Recline (R4000/Q614 Program) P1 | ELEASMB7110209 Vglolp | ELEASMB7110053
Independent Legs (R4000/Q614 Program) Q1 | ELEASMB7110212 hig ELEASMB7110055
Combined Legs (R4000/Q614 Program) R1 | ELEASMB7110214 ir | ELEASMB7110057

w/ Elevate (and...) 51 [ ELEASMB7110215 sit ELEASMB7110059
Attendant Control T1 | ELEASMB7110419 sit ELEASMB7110059
Independent Legs U1 | ELEASMB7110217 ufv ELEASMB7110062
Independent Legs and Attendant Cantrol V1 | ELEASMB7110216 ulv ELEASMB7110062
Combined Legs W1 | ELEASMB7110219 WX ELEASMB7110064
Combined Legs and Attendant Control X1 | ELEASMB7110218 wix | ELEASMB7110064
Articulating Foot Platform Y1 | ELEASMB7110220 y/z | ELEASMB7110066
Articulating Foot Platform and Attendant Control 21 ‘ ELEASMB7110221 [l yiz | ELEASMB7110066

TB2 Electronics IPB

21

Export Date: Tue Sep 08 03:06:11 UTC 2020




TB2 Tilt, AAM, Master Assembly, Before 1/2/12

PRIDC
Item Part No. Name Qty
ulv ELEASMB7110062 | AAM(FW 1.45), TILT/ELEV,/IND. LEGS,(CONFIG. #25) 1
wix ELEASMB7110064 | AAM(FW 1.45), TILT/ELEVATE/COMBINED LEGS,(CONFIG. #26) 1
ylz ELEASMB7110066 | AAM(FW 1.45), TILT/ELEV./AFP,(CONFIG. #27) 1
AA DWR1361H030 ELECTRONIC,HARNESS,RUN PLUG,MALE,MERCURY SWITCH,SWITCH-IT CONTROLLER,H-1361-030 | 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:11 UTC 2020
22




TB2 Tilt, AAM, Harnesses —
PRIDE

1.4. Curtis thru AAM Tilt Assy's

INDEPENDENT LEGS L@

Joystick

2@ 2@ AAM

g Al 8

From Multiplier

A10 @

Tilt
=
To Power Base
ﬁ@

Parts are not pickable from the table,
please select parts from the parts list

Master Assembly

CURTIS -Tilt Only with... Before 1/2/2012 | After 1/2/2012 | A1 | A2 |A3 | A4 | A5 | A6 | AT | A8 | A9 |A10|A11[A12
w/ Pressure Switches (and...) ELEASMB7110181 |ELEASMB5154 211
Manual Recline ELEASMB7110182|ELEASMB5780 2 1 1
Independent Legs ELEASMB7110186|ELEASMB5350 211 1 1
Combined Legs ELEASMB7110187 |ELEASMB5351 211 1
Articulating Foot Platform ELEASMB7110190 EASMBSS(E g 1 1
Tilt Only (R4000/Q614 Program) ELEASMB7110207 |[ELEASMBS5813 211
Manual Recline (R4000/ Q614 Program) ELEASMB7110210|ELEASMB5816 2|41 1
Independent Legs (R4000/Q614 Program)|ELEASMB7110211|ELEASMB5817 2111111
Combined Legs (R4000/Q614 Program) |[ELEASMB7110213|ELEASMB5818 2=t 1
w/ No Pressure Switches (and...) ELEASMB7110192|ELEASMB5372
Manual Recline ELEASMB7110193|ELEASMB5781 1
Independent Legs ELEASMB7110194 IEASMBSS?S 1 1
Combined Legs ELEASMB7110206 IEASM B5376 1
Articulating Foot Platform ELEASMB7110417 |ELEASMB7107
Tilt Only (R4000/Q614 Program) ELEASMB7110208|ELEASMB7211

Manual Recline (R4000/Q614 Program) |ELEASMB7110209|ELEASMB7117
Independent Legs (R4000/Q614 Program)|ELEASMB7110212|ELEASMB7108
Combined Legs (R4000/Q614 Program) |ELEASMB7110214|ELEASMB7109

allaflallallallaliallallall=]=ll=l|l-f=f=f===l=[==|=0=1=f={—=]=
o

Articulating Foot Platform (R44 Program) |N/A ELE121670 1

w/ Elevate (and...) ELEASMB7110215|ELEASMB5498 1 1 1
Attendant Control ELEASMB7110419  ELEASMB5497 1 1 1 1 1
Independent Legs ELEASMB7110217 |ELEASMB5500 1515 Ul o
Independent Legs and Attendant Control |ELEASMB7110216|ELEASMB5499 1 [ 1 111 1 1] 1
Combined Legs ELEASMB7110219|ELEASMB5502 1 1 1 1
Combined Legs and Attendant Control ELEASMB7110218|ELEASMBS501 1 1 1 1 1 1
Articulating Foot Platform ELEASMB7110220|ELEASMB5604 1 1 1 1
AFP and Attendant Control ELEASMB7110221 |ELEASMB5605 1 11 1 1 1 11

The numbers within the table represent the quantity of each harness for each configuration.| A1 | A2 | A3 | A4 | A5 | A6 | A7 [ AB | A9 |A1D|A11]A12

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:11 UTC 2020

23



TB2 Tilt, AAM, Harnesses

PRIDC
Item Part No. Name Qty
A1 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE H-1111-047,(CURTIS:17881302) 1
A2 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
A3 CTL137822 CONTROLLER,ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
A4 DWR1265H001 ELECTRONIC,SWITCH,PRESSURE,ANTI-PINCH,TB2 TILT 1
A5 DWR1265H004 HARNESS,"Y", ANTI-PINCH SWITCH,TB2 TILT 1
A6 DWR1265H006 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,LEFT,H-1265-006 1
A7 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A8 DWR1265H005 ELECTRONIC,HARNESS,COMBINED ELR,CURTIS, TRU-BALANCE TILT 2,H-1265-005 1
A9 DWR1265H016 ELECTRONIC,HARNESS,POWER SEAT INHIBIT,CURTIS, TRUBALANCE TILT 2,H-1265-016 1
A10 DWR1265H017 ELECTRONIC,HARNESS,POWER SEAT, TRU-BALANCE TILT 2,H-1265-017 1
A11 SWTMAGN1001 ELECTRONIC,SWITCH,HERMETIC,PRX +8100 1
A12 ELE142519 HARNESS,COMBINATION,INHIBIT, MANUAL TILT,ROHS 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:11 UTC 2020

24




TB2 Tilt

, AAM, Hardware

PRIDE

1.4. Curtis thru AAM Tilt Assy's

INDEPENDENT LEGS

CURTIS -Tilt Only with...

fu ]

R BASE

TO POWE

Please Note: When noted, B1 is
included with the Master Assembly.

Master Assembly Parts are not pickable from the table, please select parts from the parts list
Before 1/2/2012 After 1/2/2012 | A1 | A2 | A3 [ A4 | A5 | A6 | A7 | AB | A9 |A10|A11]|A12|A13|A14|B1

wi/ Pressure Switches (and...) ELEASMB7110181|ELEASMB5154 B
Manual Recline ELEASMB7110182|ELEASMBS780| 1 2 1
Independent Legs ELEASMB7110186| ELEASMB5350 ) bl W Rl Bl 2 2|2 1
Combined Legs ELEASMB7110187|ELEASMB5351 2 | -2 212 5 1 2 ol 1
Articulating Foot Platform ELEASMB7110190| ELEASMB5602 1 i S 1 1 2 1
Tilt On]y (R4000/Q614 Program) ELEASMB7110207 | ELEASMB5813 2 1
Man. Recline (R4000/ Q614 Program) | ELEASMB7110210|ELEASMB5816] 1 2 11
Ind. Legs (F’MOUO.@SM Progﬁm] ELEASMB7110211 EASMBSN 7 2 | -2 2| 8 5 1 2 2 | 2 1
Comb. Legs (R4000/Q614 Program) |ELEASMB7110213|ELEASMBE818 il | [P ] L S Pl B P |

w/ Mo Pressure Switches (and...) ELEASMB7110192|ELEASMB5372 2 1
Manual Recline ELEASMB7110193 EASMBS?& 1 5 ) 2 1
1ndeeendent Legs ELEASMB7110194| ELEASMB5375 20 |2 e 2l e 2|12 ]2 1
| Combined Legs ELEASMBT7110206|ELEASMB5376 2.1 2. ]2 2511 2l2]12]1
Articulating Foot Platform ELEASMB7110417 | ELEASMB7107 1 S 1 1 2 1
Tilt Only (R4000/Q614 Program) ELEASMB7110208|ELEASMB7211 2 1
Man. Recline (R4000/Q614 Program) | ELEASMB7110209|ELEASMB7117 | 1 28]

Ind. Legs (R4000/Q614 Program) ELEASMB71 1l[]212I ELEASMB7108 2:.]:2 il I 5 1 2 2|2 1
Comb. Legs (R4000/Q614 Program) |ELEASMB7110214|ELEASMB7109 be 0 (=0 (0 = [t el s 212 ]2]1
AFP (R44 Program) N/A ELE121670 1 514 1 -

w/ Elevate (and...) ELEASMB7110215|ELEASMB5498 447 4 2 11
Attendant Control ELEASMB7110419|ELEASMBS5497 4 1 1 21 4 2 1 1
Independent Legs ELEASMB7110217| ELEASMBS500 2 222 a4l 4121212 1
Ind. Legs and Attendant Control EEASMBH 1%EASMBS499 2. ]2 2]l214]1 1 21 412 2|2 1 {1
Combined Legs ELEASMB7110219|ELEASMBS502 2.l 212 |2]4]1 4 | 2]2 ]2 1
Comb. Legs and Attendant Control ELEASMB7110218|ELEASMB5501 2 2 2 2 4 1 1 2 4 2 2 2 1 1
Articulating Foot Platiorm ELEASMB7110220| ELEASMBE604 1 Al 4 1] 1]2]1
AFP & Attend. Control ELEASMB7110221|ELEASMBS560S 1 4 |1 1 21411 1 2 1 {1

The numbers within the table represent the hardware quantities for each configuration.| A1 | A2 | A3 | A4 | A5 | A6 | A7 | AB | A9 |A10|A11|A12|A13|A14|B1

TB2 Ele

ctronics IPB

25

Export Date: Tue Sep 08 03:06:12 UTC 2020



TB2 Tilt, AAM, Hardware

PRIDC
Item Part No. Name Qty
A1 CLPCBLC1025 CLAMP,CABLE,STEEL,0.50" DIA,RUBBER COATED 1
A2 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 2
A3 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 2
A4 NUT8120005 NUT,T-SLOT,BLACK,M8-1.25 2
A5 SCRHHCS1382 SCREW,HHCS,BLACK ZINC CHROMATE,M8-1.25 X 12MM,10.9 2
A6 PLSTIE1004 TIE WRAP,BLACK,8" 5
A7 ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 1
A8 DWR1010D298 MOUNTING BRACKET,ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
A9 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
A10 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 4
A11 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 2
A12 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 2
A13 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
A14 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 FRMASMB10455 MOUNTING BRACKET,ASSY,ATTENDANT CONTROL,C-1010-285 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:12 UTC 2020

26




Remote Plus, ALM-ALMS5L Master Level Table

PRIDE

1.5. Remote Plus ALM / ALM5L Assy's

X
ol \l
N

|

TC CONTROLLER
|1 ~(FQ.

:

TO POWER BASE

TO POWER BASE

ALM/ ALM5L as... *Master Assembly ‘l Module
Tilt with Pressure Switches (and...) ELEASMB6387 ‘l Al I CTLDC1130
..Manual Recline ELEASMB5144 Al | CTLDC1130
..Independent and Combined Legs ELEASMB5348 Al CTLDC1130
_.Combined Legs ELEASMB5349 At | CTLDC1130
..Articulating Foot Platform ELEASMB5530 Al I CTLDC1130
Tilt without Pressure Switches (and...) ELEASMB6391 Al CTLDC1130
..Manual Recline ELEASMB5368 Al CTLDC1130
..Independent and Combined Legs ELEASMBS5373 A1 CTLDC1130
..Combined Legs ELEASMBS5374 Al | CTLDC1130
..Articulating Foot Platform ELEASMB7104 Al I CTLDC1130

Tilt with External Dual Switch and... “Master Assembly Module
..Manual Recline with Pressure Switches ELEASMB5145 B1 I CTLDC1373
..Manual Recline, No Pressure Switches ELEASMB5369 B1 I CTLDC1373
..External Dual Switch, with Pressure Switches ELEASMB6388 B1 I CTLDC1373
..External Dual Switch, No Pressure Switches ELEASMB6392 B1 | CTLDC1373

Tilt with Single Switch through ALM and... “Master Assembly Module
..Tilt Only with Pressure Switches ELEASMB5151 B1 CTLDC1373
..Tilt Only, No Pressure Switches ELEASMB7095 B1 I CTLDC1373

*Master assemblies contain ALM or ALM5L modules in addition to harnesses and hardware components, which are
not shown. Reference component pages for illustrations and parts lists with the Master Assembly part number
in the table. Lower-case letters designate modules in assemblies with the matching lower-case letter.

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:12 UTC 2020

27



Remote Plus, ALM-ALMS5L Master Level Table

PRIDC
Item Part No. Name Qty
A1 CTLDC1130 ELECTRONIC,MODULE,ALM-5L (5 ACTUATOR AND LIGHTING DUAL CABLE),(P&G: D49970) 1
B1 CTLDC1373 ALM MODULE,ATTENDANT CONTROL FOR TILT,H-1010-078 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:12 UTC 2020
28




Remote Plus, ALM-ALM5L Harnesses

PRIDE
1.5. Remote Plus ALM /ALMS5L Assy's

o |3

L jm

B °
El
220200000000
[==l=l=t=f==1=1=]=1=1"]

T TO
O CONTROLLER

ARTICULATING FOOT PLATFORM °’>

TO POWER BASE

y
=}

TO POWER BASE

2/

(¢]

ALM/ ALMSL as... Master Assembly | A1 | A2 | A3 | A4 | A5 | A6 | A7 | A8 | A9 | A10 |AT1
Tilt with Pressure Switches (and...) ELEASMBB387 1 2 1 1 1
..Manual Recline ELEASMB5144 1 2 1 1 1
..Independent and Combined Legs ELEASMB5348 3 2 1 1 1 1 1
..Combined Legs ELEASMB5349 2 2 1 1 1 1
.Articulating Foot Platform ELEASMB5530 2 2 1 1 1 1
Tilt without Pressure Switches (and...) ELEASMBE391 1 1 1 1
..Manual Recline ELEASMB5368 1 1 1 1
..Independent and Combined Legs ELEASMB5373 3 1 1 1 1
..Combined Legs ELEASMB5374 2 1 1 1 1
..Articulating Foot Platform ELEASMB7104 | 2 1 1 1 1
Master Assembly | A1 | A2 | A3 | A4 | A5 | A6 | A7 | AB | A9 [A10 |A11

Tilt with External Dual Switch (and...)
..Manual Recline with Pressure Switches ELEASMB5145
..Manual Recline, No Pressure Switches ELEASMB5369
..External Dual Switch, with Pressure Switches ELEASMB6388
..External Dual Switch, No Pressure Switches ELEASMB6392

Tilt with Single Switch through ALM (and...) Master Assembly | A1 | A2 | A3 | A4 | A5 | A6 | A7 | A8 | A9 | A10 | Al1

.. Tilt Only with Pressure Switches ELEASMBS5151 1 2 1 1 1
..Tilt Only, No Pressure Switches ELEASMB7095 1 1 1 1
The numbers within the table represent the quantity of each harness for each configuration.

===
n
=)

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:13 UTC 2020
29



Remote Plus, ALM-ALM5L Harnesses

PRIDC
Item Part No. Name Qty
A1 DWR1265H019 HARNESS,ACTUATOR INTERFACE,TB2 TILT 1
A2 DWR1265H001 ELECTRONIC,SWITCH,PRESSURE,ANTI-PINCH,TB2 TILT 1
A3 DWR1265H011 ELECTRONIC,HARNESS, TAPE SWITCH RELAY,GEN 2,TB2 TILT 1
A4 ELE142519 HARNESS,COMBINATION,INHIBIT, MANUAL TILT,ROHS 1
A5 ELECTRONIC,HARNESS,1.16 LONG,REDEL CABLE, REMOTE PLUS,JOYSTICK TO TRAY,H-1010-049 1
A6 DWR1361H037 HARNESS,SINGLE BUTTON "Y" CONNECTION 1
A7 DWR1265H028 HARNESS, TAPE SWITCH RELAY BY-PASS,TILT 1
A8 DWR1265H006 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,LEFT,H-1265-006 1
A9 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A10 DWR1265H039 HARNESS,MICROSWITCH INHIBIT,TILT 1
A11 DWR1265H005 ELECTRONIC,HARNESS,COMBINED ELR,CURTIS, TRU-BALANCE TILT 2,H-1265-005 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:13 UTC 2020

30




Remote Plus, ALM-ALM5L Hardware

1.5. Remote Plus ALM /ALMS5L Assy's

INDEPENDENT LEGS

TO POWER BASE
Please Note: Items B1 and C1 are not
included with the Master Assembly. They are
& used in conjunction with DWR1265H039
= when the unit does not have a manual recline.
W - . ;D _PO.'E.EH EASEf i Only items A1 thru A10 may be included in
TO POWER BASE Yiith VB feay Configrations the Master Assemblies.
ALM/ ALMS5L es... Master Assembly | A1 | A2 | A3 | A4 | A5 | A6 | A7 | AB | A9 |A10|*B1 (*C1| D1 | D2
Tilt with Pressure Switches (and...) ELEASMBG387 2| 2 1 1
..Manual Recline ELEASMB5144 | 1 1
..Independent and Combined Legs ELEASMB5348 2 2 2 2 5 1 2 2 1 1 2 2
..Combined Legs ELEASMB5349 2 2 2 2 5 1 2 2 1 1 2 2
. Articulating Foot Platform ELEASMBS5530 1 5 | 1 2] 2 1 1 1 1
Tilt without Pressure Switches (and...) ELEASMB6391 2 ]2 1 1
..Manual Recline ELEASMB5368 1 1
..Independent and Combined Legs ELEASMB5373 2 2 2 2 5 1 2 2 1 1 2 2
..Combined Legs ELEASMB5374 2 2 2 2 5 1 2 2 1 1 2 2
..Articulating Foot Platform ELEASMB7104 1 5 i e P 1 1 1 1
Titwith External Dual Switch and... Master Assembly | A1 | A2 | A3 | A4 | A5 | A6 | A7 | A8 | A9 |A10|*B1|*C1| D1 | p2
..Manual Recline with Pressure Switches ELEASMB5145 | 1 1
..Manual Recline, No Pressure Switches ELEASMB5369 1 1
..External Dual Switch, with Pressure Switches| ELEASMB6388 212 |1 1
..External Dual Switch, No Pressure Switches | ELEASMB6392 2 | 2 1 1
Tilt with Single Switch through ALM and... Master Assembly | A1 | A2 | A3 | A4 | A5 | A6 | A7 | A8 | A9 |A10||*B1|*C1| D1 | D2
..Tilt Only with Pressure Switches ELEASMB5151 4 | 1 21 2 1 1
..Tilt Only, No Pressure Switches ELEASMB7095 4 1 2 2 1 1
] The numbers within the table represent the quantity of each harness for each configuration.

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:13 UTC 2020
31



Remote Plus, ALM-ALM5L Hardware

PRIDC
Item Part No. Name Qty
A1 CLPCBLC1025 CLAMP,CABLE,STEEL,0.50" DIA,RUBBER COATED 1
A2 SCRASBH1148 SCREW,BHSCS,BLACK ZINC,1/4-20 X 0.50",W/PATCH 1
A3 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 1
A4 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 1
A5 NUT8120005 NUT,T-SLOT,BLACK,M8-1.25 1
A6 SCRHHCS1382 SCREW,HHCS,BLACK ZINC CHROMATE,M8-1.25 X 12MM,10.9 1
A7 PLSTIE1004 TIE WRAP,BLACK,8" 1
A8 ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 1
A9 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 1
A10 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 1
B1 FRMASMB14496 MOUNTING BRACKET,ASSY,INHIBIT MICROSWITCH,TB2 TILT 1
c1 MOUNTING BRACKET,INHIBIT MICROSWITCH,TB2 TILT,ARTICULATING VENT TRAY 1
D1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 1
D2 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:13 UTC 2020

32




Remote Plus / Switch-it, Tilt Master Assembly and Switch-it Box

uuuuuuuu

1.6. Remote Plus Switch-it Tilt Assy's

**The Switch-It Box requires a selection in the Program column for desired power functions.

REMOTE PLUS Switch-It Box...

Sl ©

SWITCH INPUT

LIMIT SWITCHES

f'"
Q

aononono
Bﬂﬂdﬂﬂ&

Q

y
e

POWER/AGTUATOR

.. w/Tilt and... *Master Assembly* | Switch-It Box** Program Dip Switch Setting
Elevate with Attendant Control ELEASMB5158 Al a | .
(order a program) | DWR1367H009 nuuu Dnnuuuuu
joN ’w—
Elevate ELEASMB5159 Al b DQDU DDDDDHDD
(order a program)| DWR1367H030 Bl e e B o e
Elevate, Combined Legs with Attendant ELEASMB5160 A1 cle E .
Control (order a program)| DWR1367H021 |nDu,u DDQDDHUD
Elevate, Combined Legs ELEASMB5161 A1 a/f hguu EDDDDHDD
(order a program)| DWR1367H031 e e e
Elevate, Articulating Foot Platform through ELEASMB5531 Al cle f= =
Attendant Control (order a program)| DWR1367H021 nguu EDDDDHHD
Elevate, Articulating Foot Platform ELEASMB5532 Al d/f P "
(order a program)| DWR1367H031 DDDD DDDDDHHD
“Master Assembly* | Switch-1t Box** Program Dip Switch Setting
“Master assemblies contain harnesses and hardware components, which are not shown. Varsions [P i
Hardware components are not available separately; the master assembly must be ordered. G i EDDH
Lower case letters designate Switch-It box programs for assemblies with the matching upper case letter. | PriortoF: |m.us

TB2 Electronics IPB

33

Export Date: Tue Sep 08 03:06:14 UTC 2020



Remote Plus / Switch-it, Tilt Master Assembly and Switch-it Box

PRIDC
Item Part No. Name Qty
A1 ELECTRONIC,CONTROL BOX,4 ACTUATOR 1
a DWR1367H009 SWITCH-IT DIP SWITCH CONFIG., TILT/ELEVATE 1
b DWR1367H030 SWITCH-IT DIP SWITCH CONFIG., TILT/ELEVATE, THRU JOYSTICK/TOGGLE 1
cle DWR1367H021 SWITCH-IT DIP SWITCH CONFIG., TILT/ELEVATE/COMBINED LEGS 1
dif DWR1367H031 SWITCH-IT DIP SWITCH CONFIG., TILT/ELEVATE/COMBINED LEGS, THRU JOYSTICK/TOGGLE 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:14 UTC 2020
34




Remote Plus / Switch-it, Tilt Harnesses

uuuuuuuu

1.6. Remote Plus Switch-it Tilt Assy's

SWITCH IT CONTROL BOX
e

180°

TO CONTROLLER

]

A3

TO POWER BASE

COMBINED LEGS

**Only serviceable harnesses
are called out.™

sy

TO POWER BASE
Remofte Plus, Switch-It Box.., Master Assembly | A1 | A2 | A3 | A4 | A5 | A6
... w/ Tilt and...
Elevate with Attendant Control ELEASMB5158 1 1 1 1
Elevate ELEASMB5159 1 1 1 1
Elevate, CL with Attendant Control ELEASMB5160 1 1 1 1 1
Elevate, CL ELEASMB5161 1 1 1 1 1
Elevate, AFP with Attendant Control ELEASMB5531 1 1 1 1 1
Elevate, AFP ELEASMB5532 1 1 1 1 1
CL: Combined Legs, IL: Independent Legs Master Assembly | A1 A2 A | A AS AG

MM AFP: Articulating Foot Platform

The numbers within the table represent the quantity
of each harness for each configuration.

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:14 UTC 2020

35



Remote Plus / Switch-it, Tilt Harnesses

PRIDE
Item Part No. Name Qty
Al HARNESS,POWER OPTIONS INHIBIT, TB2 TILT 1
A2 SWTMAGN1001 ELECTRONIC,SWITCH,HERMETIC,PRX +8100 1
A3 ELECTRONIC,HARNESS,1.16 LONG,REDEL CABLE, REMOTE PLUS,JOYSTICK TO TRAY,H-1010-049 1
A4 DWR1265H005 ELECTRONIC,HARNESS,COMBINED ELR,CURTIS, TRU-BALANCE TILT 2,H-1265-005 1
A5 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A6 HARNESS,POWER SEAT INHIBIT,SWITCH-IT, TB2 TILT 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:14 UTC 2020
36



Remote Plus / Switch-it, Tilt Hardware

PRIDE
1.6. Remote Plus Switch-it Tilt Assy's
Push/ Rigidizing Bar -
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:15 UTC 2020

37



TB2 Electronics, Shark, VSI,

VR2 Harnesses and Pressure Pads

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:15 UTC 2020
38



TB2 Electronics, Shark, VSI, VR2 Harnesses and Pressure Pads

PRIDE

1.7. Dynamic Shark/ PG Drives VSI & VR2 Assy's

out Pre e e VSl Interface

~% TOVSI
CONTROLLER

=]

TO POWER '
BASE

3

TO POWER BASE

Please Note: Items N1 and O1 are not
included with the Master Assembly. They are
used in conjunction with DWR1265H039
TO POWER BASE when the unit does not have a manual recline.
*O1 i used in place of N1 - N4 Only items M1 thru M13 may be included in

TO POWER BASE with vent tray configurations. the Master Assemblies.

Master Assemblies are not pickable from table, please select from the parts list

Shark and... Master Assembly | M1 | M2 | M3 | M4 | M5 [ M& | M7 | M8 | M9 [M10(M11{M12|M13{*N1 |*O1
..with Pressure Switches A1 | ELEASMBB397 | 2 1 4 1 1 212 1 1
..No Pressure Switches B1 | ELEASMB7097 4 1 1 2 2 1 1 1
..Manual Recline with Pressure Switches C1 |ELEASMB5998| 2 | 1 1 1 1 4 |1
..Manual Recline, No Pressure Switches D1 | ELEASMB7096 1 1 1 4 1 1
Master Assembly | M1 | M2 | M3 | M4 | M5 [ M6 | M7 | M8 | M9 [M10|M11[M12{M13]*N1 |*O1

..with Pressure Switches E1 |ELEASMBE386| 2 1 4 1 1 2| 2 1 1 1
..No Pres§ure Switches F1 ELEASMBBSQD 4 1 1 2 2 1 1 1 1
..Manual Recline with Pressure Switches G1 | ELEASMB5143| 2 | 1 1 1 1 4 1 1
..Manual Recling, No Pressure Switches H1 | ELEASMBS5366 1 1 1 4 1 1 1

= Master Assembly | M1 | M2 [ M3 | M4 | M5 | M6 | M7 [ M8 | M3 [M10|M11|M12[M13|*N1 [*O1
..with Pressure Switches 11 |ELEASMB6396] 2 | 1 4 |1 1 Al 1 1
..No Pressure Switches J1 | ELEASMB7099 4 1 1 2 2 1 1 1
..Manual Recline with Pressure Switches K1 |ELEASMB5694| 2 | 1 1 1 A 1
..Manual Recline, No Pressure Switches L1 | ELEASMB7098 1 1 4 i 1 1

The numbers within the table represent the quantity of each harness for each configuration.
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:15 UTC 2020

39



TB2 Electronics, Shark, VSI, VR2 Harnesses and Pressure Pads

PRIDC
Item Part No. Name Qty
A1 ELEASMB6397 SHARK,THRU JOYSTICK,W/PRESSURE SWITCH,TB2 TILT 1
B1 ELEASMB7097 SHARK,THRU JOYSTICK,TB2 TILT 1
c1 ELEASMB5998 SHARK,THRU JOYSTICK W/MANUAL RECLINE,W/PRESSURE SWITCH,TB2 TILT 1
D1 ELEASMB7096 SHARK,THRU JOYSTICK W/MANUAL RECLINE,TB2 TILT 1
E1 ELEASMB6386 VSI,THRU JOYSTICK,W/PRESSURE SWITCH,TB2 TILT 1
F1 ELEASMB6390 VSI,THRU JOYSTICK,W/O PRESSURE SWITCH,TB2 TILT 1
G1 ELEASMB5143 VSI,THRU JOYSTICK,W/MANUAL RECLINE,W/PRESSURE SWITCH,TB2 TILT 1
H1 ELEASMB5366 VSI,THRU JOYSTICK W/MANUAL RECLINE,W/O PRESSURE SWITCH,TB2 TILT 1
" ELEASMB6396 VR2,THRU JOYSTICK,W/PRESSURE SWITCH,TB2 TILT 1
J1 ELEASMB7099 VR2,THRU JOYSTICK,W/O PRESSURE SWITCH,TB2 TILT 1
K1 ELEASMB5694 VR2,THRU JOYSTICK W/MANUAL RECLINE,W/PRESSURE SWITCH,TB2 TILT 1
L1 ELEASMB7098 VR2,THRU JOYSTICK W/MANUAL RECLINE,W/O PRESSURE SWITCH,TB2 TILT 1
M1 DWR1265H001 ELECTRONIC,SWITCH,PRESSURE,ANTI-PINCH,TB2 TILT 1
M2 DWR1265H011 ELECTRONIC,HARNESS, TAPE SWITCH RELAY,GEN 2,TB2 TILT 1
M3 ELE142519 HARNESS,COMBINATION, INHIBIT, MANUAL TILT,ROHS 1
M4 CLPCBLC1025 CLAMP,CABLE,STEEL,0.50" DIA,RUBBER COATED 1
M5 SCRASBH1148 SCREW,BHSCS,BLACK ZINC,1/4-20 X 0.50",W/PATCH 1
M6 PLSTIE1004 TIE WRAP,BLACK,8" 1
M7 ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 1
M8 DWR1265H039 HARNESS,MICROSWITCH INHIBIT,TILT 1
M9 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 1
M10 SCRPPH1076 SCREW, PPH,ZINC,M3 X .5T X 12MM 1
M11 DWR1265H028 HARNESS, TAPE SWITCH RELAY BY-PASS,TILT 1
M12 DWR1265H024 HARNESS,VS| CONTROLLER,TB2 TILT 1
M13 ELE142518 HARNESS,COMBINATION, INHIBIT,G2,ROHS 1
N1 FRMASMB14496 MOUNTING BRACKET,ASSY,INHIBIT MICROSWITCH,TB2 TILT 1
o1 MOUNTING BRACKET,INHIBIT MICROSWITCH,TB2 TILT,ARTICULATING VENT TRAY 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:15 UTC 2020

40




AM1/ AM2, Master Assembly and Modules, After 1/2/12 L
PRIDE

2.1. Curtis thru AM1/AM2 Assy's

Tilt (AM1) and... *Master Assembly | Module w/ Programming /\
R4000/ Q614, No Pressure Switches A1 | ELEASMB7102 ab ELEASMBEG578
R4000/ Q614 with Pressure Switches B1 | ELEASMB6574 ab ELEASMB6578
Manual Recline with Pressure Switches C1 | ELEASMB6E036 || cuer ELEASMB6043
Manual Recline, No Pressure Switches D1 | ELEASMB7100 | cder ELEASMB6043
No Pressure Switches E1 | ELEASMBB573 | cdiet ELEASMB6043
Pressure Switches Fi | ELEASMBB035 | cdet ELEASMB6043

Tilt (AM2) and... ‘Master Assembly | Module w/ Programming A\ |
AFP, No Pressure Switches G1 | ELEASMB7101 sn | ELEASMB6433
AFP with Pressure Switches H1 | ELEASMB6429 gh ELEASMB6433
Elevate il ELEASMB7159 i ELEASMB7162
R44 AFP, No Pressure Switches Ji | ELE121679 i ELE121680

Recline and.. *Master Assembly | Module w/ Programming A\
Recline Only (AM1) K1 | ELEASMB6640 k ELEASMB6045
AFP (AM2) L1 | ELEASMB6641 I ELEASMB6435
Elevate (AM2) M1 | ELEASMB7160 m | ELEASMB7163

Tilt, Recline, and... *Master Assembly | Module w/ Programming /A
Pressure Switches (AM2) N1 | ELEASMB6639 | n/o ELEASMB6044
No Pressure Switches (AM2) 01 | ELEASMB7103 n/o ELEASMB6044

A Actuator Mlodule Re P lacement A *Master assemblies contain AM1 or AM2 modules in addition to
harnesses and hardware components, which are not shown.
**Modules shown here are ONLY compatible a _ . .
i . eference component pages for illustrations and parts lists with the
with units manufactured AFTER Master Assembly part number in the table. Lower-case letters
January 2, 2012.** designate modules in assemblies with the matching upper-case letter.
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:16 UTC 2020

41



AM1/ AM2, Master Assembly and Modules, After 1/2/12

PRIDC
Item Part No. Name Qty

A1 ELEASMB7102 NE+/Q-LOGIC THRU AM1,TB2 TILT,TILT,45°,(CONF. #20) 1
B1 ELEASMB6574 NE+/Q-LOGIC THRU AM1,TB2TILT,TILT,45°, W/PRESSURE SWITCH (CONF. #20) 1
c1 ELEASMB6036 NE+TB2 TILT,TILT THRU JOYSTICK W/MANUAL RECLINE,W/PRESSURE SWITCH (CONF. #20) 1
D1 ELEASMB7100 NE+TB2 TILT,TILT THRU JOYSTICK W/MANUAL RECLINE,W/O PRESSURE SWITCH,(CONF. #20) 1
E1 ELEASMB6573 NE+/Q-LOGIC THRU AM1,TILT,W/O PRESSURE SWITCH,TB2 TILT,(CONF. #20) 1
F1 ELEASMB6035 NE+/Q-LOGIC THRU AM1,TB2 TILT,TILT THRU JOYSTICK,W/PRESSURE SWITCH (CONF. #20) 1
G1 ELEASMB7101 NE PLUS,TB2 TILT, TILT/POWER ARTICULATING FOOT PLATFORM,THRU JOYSTICK,W/O PRESSURE | 1

SWITCH,(CONF. #23)
H1 ELEASMB6429 NE PLUS,TB2 TILT,TILT/POWER ARTICULATING FOOT PLATFORM,THRU JOYSTICK,W/PRESSURE 1

SWITCH (CONF. #23)
" ELEASMB7159 NE PLUS,TB2 TILT, TILT/ELEVATE,THRU JOYSTICK,(CONF #24) 1
J1 ELE121679 NE PLUS,TILT,AFP,THRU JOYSTICK,45°,(CONF. #23) 1
K1 ELEASMB6640 NE PLUS,TB2 RECLINE,RECLINE ONLY,(CONF. #08) 1
L1 ELEASMB6641 NE PLUS,TB2 RECLINE,RECLINE/POWER AFP,W/INDEPENDENTLY CONTROLLED POWER 1

AFP,(CONF. #11)
M1 ELEASMB7160 NE PLUS,TB2 RECLINE,RECLINE/ELEVATE,(CONF. #14) 1
N1 ELEASMB6639 NE PLUS,TB2 TILT & RECLINE,TILT/RECLINE,W/PRESSURE SWITCH (CONF. #28) 1
o1 ELEASMB7103 NE PLUS,TB2 TILT & RECLINE,TILT/RECLINE,W/O PRESSURE SWITCH,(CONF. #28) 1
alb ELEASMB6578 AM1 MODULE,W/PROGRAMMING,TB2 TILT,R4000/Q614,(CONF #20) 1
cldlelf ELEASMB6043 AMA1,TILT ONLY,(CONFIG #20) 1
g/ ELEASMB6433 AM2,TILT W/AFP,(CONFIG #23) 1
[ ELEASMB7162 AM2,LIFT & TILT,(CONFIG #24) 1
j ELE121680 NE+ AM2 MODULE, TILT/AFP,45°,(CONF. #23) 1
k ELEASMB6045 AM1,RECLINE ONLY,(CONFIG.#8) 1
[ ELEASMB6435 AM2,RECLINE W/AFP,(CONFIG #11) 1
m ELEASMB7163 AM2,LIFT & RECLINE,(CONFIG.#14) 1
n/o ELEASMB6044 AM2,TILT & RECLINE,(CONFIG #28) 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:16 UTC 2020

42




AM1/AM2, Master Assembly and Modules, Before 1/2/12

PRIDE

2.1. Curtis thru AM1/AM2 Assy's

Tilt (AM1) and... *Master Assembly Module w/ Programming /A
R4000/ Q614, No Pressure Switches Al | ELEASMB7110169 ab ELEASMB7110038
R4000/ Q614 with Pressure Switches B1 | ELEASMB7110165 ab ELEASMB7110038
Manual Recline with Pressure Switches C1 | ELEASMB7110161 odlelt ELEASMB7110036
Manual Recline, No Pressure Switches D1 | ELEASMB7110166 cidient ELEASMB7110036
No Pressure Switches E1 | ELEASMB7110163 cidie ELEASMB7110036
Pressure Switches F1 | ELEASMB7110158 || caer ELEASMB7110036

Tilt (AM2) and... *Master Assembly Module w/ Programming /\ |
Articulating Foot Platform, No Pressure Switches | G1 | ELEASMB7110168 gh ELEASMB7110037
Articulating Foot Platform with Pressure Switches || H1 | ELEASMB7110162 gh ELEASMB7110037
Elevate 11 ELEASMB7110171 i ELEASMB7110039

[Recline and.. *Master Assembly Module w/ Programming /A
Recline Only (AM1) J1_| ELEASMB7110176 | | ELEASMB7110041
Articulating Foot Platform (AM2) K1 | ELEASMB7110178 k ELEASMB7110042
Elevate (AM2) L1 | ELEASMB7110179 | ELEASMB7110043

Tilt, Recline, and... *Master Assembly Module w/ Programmlni A
Pressure Switches (AM2) M1 | ELEASMB7110172 m/n ELEASMB7110040
No Pressure Switches (AM2) N1 | ELEASMB7110174 m/n ELEASMB7110040

A Actuator Module Replacement A

**Modules

shown here are ONLY compatible

with units manufactured BEFORE

January 2, 2012.**

*Master assemblies contain AM1 or AM2 modules in addition to
harnesses and hardware components, which are not shown.

Reference component pages for illustrations and parts lists with the
Master Assembly part number in the table. Lower-case letters
designate modules in assemblies with the matching upper-case letter .

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:16 UTC 2020

43



AM1/AM2, Master Assembly and Modules, Before 1/2/12

PRIDC
Item Part No. Name Qty
A1 ELEASMB7110169 | ELECTRONIC,ASSY,TB2 TILT,TILT,R4000/Q614,(CONF. #20) 1
B1 ELEASMB7110165 | NE+/Q-LOGIC THRU AM1 (FW 1.16),TB2 TILT,TILT,R4000/Q614,W/PRESSURE SWITCH (CONF. #20) 1
c1 ELEASMB7110161 yonﬂL) (FW 1.16),TB2 TILT,TILT THRU JOYSTICK W/MANUAL RECLINE,W/PRESSURE SWITCH (CONF. 1
D1 ELEASMB7110166 | NE PLUS (FW 1.16),TB2 TILT,TILT THRU JOYSTICK W/MANUAL RECLINE,(CONF. #20) 1
E1 ELEASMB7110163 | NE+/Q-LOGIC THRU AM1(FW 1.16),TB2 TILT,TILT,(CONF #20) 1
F1 ELEASMB7110158 | NE+/Q-LOGIC THRU AM1 (FW 1.16),TB2TILT,TILT THRU JOYSTICK,W/PRESSURE SWITCH (CONF. #20) | 1
G1 ELEASMB7110168 | NE PLUS (FW 1.16),TB2 TILT,TILT/AFP,THRU JOYSTICK,(CONF. #23) 1
H1 ELEASMB7110162 | NE PLUS (FW 1.16),TB2 TILT, TILT/ARTICULATING FOOT PLATFORM,THRU JOYSTICK,W/PRESSURE 1
SWITCH (CONF. # 23)
" ELEASMB7110171 | NE PLUS (FW 1.16),TB2 TILT,TILT/ELEVATE, THRU JOYSTICK,(CONF # 24) 1
J1 ELEASMB7110176 | NE PLUS (FW 1.16),TB2 RECLINE,RECLINE ONLY,(CONF. #08) 1
K1 ELEASMB7110178 | NE PLUS (FW 1.16),TB2 RECLINE,RECLINE/POWER AFP,W/INDEPENDENTLY CONTROLLED POWER | 1
AFP,(CONF. #11)
L1 ELEASMB7110179 | NE PLUS(FW 1.16),TB2 RECLINE,RECLINE/ELEVATE,(CONF #14) 1
M1 ELEASMB7110172 | NE PLUS (FW 1.16),TB2 TILT & RECLINE, TILT/RECLINE,W/PRESSURE SWITCH (CONF. #28) 1
N1 ELEASMB7110174 | NE PLUS (FW 1.16),TB2 TILT & RECLINE, TILT/RECLINE,(CONF. #28) 1
alb ELEASMB7110038 | AM1 MODULE (FW 1.16), W/PROGRAMMING,TB2 TILT,R4000/Q614,(CONF. #20) 1
cldlelf ELEASMB7110036 | AM1 MODULE(FW 1.16),W/PROGRAMMING,TB2 TILT,(CONF. #20) 1
g/ ELEASMB7110037 | NE+ AM2 MODULE (FW 1.16),W/PROGRAMMING, TB2 TILT/POWER FOOT PLATFORM,(CONF. #23) 1
[ ELEASMB7110039 | NE+ AM2 MODULE(FW 1.16),W/PROGRAMMING,TB2, TILT/ELEVATE,(CONF. #24) 1
j ELEASMB7110041 | AM1 MODULE (FW 1.16), W/PROGRAMMING,TB2 RECLINE,(CONF. #8) 1
k ELEASMB7110042 | NE+ AM2 MODULE (FW 1.16),W/PROGRAMMING,TB2 RECLINE/POWER FOOT PLATFORM,(CONF. #11) | 1
[ ELEASMB7110043 | NE+ AM2 MODULE (FW 1.16),W/ PROGRAMMING, TB2 RECLINE/ELEVATE,(CONF. #14) 1
m/n ELEASMB7110040 | NE+ AM2 MODULE (FW 1.16),W/PROGRAMMING, TB2 TILT/RECLINE,(CONF. #28) 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:16 UTC 2020

44




AM1/ AM2, Harnesses and Hardware —
PRIDE

2.1. Curtis thru AM1/AM2 Assy's

TILT OR RECLINE TILT AND RECL RECLINE AND AFP/ ELEVATE | TILT AND AFP/ ELEVATE
=N RECLINE ====:~\ AG or Al1 B =
3 TILT : F

Manual Recline Inhibit
i O

INE
—_ /8

AGTUATOR E -
AG or A11 e s

=

JOYSTICK (| JovsTiok iy JOYSTICK (| ]
: AM2 : AM2
& &

ARTICULATING FOOT PLATFORM

(RECLINE ONLY)

TO POWER BASE

&

Recline Actuator

(TILT CONFIGURATIONS)
@ P

Master Assembly Parts are not pickable from table, please use parts list o select
Tilt (AM1) and... Before 1212 | After1/2/12 _|A1]A2]|A3]A4]A5|A6[A7]A8]A9]A10[A11]A12]A13]A14|A15]A16]A17]A18]B1[B2]
R4000/ Q614, No Pressure Switches| ELEASMB7110169 | ELEASMB7102 1 2 1
R4000/ Q614 w/ Pressure Switches | ELEASMB7110165 | ELEASMB6574 | 2 1 2 1
Man. Recline w/ Pressure Switches | ELEASMB7110161 | ELEASMBB036 | 2 1{1]1 2 1
Man. Recline, No Pressure Switches E_LEASMB?1101 66 | ELEASMB7100 11111 2 1
No Pressure Switches ELEASMB7110163 | ELEASMBES73 1 2 1
Pressure Switches ELEASMB7110158 | ELEASMBE035 [ 2 [ 1| 1 2 1
Tilt (AM2) and... Before 1/2/12 After 1/2/12 | A1|A2|A3[A4 A5|A6|A7|AB|A9|AT0[ATIAT2|A13A14|A15|A16/A17|A18|B1 |B2
AFP. No Pressure Switches ELEASMB7110168 | ELEASMB7101 1 1 [1]5]1 211 1 11[1
AFP with Pressure Switches ELEASMB7110162 | ELEASMB6429 | 2 | 1 | 1 bl s 10 =] B 211 111]1
Elevate ELEASMB7110171 | ELEASMB7159 1 Sl1f{1]114]11]2 1
R44 AFP, No Pressure Switches N/A ELE121679 1 1111511 211 i I ]
Recline and.. Before 1/2/12 After 1/2/12  |A1]A2|A3|A4|A5|A6|A7|AB|A9|AT0[AT1|A12]A13[A14|A15|A16/A17|A18|B1|B2
| Recline Only (AM1) ELEASMB7110176 | ELEASMBE640 1 511 2 1
Articulating Foot Platform (AM2) ELEASMB7110178 | ELEASMB6641 1 1111511 2 1 1 1 AT
Elevate (AM2) ELEASMB7110179 | ELEASMB7160 1 51414 114]11]2 1
Tilt, Recline, and... Before 1/2/12 After 1/212 |A1|A2|A3|A4|A5|AG|A7|A8|AS|A10|AT1|A12|A13]A14]A15/A16{A17|A18|B1|B2
Pressure Switches (AM2) ELEASMB7110172 | ELEASMBE639[ 2|1 [ 1 511 2 ]
No Pressure Swilches (AM2) ELEASMB7110174 | ELEASMB7103 1 511 2 1

The numbers within the table represent the quantity of each harness for each configuration.

TB2 Electronics IPB

45

Export Date: Tue Sep 08 03:06:17 UTC 2020



AM1/ AM2, Harnesses and Hardware

PRIDC
Item Part No. Name Qty
A1 DWR1265H001 ELECTRONIC,SWITCH,PRESSURE,ANTI-PINCH,TB2 TILT 2
A2 DWR1265H004 HARNESS,"Y", ANTI-PINCH SWITCH,TB2 TILT 1
A3 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE H-1111-047,(CURTIS:17881302) 1
A4 ELE142519 HARNESS,COMBINATION,INHIBIT, MANUAL TILT,ROHS 1
A5 CLPCBLC1025 CLAMP,CABLE,STEEL,0.50" DIA,RUBBER COATED 1
A6 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A7 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 1
*A8 PLSTIE1004 TIE WRAP,BLACK,8" 5
*A9 ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 1
A10 DWR1265H016 ELECTRONIC,HARNESS,POWER SEAT INHIBIT,CURTIS, TRUBALANCE TILT 2,H-1265-016 1
A11 DWR1265H017 ELECTRONIC,HARNESS,POWER SEAT, TRU-BALANCE TILT 2,H-1265-017 1
A12 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 1
A13 SWTMAGN1001 ELECTRONIC,SWITCH,HERMETIC,PRX +8100 1
A14 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
A15 NUT8120005 NUT,T-SLOT,BLACK,M8-1.25 1
A16 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 1
A17 SCRHHCS1382 SCREW,HHCS,BLACK ZINC CHROMATE,M8-1.25 X 12MM,10.9 1
A18 MEC138637 BRACKET,STRAIN RELIEF,AM1 1
B1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 1
B2 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:17 UTC 2020

46




AM1/ AM2 Attendant Control and Recline Plastics

uuuuuuuu

2.1. Curtis thru AM1/AM2 Assy's

g

To Seating Module

TB2 Electronics IPB

47

Export Date: Tue Sep 08 03:06:17 UTC 2020



AM1/ AM2 Attendant Control and Recline Plastics

PRIDE
Item Part No. Name Qty
Al PLSASMB2069 PLASTIC,ASSY,CURTIS/AAM, TRU-BALANCE 2 POWER RECLINE 1
*B1-C1 ELEASMB6642 ASSY,NE+ATTENDANT CONTROL MODULE,W/BRACKET & HARDWARE 1
B1 CTL137822 CONTROLLER ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
B2 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
B3 DWR1010D298 MOUNTING BRACKET ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
B4 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
B5 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 2
c1 FRMASMB10455 MOUNTING BRACKET,ASSY, ATTENDANT CONTROL,C-1010-285 1
D1 BRK8110019 MULTIPLIER L-BRACKET,TRU-BALANCE 2 POWER RECLINE 1
D2 SCRPPH1379 SCREW,PPH,BLACK ZINC,8-32 X 0.375" 2

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:17 UTC 2020
48




TB2 Recline, AAM, Master Assembly, After 1/2/12 —
PRIDE

2.2. Curtis thru AAM Recline Assy's

wol] mel] we[] w
28 a8 [w] 53

A

wei] ]
N&
-

LOCATION

The Run Plug is not neccessary for
modules manufactured after June 7, 2012.

CURTIS, RECLINE with... Master Assembly* & AAM Module M

& , Al a
b Recline Only
ELEASMB5509 || ELEASMB5620
2 Independent L B! b
ndependent Legs
Actuator Module N F 4 ELEASMBE513 ELEASMB5621
Ct c
A Replacement A CombisdLag
ELEASMB5514 ELEASMB5622
Modules shown here are B 4
ONLY com patible with Articulating Foot Platform
units manufactured ELEASMB5608 ELEASMB5623
AFTER January 2,2012. Recline Only, R4000 = &
ELEASMB5831 ELEASMB5828
Fi f

*Master assemblies contain harnesses Independent Legs, R4000

and hardware components not shown. ELEASMBS832 ELEASMB5629

Reference component pages for Gi1 g
illustrations and parts lists with the Combined Legs, R4000
Master Assembly part number in the ELEASMBS5833 ELEASMBS5830
table. H1 h
Articulating Foot Platform, R44
Lower case letters designate ELE121676 ELE121677
AAM modules in assemblies with 1" i
the matching upper case letter. Elevate
ELEASMB5510 ELEASMB5624
J1 i
Elevate, Independent Legs
ELEASMB5511 ELEASMB5625
K1 k

Elevate, Combined Legs
ELEASMBS5512 ELEASMBS5626

L1 |
ELEASMB5E09 ELEASMB5627
Master Assembly* & AAM Module A

Elevate, Articulating Foot Platform

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:18 UTC 2020
49



TB2 Recline, AAM, Master Assembly, After 1/2/12

PRIDC
Item Part No. Name Qty
A1 ELEASMB5509 CURTIS/AAM,RECLINE ONLY,(CONFIG. #08) 1
B1 ELEASMB5513 CURTIS/AAM,RECLINE/IND. LEGS,SYNCH. RECLINE W/ IND.CONTROLLED IND. LEGS,(CONFIG. #09) 1
c1 ELEASMB5514 CURTIS/AAM,RECLINE/COMBINED LEGS,SYNCH. RECLINE W/ IND.CONTROLLED COMBINED 1
LEGS,(CONFIG. #10)
D1 ELEASMB5608 gHF)mS/AAM,RECLlNE/POWER AFP,SYNCH. RECLINE W/ IND.CONTROLLED POWER AFP,(CONFIG. 1
E1 ELEASMB5831 CURTIS/AAM,RECLINE ONLY,R4000,(CONFIG. #8) 1
F1 ELEASMB5832 %J)RTIS/AAM,RECLINE/IND. LEGS,SYNCH. RECLINE W/ IND.CONTROLLED IND. LEGS,R4000,(CONFIG. | 1
G1 ELEASMB5833 CURTIS/AAM,RECLINE/COMBINED LEGS,SYNCH. RECLINE W/ IND.CONTROLLED COMBINED 1
LEGS,R4000,(CONFIG. #10)
H1 ELE121676 CURTIS/AAM,RECLINE/AFP,SYNCH. RECLINE W/IND. CONTROLLED AFP,45°,(CONFIG. #11) 1
" ELEASMB5510 CURTIS/AAM,RECLINE/ELEVATE,(CONFIG #14) 1
J1 ELEASMB5511 CURTIS/AAM,RECLINE/ELEVATE/IND. LEGS,SYNCH. RECLINE W/ IND. CONTROLLED IND. 1
LEGS,(CONFIG. #15)
K1 ELEASMB5512 CURTIS/AAM,RECLINE/ELEVATE/COMBINED LEGS,SYNCH. RECLINE W/ IND. CONTROLLED 1
COMBINED LEGS,(CONFIG. #16)
L1 ELEASMB5609 CURTIS/AAM,RECLINE/ELEVATE/POWER AFP,SYNCH.RECLINE W/ IND. CONTROLLED POWER 1
AFP,(CONFIG. #17)
a ELEASMB5620 AAM,RECLINE ONLY,(CONFIG #08) 1
b ELEASMB5621 AAM,RECLINE W/INDEPENDENT LEGS,(CONFIG #09) 1
c ELEASMB5622 AAM,RECLINE W/COMBINED LEGS,(CONFIG.#10) 1
d ELEASMB5623 AAM,RECLINE W/AFP,(CONFIG #11) 1
e ELEASMB5828 AAM,RECLINE,R4000,(CONFIG. #8) 1
f ELEASMB5829 AAM,RECLINE/IND. LEGS,R4000,(CONFIG. #9) 1
g ELEASMB5830 AAM,RECLINE/COMBINED LEGS,R4000,(CONFIG. #10) 1
h ELE121677 AAM,RECLINE/AFP,45°,(CONFIG. #11) 1
[ ELEASMB5624 AAM, RECLINE/ELEVATE (CONFIG. #14) 1
j ELEASMB5625 AAM, RECLINE/ELEVATE, INDEPENDENT LEGS (CONFIG. #15) 1
k ELEASMB5626 AAM, RECLINE/ELEVATE,COMBINED LEGS (CONFIG. #16) 1
[ ELEASMB5627 AAM,LIFT & RECLINE W/AFP,(CONFIG.#17) 1
M1 DWR1361H030 ELECTRONIC,HARNESS,RUN PLUG,MALE,MERCURY SWITCH,SWITCH-IT CONTROLLER,H-1361-030 | 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:18 UTC 2020

50




TB2 Recline, AAM, Master Assembly, Before 1/2/12

PRIDG

2.2. Curtis thru AAM Recline Assy's

Actuator Module

A Replacement A

Modules shown here are
ONLY compatible with
units manufactured
AFTER January 2, 2012.

*Master assemblies contain harnesses
and hardware components not shown.
Reference component pages for
illustrations and parts lists with the
Master Assembly part number in the
table.

Lower case letters designate
AAM modules in assemblies with
the matching upper case letter.

wei] ]
N&
-

wol] mel] we[] w
28 a8 [w] 53

A

LOCATION

The Run Plug is not neccessary for
modules manufactured after June 7, 2012.

CURTIS, RECLINE with... Master Assembly*

,& AAM Module ﬁ_\.

Al a
Recline Only
ELEASMB7110259 ELEASMB7110081
B1 b
Independent Legs
ELEASMB7110260 ELEASMB7110093
C1 c
Combined Legs
ELEASMB7110261 ELEASMB7110095
D1 d
Articulating Foot Platform
ELEASMB7110262 ELEASMB7110097
E1 e
Recline Only, R4000
ELEASMB7110263 ELEASMB7110099
F1 f
Independent Legs, R4000
ELEASMB7110264 ELEASMB7110101
G1 g
Combined Legs, R4000
ELEASMB7110265 ELEASMB7110103
H1 h
Elevate
ELEASMB7110274 ELEASMB7110105
11 i
Elevate, Independent Legs
ELEASMB7110275 ELEASMB7110107
J1 j
Elevate, Combined Legs
ELEASMB7110276 ELEASMB7110109
K1 k
Elevate, Articulating Foot Platform
ELEASMBT110277 ELEASMB7110111 |
Master Assembly* J AAM Module

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:18 UTC 2020

51



TB2 Recline, AAM, Master Assembly, Before 1/2/12

PRIDC
Item Part No. Name Qty
A1 ELEASMB7110259 | CURTIS/AAM(FW 1.45),RECLINE ONLY,(CONFIG. #08) 1
B1 ELEASMB7110260 | CURTIS/AAM(FW 1.45),RECLINE/IND. LEGS,SYNCH. RECLINE W/ IND.CONTROLLED IND. 1
LEGS,(CONFIG. #09)
c1 ELEASMB7110261 | CURTIS/AAM(FW 1.45),RECLINE/COMBINED LEGS,SYNCH. RECLINE W/ IND. CONTROLLED 1
COMBINED LEGS,(CONFIG. #10)
D1 ELEASMB7110262 | CURTIS/AAM(FW 1.45),RECLINE/POWER AFP,SYNCH. RECLINE W/ IND. CONTROLLED POWER 1
AFP,(CONFIG. #11)
E1 ELEASMB7110263 | CURTIS/AAM(FW 1.45),RECLINE ONLY,R4000,(CONFIG. #8) 1
F1 ELEASMB7110264 | CURTIS/AAM(FW 1.45),RECLINE/IND. LEGS,SYNCH. RECLINE W/ IND. CONTROLLED IND. 1
LEGS,R4000,(CONFIG. #9)
G1 ELEASMB7110265 | CURTIS/AAM(FW 1.45),RECLINE/COMBINED LEGS,SYNCH. RECLINE W/IND. CONTROLLED COMBINED | 1
LEGS,R4000,(CONFIG. #10)
H1 ELEASMB7110274 | CURTIS/AAM(FW 1.45),RECLINE/ELEVATE,(CONFIG #14) 1
" ELEASMB7110275 | CURTIS/AAM(FW 1.45),RECLINE/ELEVATE/IND. LEGS,SYNCH. RECLINE W/ IND. CONTROLLED IND. 1
LEGS,(CONFIG. #15)
J1 ELEASMB7110276 | CURTIS/AAM(FW 1.45),RECLINE/ELEVATE/COMBINED LEGS, SYNCH.RECLINE W/IND. CONTROLLED | 1
COMBINED LEGS,(CONFIG. #16)
K1 ELEASMB7110277 g%F){TlS/AAM(FW 1.45),RECLINE/ELEVATE/AFP,SYNCH.RECLINE W/IND. CONTROLLED AFP,(CONFIG. | 1
a ELEASMB7110091 | AAM(FW 1.45),RECLINE,(CONFIG. #08) 1
b ELEASMB7110093 | AAM(FW 1.45),RECLINE/IND. LEGS,(CONFIG. #09) 1
c ELEASMB7110095 | AAM(FW 1.45),RECLINE/COMBINED LEGS,(CONFIG. #10) 1
d ELEASMB7110097 | AAM(FW 1.45),RECLINE/POWER AFP,(CONFIG. #11) 1
e ELEASMB7110099 | AAM(FW 1.45),RECLINE,R4000,(CONFIG. #8) 1
f ELEASMB7110101 | AAM(FW 1.45),RECLINE/IND. LEGS,R4000,(CONFIG. #9) 1
g ELEASMB7110103 | AAM(FW 1.45),RECLINE/COMBINED LEGS,R4000,(CONFIG. #10) 1
h ELEASMB7110105 | AAM(FW 1.45),RECLINE/ELEVATE,(CONFIG. #14) 1
[ ELEASMB7110107 | AAM(FW 1.45),RECLINE/ELEVATE/IND. LEGS,(CONFIG. #15) 1
j ELEASMB7110109 | AAM(FW 1.45),RECLINE/ELEVATE/COMBINED LEGS,(CONFIG. #16) 1
k ELEASMB7110111 | AAM(FW 1.45),RECLINE/ELEVATE/POWER AFP,(CONFIG. #17) 1
L1 DWR1361H030 ELECTRONIC,HARNESS,RUN PLUG,MALE,MERCURY SWITCH,SWITCH-IT CONTROLLER,H-1361-030 | 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:18 UTC 2020

52




TB2 Recline, AAM, Harnesses

PRIDE
2.2. Curtis thru AAM Recline Assy's
INDEPENDENT LEGS ‘Dﬁ AAM
<

Iur:lw wc we[] wa[]

R

A.-'; A4 - 0 - Al
J

From Multiplier

A

/R

8y

T - e a1 [ | ma | | | e | w | | s
Recline Only ELEASMB7110259 | ELEASMB5509 1 1 1
Independent Legs ELEASMB7110260 | ELEASMB5513 1 1 1 1 1
Combined Legs ELEASMB7110261 | ELEASMB5514 1 1 1 1
Articulating Foot Platform ELEASMB7110262 | ELEASMB5608 1 1 1 1
Recline Only, R4000 ELEASMB7110263 | ELEASMB5831 1 1 1
Independent Legs, R4000 ELEASMB7110264 | ELEASMB5832 1 1 1 1 1
Combined Legs, R4000 ELEASMB7110265 | ELEASMB5833 1 1 1 1
Articulating Foot Platform, R44 N/A ELE121676 1 1 1 1
Elevate ELEASMB7110274 | ELEASMB5510 1 1 1 1 1 1
Elevate, Independent Legs ELEASMB7110275 | ELEASMB5511 1 1 1 1 1 1 1 1
Elevate, Combined Legs ELEASMB7110276 | ELEASMB5512 1 1 1 1 1 1 1
Elevate, Articulating Foot Platform ELEASMB7110277 | ELEASMB5609 1 1 1 1 1 1 1

A1 A2 A3 A4 A5 AB | AT AB AQ

The numbers within the table represent the quantity of each harness for each configuration.

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:19 UTC 2020

53



TB2 Recline, AAM, Harnesses

PRIDE
Item Part No. Name Qty
Al DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
A2 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE,H-1111-047 (CURTIS:17881302) 1
A3 DWR1265H006 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,LEFT,H-1265-006 1
A4 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A5 DWR1265H005 ELECTRONIC,HARNESS,COMBINED ELR,CURTIS, TRU-BALANCE TILT 2,H-1265-005 1
A6 DWR1265H016 ELECTRONIC,HARNESS,POWER SEAT INHIBIT,CURTIS, TRUBALANCE TILT 2,H-1265-016 1
A7 DWR1265H017 ELECTRONIC,HARNESS,POWER SEAT, TRU-BALANCE TILT 2,H-1265-017 1
A8 SWTMAGN1001 ELECTRONIC,SWITCH,HERMETIC,PRX +8100 1
A9 CTL137822 CONTROLLER ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:19 UTC 2020
54




TB2 Recline, AAM, Hardware

PRIDG

2.2. Curtis thru AAM Recline Assy's
INDEPENDENT LEGS

<

ARTICULATING FO

OT PLATFORM

L4

Plastic Cover Assembly

Please Note: tems B1 and C1 are
included with the Master Assembly.

M Earf ety At | A2 | A3 | A4 |as | a6 | A7 | A8 | Ag |A10 | A11 | A12 |A13 |A14 [A15 [At8 | B1 | C1
Before 1/2/12 After 1/212

Recline Only ELEASMB7110259]ELEASMB5509] 1 | 2 | 2 | 2 10| 4] 1 | 1] 2 | 2 HIE
Independent Legs |ELEASMB7110260[ELEASMB5513] 1 | 2 | 2 | 2 [0 ] 4 | 1 | 1 |2 | 2] 2] 2 ]2]2]z2/2]1]1
Combined Legs  |ELEASMB7110261|ELEASMBS514] 1 | 2 [ 2 [ 2 [0 [ a [ 1 [ 1 2] 2] 22222 ]2]1]:1
AFP ELEASMB7110262| ELEASMB5608 1 2 2 2 10 4 1 1 2 2 1 1 1 1 1 1 1 1
Recline Only, R4000 |ELEASMB7110263|ELEASMBS831] 1 | 2 | 2 | 2 [10] 4 | 1 | 1 ] 2 | 2 HIE
Ind.Legs, R4000 |ELEASMB7110264[ELEASMB5832] 1 | 2 | 2 | 2 [0 ] 4 | 1 | 1 ]2 |2 ]2 ]2 ]z2]z2le l2]1]1
Comb. Legs. R4000 |ELEASMB7110265[ELEASMB5833] 1 | 2 | 2 [ 2 [10 [ 4 [ 1 [ 1 [2 [ 2 [ 22222 ]2]1]1
AFP,_Rd4 N/A ELE121676 1 ]2 ]2 2]10] 4] 1 1 ]2 ]2 111 ]1]1]1 1 1] 1
Elevate ELEASMB7110274]ELEASMBS510] 1 | 2 [ 2 [ 2 [0 [ a4 [ 1 [ 1 [ 6 ]| 2 1] 1
Elevate, Ind. Leqs |ELEASMB7110275|ELEASMBS511] 1 | 2 | 2 | 2 |10 ] 4 | 1 | 1 |6 |2 ] 2] 2] 2]2 2 | 1] 1
Elevate, Comb. Legs|ELEASMB7110276/ELEASMBSS12] 1 | 2 [ 2 [ 2 [10] a [ 1 [ 1 e [ 2] 22222 z27]1]:H1
Elevate, AFP |[ELEasmB7idoe77lELEASMBS609] 1 | 2 [ 2 [ 2 J1o0 ]l a [ 1 [ 1 el 2 1 1 14111111 ]1]H
Al | a2 | A3 | aa | as | ae | a7 | as | A9 |Aat0| A1t |Aa12 |13 |ata|a1s |ate | BT | 1

The numbers within the table represent the guantity of each harness for each configuration.

TB2 Electronics IPB

55

Export Date: Tue Sep 08 03:06:19 UTC 2020



TB2 Recline, AAM, Hardware

PRIDC
Item Part No. Name Qty
A1 DWR1010D298 MOUNTING BRACKET,ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
A2 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
A3 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
A4 ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 2
A5 PLSTIE1004 TIE WRAP,BLACK,8" 10
A6 TIE WRAP,BLACK, 18 1/2" 4
A7 BRK8110019 MULTIPLIER L-BRACKET, TRU-BALANCE 2 POWER RECLINE 1
A8 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
A9 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 2
A10 SCRPPH1379 SCREW,PPH,BLACK ZINC,8-32 X 0.375" 2
A11 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 1
A12 NUT8120005 NUT,T-SLOT,BLACK,M8-1.25 1
A13 SCRHHCS1382 SCREW,HHCS,BLACK ZINC CHROMATE,M8-1.25 X 12MM,10.9 1
A14 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 1
A15 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 1
A16 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 1
B1 PLSASMB2069 PLASTIC,ASSY,CURTIS/AAM, TRU-BALANCE 2 POWER RECLINE 1
c1 FRMASMB10455 MOUNTING BRACKET,ASSY,ATTENDANT CONTROL,C-1010-285 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:19 UTC 2020

56




Remote Plus / Switch-it, Recline, Master Assembly and Switch-it Box

PRIDE

2.3. Remote Plus Switch-it Recline Assy's

SWITCH INPUT

Sl O

LIMIT SWITCHES

RNV
.

POWERIACTUATOR

**The Switch-It Box requires a selection in the Program column for desired power functions.

R 0 P B0
...w/ Recline and... ‘Master Assembly* || Switch-It Box** Program Dip Switch Setting
Recline Only ELEASMB5321 Al a "
(order a program) | DWR1367H017 EDDH nnﬂnuuuﬂ
| s B — ey |
Independent Legs ELEASMB5322 Al b D D ED u
(order a program) | DWR1367H006 n DU u UD u
Combined Legs ELEASMB5323 Al c/d I -
(order a program) | DWR1367H007 DDDU nunﬂuuﬂu
Articulating Foot Platform ELEASMB5541 Al c/d r i
(order a program)| DWR1367H007 DDDU HDDDDWE
Elevate ELEASMB5320 A1 e . "
(order a program)| DWR1367H019 DDDU UDDDDHUH
... w/ Synchrenized Recline and... *Master Assembly®|| Switch-It Box™ Program Dip Switch Setting
Combined Legs with Independently ELEASMB5324 Al fih B "
Controlled Combined Legs (order a program) | DWR1367H024 DDDU DDDDDHUH
Combined Legs with Independently ELEASMB5325 Al ofi hguu EQDDDDUE
Controlled Elevate and Combined Legs (order a program)| DWR1367H029 - " " L
Articulating Foot Platform with Independently ELEASMB5542 Al ffh EDDH ﬁﬂﬂﬂﬂﬂuﬂ
Controlled Articulating Foot Platform (order a program) | DWR1367H024 e AT o
Articulating Foot Platform with Independently ELEASMB5543 Al gfi EUDU ﬁunnnuuu
Controlled Elevate and Articulating Ft. Platform (order a program)| DWR1367H029 Ll L {WIEIN] L
Independent Function *Master Assembly*|| Switch-It Box** Program Dip Switch Setting
“‘Master assemblies contain harnesses and hardware components, which are not shown. Varsions |2 :
Hardware components are not available separately; the master assembly must be ordered. Prior 1o F- HDDD
Lower case |etters designate Switch-It box programs for assemblies with the matching upper case letter. CERImE [N

TB2 Electronics IPB

57

Export Date: Tue Sep 08 03:06:20 UTC 2020



Remote Plus / Switch-it, Recline, Master Assembly and Switch-it Box

PRIDC
Item Part No. Name Qty
A1 ELECTRONIC,CONTROL BOX,4 ACTUATOR 1
a DWR1367H017 SWITCH-IT DIP SWITCH CONFIG.,RECLINE 1
b DWR1367H006 SWITCH-IT DIP SWITCH CONFIG.,RECLINE/INDEPENDENT LEGS 1
c/d DWR1367H007 SWITCH-IT DIP SWITCH CONFIG.,RECLINE/COMBINED LEGS 1
e DWR1367H019 SWITCH-IT DIP SWITCH CONFIG.,RECLINE/ELEVATE 1
fih DWR1367H024 SWITCH-IT DIP SWITCH CONFIG.,SYNCHRONIZED RECLINE & COMBINED LEGS,W/INDEPENDENTLY | 1
CONTROLLED COMBINED LEGS
gli DWR1367H029 SWITCH-IT DIP SWITCH CONFIG.,SWITCH-IT,SYNCHRONIZED RECLINE & COMBINED 1

LEGS,W/INDEPENDENTLY CONTROLLED ELEVATE & COMBINED LEGS

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:20 UTC 2020
58




Remote Plus / Switch-it, Recline, Harnesses

2.3. Remote Plus Switch-it Recline Assy's

=) ]

1807
= LA
=

SWITCH IT CONTROL BOX

I'l
L
TO POWER BASE

= OR
ARTICULATING FOOT PLATFORM

**Only serviceable harnesses Be
are called out.*™ TO POWER CHAIR

. Master Assembly | A1 | A2 | A3 | A4 | A5 | AB | A7 | AB
... w/ Recline and...

Recline Only ELEASMB5321 1 1 1

Independent Legs ELEASMB5322 1 1 1 1
Combined Legs ELEASMB5323 1 1 1 1

Articulating Foot Platform ELEASMB5541 1 1 1 1
Elevate ELEASMB5320 1 1 1 1

Master Assembly | A1 | A2 | A3 | A4 | A5 | AB | A7 | A8

... w/ Synchronized Recline and...

CL with Independent CL ELEASMB5324 1 1 1
CL with Independent Elevate and CL ELEASMB5325 1 1 1 1
AFP with Independent AFP ELEASMBS5542 1 1 1 1
AFP with Independent Elevate and AFP ELEASMB5543 1 1 1 1 1
e CL: Combined Legs, IL: Independent Legs The numbers within the table represent the
ote AFP: Articulating Foot Platform quantity of each harness for each configuration.

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:20 UTC 2020
59



Remote Plus / Switch-it, Recline, Harnesses

PRIDE
Item Part No. Name Qty
Al HARNESS,RUN PLUG,DYNAMIC,SENSOR 1
A2 HARNESS,POWER OPTIONS INHIBIT,TB2 TILT 1
A3 SWTMAGN1001 ELECTRONIC,SWITCH,HERMETIC,PRX +8100 1
A4 ELECTRONIC,HARNESS,1.16 LONG,REDEL CABLE, REMOTE PLUS,JOYSTICK TO TRAY,H-1010-049 1
A5 DWR1265H017 ELECTRONIC,HARNESS,POWER SEAT, TRU-BALANCE TILT 2,H-1265-017 1
A6 DWR1265H005 ELECTRONIC,HARNESS,COMBINED ELR,CURTIS, TRU-BALANCE TILT 2,H-1265-005 1
A7 DWR1265H006 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,LEFT,H-1265-006 1
A8 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:20 UTC 2020
60




Remote Plus / Switch-it, Recline Hardware

uuuuuuuu

2.3. Remote Plus Switch-it Recline Assy's

INDEPENDENT LEGS

ELEVATING SEAT

TB2 Electronics IPB

61

Export Date: Tue Sep 08 03:06:21 UTC 2020



AM1/ AM2, Master Assembly and Modules, After 1/2/12

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:21 UTC 2020
62



AM1/ AM2, Master Assembly and Modules, After 1/2/12 L
PRIDE

3.1. Curtis thru AM1/AM2 Assy's

Tilt (AM1) and... *Master Assembly | Module w/ Programming /\
R4000/ Q614, No Pressure Switches A1 | ELEASMB7102 ab ELEASMBEG578
R4000/ Q614 with Pressure Switches B1 | ELEASMB6574 ab ELEASMB6578
Manual Recline with Pressure Switches C1 | ELEASMB6E036 || cuer ELEASMB6043
Manual Recline, No Pressure Switches D1 | ELEASMB7100 | cder ELEASMB6043
No Pressure Switches E1 | ELEASMBB573 | cdiet ELEASMB6043
Pressure Switches Fi | ELEASMBB035 | cdet ELEASMB6043

Tilt (AM2) and... ‘Master Assembly | Module w/ Programming A\ |
AFP, No Pressure Switches G1 | ELEASMB7101 sn | ELEASMB6433
AFP with Pressure Switches H1 | ELEASMB6429 gh ELEASMB6433
Elevate il ELEASMB7159 i ELEASMB7162
R44 AFP, No Pressure Switches Ji | ELE121679 i ELE121680

Recline and.. *Master Assembly | Module w/ Programming A\
Recline Only (AM1) K1 | ELEASMB6640 k ELEASMB6045
AFP (AM2) L1 | ELEASMB6641 I ELEASMB6435
Elevate (AM2) M1 | ELEASMB7160 m | ELEASMB7163

Tilt, Recline, and... *Master Assembly | Module w/ Programming /A
Pressure Switches (AM2) N1 | ELEASMB6639 | n/o ELEASMB6044
No Pressure Switches (AM2) 01 | ELEASMB7103 n/o ELEASMB6044

A Actuator Mlodule Re P lacement A *Master assemblies contain AM1 or AM2 modules in addition to
harnesses and hardware components, which are not shown.
**Modules shown here are ONLY compatible a _ . .
i . eference component pages for illustrations and parts lists with the
with units manufactured AFTER Master Assembly part number in the table. Lower-case letters
January 2, 2012.** designate modules in assemblies with the matching upper-case letter.
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:21 UTC 2020

63



AM1/ AM2, Master Assembly and Modules, After 1/2/12

PRIDC
Item Part No. Name Qty

A1 ELEASMB7102 NE+/Q-LOGIC THRU AM1,TB2 TILT,TILT,45°,(CONF. #20) 1
B1 ELEASMB6574 NE+/Q-LOGIC THRU AM1,TB2TILT,TILT,45°, W/PRESSURE SWITCH (CONF. #20) 1
c1 ELEASMB6036 NE+TB2 TILT,TILT THRU JOYSTICK W/MANUAL RECLINE,W/PRESSURE SWITCH (CONF. #20) 1
D1 ELEASMB7100 NE+TB2 TILT,TILT THRU JOYSTICK W/MANUAL RECLINE,W/O PRESSURE SWITCH,(CONF. #20) 1
E1 ELEASMB6573 NE+/Q-LOGIC THRU AM1,TILT,W/O PRESSURE SWITCH,TB2 TILT,(CONF. #20) 1
F1 ELEASMB6035 NE+/Q-LOGIC THRU AM1,TB2 TILT,TILT THRU JOYSTICK,W/PRESSURE SWITCH (CONF. #20) 1
G1 ELEASMB7101 NE PLUS,TB2 TILT, TILT/POWER ARTICULATING FOOT PLATFORM,THRU JOYSTICK,W/O PRESSURE | 1

SWITCH,(CONF. #23)
H1 ELEASMB6429 NE PLUS,TB2 TILT,TILT/POWER ARTICULATING FOOT PLATFORM,THRU JOYSTICK,W/PRESSURE 1

SWITCH (CONF. #23)
" ELEASMB7159 NE PLUS,TB2 TILT, TILT/ELEVATE,THRU JOYSTICK,(CONF #24) 1
J1 ELE121679 NE PLUS,TILT,AFP,THRU JOYSTICK,45°,(CONF. #23) 1
K1 ELEASMB6640 NE PLUS,TB2 RECLINE,RECLINE ONLY,(CONF. #08) 1
L1 ELEASMB6641 NE PLUS,TB2 RECLINE,RECLINE/POWER AFP,W/INDEPENDENTLY CONTROLLED POWER 1

AFP,(CONF. #11)
M1 ELEASMB7160 NE PLUS,TB2 RECLINE,RECLINE/ELEVATE,(CONF. #14) 1
N1 ELEASMB6639 NE PLUS,TB2 TILT & RECLINE,TILT/RECLINE,W/PRESSURE SWITCH (CONF. #28) 1
o1 ELEASMB7103 NE PLUS,TB2 TILT & RECLINE,TILT/RECLINE,W/O PRESSURE SWITCH,(CONF. #28) 1
alb ELEASMB6578 AM1 MODULE,W/PROGRAMMING,TB2 TILT,R4000/Q614,(CONF #20) 1
cldlelf ELEASMB6043 AMA1,TILT ONLY,(CONFIG #20) 1
g/ ELEASMB6433 AM2,TILT W/AFP,(CONFIG #23) 1
[ ELEASMB7162 AM2,LIFT & TILT,(CONFIG #24) 1
j ELE121680 NE+ AM2 MODULE, TILT/AFP,45°,(CONF. #23) 1
k ELEASMB6045 AM1,RECLINE ONLY,(CONFIG.#8) 1
[ ELEASMB6435 AM2,RECLINE W/AFP,(CONFIG #11) 1
m ELEASMB7163 AM2,LIFT & RECLINE,(CONFIG.#14) 1
n/o ELEASMB6044 AM2,TILT & RECLINE,(CONFIG #28) 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:21 UTC 2020

64




AM1/AM2, Master Assembly and Modules, Before 1/2/12

PRIDE

3.1. Curtis thru AM1/AM2 Assy's

Tilt (AM1) and... *Master Assembly Module w/ Programming /A
R4000/ Q614, No Pressure Switches Al | ELEASMB7110169 ab ELEASMB7110038
R4000/ Q614 with Pressure Switches B1 | ELEASMB7110165 ab ELEASMB7110038
Manual Recline with Pressure Switches C1 | ELEASMB7110161 odlelt ELEASMB7110036
Manual Recline, No Pressure Switches D1 | ELEASMB7110166 cidient ELEASMB7110036
No Pressure Switches E1 | ELEASMB7110163 cidie ELEASMB7110036
Pressure Switches F1 | ELEASMB7110158 || caer ELEASMB7110036

Tilt (AM2) and... *Master Assembly Module w/ Programming /\ |
Articulating Foot Platform, No Pressure Switches | G1 | ELEASMB7110168 gh ELEASMB7110037
Articulating Foot Platform with Pressure Switches || H1 | ELEASMB7110162 gh ELEASMB7110037
Elevate 11 ELEASMB7110171 i ELEASMB7110039

[Recline and.. *Master Assembly Module w/ Programming /A
Recline Only (AM1) J1_| ELEASMB7110176 | | ELEASMB7110041
Articulating Foot Platform (AM2) K1 | ELEASMB7110178 k ELEASMB7110042
Elevate (AM2) L1 | ELEASMB7110179 | ELEASMB7110043

Tilt, Recline, and... *Master Assembly Module w/ Programmlni A
Pressure Switches (AM2) M1 | ELEASMB7110172 m/n ELEASMB7110040
No Pressure Switches (AM2) N1 | ELEASMB7110174 m/n ELEASMB7110040

A Actuator Module Replacement A

**Modules

shown here are ONLY compatible

with units manufactured BEFORE

January 2, 2012.**

*Master assemblies contain AM1 or AM2 modules in addition to
harnesses and hardware components, which are not shown.

Reference component pages for illustrations and parts lists with the
Master Assembly part number in the table. Lower-case letters
designate modules in assemblies with the matching upper-case letter .

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:22 UTC 2020

65



AM1/AM2, Master Assembly and Modules, Before 1/2/12

PRIDC
Item Part No. Name Qty
A1 ELEASMB7110169 | ELECTRONIC,ASSY,TB2 TILT,TILT,R4000/Q614,(CONF. #20) 1
B1 ELEASMB7110165 | NE+/Q-LOGIC THRU AM1 (FW 1.16),TB2 TILT,TILT,R4000/Q614,W/PRESSURE SWITCH (CONF. #20) 1
c1 ELEASMB7110161 yonﬂL) (FW 1.16),TB2 TILT,TILT THRU JOYSTICK W/MANUAL RECLINE,W/PRESSURE SWITCH (CONF. 1
D1 ELEASMB7110166 | NE PLUS (FW 1.16),TB2 TILT,TILT THRU JOYSTICK W/MANUAL RECLINE,(CONF. #20) 1
E1 ELEASMB7110163 | NE+/Q-LOGIC THRU AM1(FW 1.16),TB2 TILT,TILT,(CONF #20) 1
F1 ELEASMB7110158 | NE+/Q-LOGIC THRU AM1 (FW 1.16),TB2TILT,TILT THRU JOYSTICK,W/PRESSURE SWITCH (CONF. #20) | 1
G1 ELEASMB7110168 | NE PLUS (FW 1.16),TB2 TILT,TILT/AFP,THRU JOYSTICK,(CONF. #23) 1
H1 ELEASMB7110162 | NE PLUS (FW 1.16),TB2 TILT, TILT/ARTICULATING FOOT PLATFORM,THRU JOYSTICK,W/PRESSURE 1
SWITCH (CONF. # 23)
" ELEASMB7110171 | NE PLUS (FW 1.16),TB2 TILT,TILT/ELEVATE, THRU JOYSTICK,(CONF # 24) 1
J1 ELEASMB7110176 | NE PLUS (FW 1.16),TB2 RECLINE,RECLINE ONLY,(CONF. #08) 1
K1 ELEASMB7110178 | NE PLUS (FW 1.16),TB2 RECLINE,RECLINE/POWER AFP,W/INDEPENDENTLY CONTROLLED POWER | 1
AFP,(CONF. #11)
L1 ELEASMB7110179 | NE PLUS(FW 1.16),TB2 RECLINE,RECLINE/ELEVATE,(CONF #14) 1
M1 ELEASMB7110172 | NE PLUS (FW 1.16),TB2 TILT & RECLINE, TILT/RECLINE,W/PRESSURE SWITCH (CONF. #28) 1
N1 ELEASMB7110174 | NE PLUS (FW 1.16),TB2 TILT & RECLINE, TILT/RECLINE,(CONF. #28) 1
alb ELEASMB7110038 | AM1 MODULE (FW 1.16), W/PROGRAMMING,TB2 TILT,R4000/Q614,(CONF. #20) 1
cldlelf ELEASMB7110036 | AM1 MODULE(FW 1.16),W/PROGRAMMING,TB2 TILT,(CONF. #20) 1
g/ ELEASMB7110037 | NE+ AM2 MODULE (FW 1.16),W/PROGRAMMING, TB2 TILT/POWER FOOT PLATFORM,(CONF. #23) 1
[ ELEASMB7110039 | NE+ AM2 MODULE(FW 1.16),W/PROGRAMMING,TB2, TILT/ELEVATE,(CONF. #24) 1
j ELEASMB7110041 | AM1 MODULE (FW 1.16), W/PROGRAMMING,TB2 RECLINE,(CONF. #8) 1
k ELEASMB7110042 | NE+ AM2 MODULE (FW 1.16),W/PROGRAMMING,TB2 RECLINE/POWER FOOT PLATFORM,(CONF. #11) | 1
[ ELEASMB7110043 | NE+ AM2 MODULE (FW 1.16),W/ PROGRAMMING, TB2 RECLINE/ELEVATE,(CONF. #14) 1
m/n ELEASMB7110040 | NE+ AM2 MODULE (FW 1.16),W/PROGRAMMING, TB2 TILT/RECLINE,(CONF. #28) 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:22 UTC 2020

66




AM1/ AM2, Harnesses and Hardware —
PRIDE

3.1. Curtis thru AM1/AM2 Assy's

TILT OR RECLINE TILT AND RECL RECLINE AND AFP/ ELEVATE | TILT AND AFP/ ELEVATE
=N RECLINE ====:~\ AG or Al1 B =
3 TILT : F

Manual Recline Inhibit
i O

INE
—_ /8

AGTUATOR E -
AG or A11 e s

=

JOYSTICK (| JovsTiok iy JOYSTICK (| ]
: AM2 : AM2
& &

ARTICULATING FOOT PLATFORM

(RECLINE ONLY)

TO POWER BASE

&

Recline Actuator

(TILT CONFIGURATIONS)
@ P

Master Assembly Parts are not pickable from table, please use parts list o select
Tilt (AM1) and... Before 1212 | After1/2/12 _|A1]A2]|A3]A4]A5|A6[A7]A8]A9]A10[A11]A12]A13]A14|A15]A16]A17]A18]B1[B2]
R4000/ Q614, No Pressure Switches| ELEASMB7110169 | ELEASMB7102 1 2 1
R4000/ Q614 w/ Pressure Switches | ELEASMB7110165 | ELEASMB6574 | 2 1 2 1
Man. Recline w/ Pressure Switches | ELEASMB7110161 | ELEASMBB036 | 2 1{1]1 2 1
Man. Recline, No Pressure Switches E_LEASMB?1101 66 | ELEASMB7100 11111 2 1
No Pressure Switches ELEASMB7110163 | ELEASMBES73 1 2 1
Pressure Switches ELEASMB7110158 | ELEASMBE035 [ 2 [ 1| 1 2 1
Tilt (AM2) and... Before 1/2/12 After 1/2/12 | A1|A2|A3[A4 A5|A6|A7|AB|A9|AT0[ATIAT2|A13A14|A15|A16/A17|A18|B1 |B2
AFP. No Pressure Switches ELEASMB7110168 | ELEASMB7101 1 1 [1]5]1 211 1 11[1
AFP with Pressure Switches ELEASMB7110162 | ELEASMB6429 | 2 | 1 | 1 bl s 10 =] B 211 111]1
Elevate ELEASMB7110171 | ELEASMB7159 1 Sl1f{1]114]11]2 1
R44 AFP, No Pressure Switches N/A ELE121679 1 1111511 211 i I ]
Recline and.. Before 1/2/12 After 1/2/12  |A1]A2|A3|A4|A5|A6|A7|AB|A9|AT0[AT1|A12]A13[A14|A15|A16/A17|A18|B1|B2
| Recline Only (AM1) ELEASMB7110176 | ELEASMBE640 1 511 2 1
Articulating Foot Platform (AM2) ELEASMB7110178 | ELEASMB6641 1 1111511 2 1 1 1 AT
Elevate (AM2) ELEASMB7110179 | ELEASMB7160 1 51414 114]11]2 1
Tilt, Recline, and... Before 1/2/12 After 1/212 |A1|A2|A3|A4|A5|AG|A7|A8|AS|A10|AT1|A12|A13]A14]A15/A16{A17|A18|B1|B2
Pressure Switches (AM2) ELEASMB7110172 | ELEASMBE639[ 2|1 [ 1 511 2 ]
No Pressure Swilches (AM2) ELEASMB7110174 | ELEASMB7103 1 511 2 1

The numbers within the table represent the quantity of each harness for each configuration.

TB2 Electronics IPB

67

Export Date: Tue Sep 08 03:06:22 UTC 2020



AM1/ AM2, Harnesses and Hardware

PRIDC
Item Part No. Name Qty
A1 DWR1265H001 ELECTRONIC,SWITCH,PRESSURE,ANTI-PINCH,TB2 TILT 2
A2 DWR1265H004 HARNESS,"Y", ANTI-PINCH SWITCH,TB2 TILT 1
A3 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE H-1111-047,(CURTIS:17881302) 1
A4 ELE142519 HARNESS,COMBINATION,INHIBIT, MANUAL TILT,ROHS 1
A5 CLPCBLC1025 CLAMP,CABLE,STEEL,0.50" DIA,RUBBER COATED 1
A6 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A7 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 1
*A8 PLSTIE1004 TIE WRAP,BLACK,8" 5
*A9 ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 1
A10 DWR1265H016 ELECTRONIC,HARNESS,POWER SEAT INHIBIT,CURTIS, TRUBALANCE TILT 2,H-1265-016 1
A11 DWR1265H017 ELECTRONIC,HARNESS,POWER SEAT, TRU-BALANCE TILT 2,H-1265-017 1
A12 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 1
A13 SWTMAGN1001 ELECTRONIC,SWITCH,HERMETIC,PRX +8100 1
A14 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
A15 NUT8120005 NUT,T-SLOT,BLACK,M8-1.25 1
A16 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 1
A17 SCRHHCS1382 SCREW,HHCS,BLACK ZINC CHROMATE,M8-1.25 X 12MM,10.9 1
A18 MEC138637 BRACKET,STRAIN RELIEF,AM1 1
B1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 1
B2 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:22 UTC 2020

68




AM1/ AM2 Attendant Control and Recline Plastics

uuuuuuuu

3.1. Curtis thru AM1/AM2 Assy's

g

To Seating Module

TB2 Electronics IPB

69

Export Date: Tue Sep 08 03:06:22 UTC 2020



AM1/ AM2 Attendant Control and Recline Plastics

PRIDE
Item Part No. Name Qty
Al PLSASMB2069 PLASTIC,ASSY,CURTIS/AAM, TRU-BALANCE 2 POWER RECLINE 1
*B1-C1 ELEASMB6642 ASSY,NE+ATTENDANT CONTROL MODULE,W/BRACKET & HARDWARE 1
B1 CTL137822 CONTROLLER ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
B2 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
B3 DWR1010D298 MOUNTING BRACKET ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
B4 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
B5 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 2
c1 FRMASMB10455 MOUNTING BRACKET,ASSY, ATTENDANT CONTROL,C-1010-285 1
D1 BRK8110019 MULTIPLIER L-BRACKET,TRU-BALANCE 2 POWER RECLINE 1
D2 SCRPPH1379 SCREW,PPH,BLACK ZINC,8-32 X 0.375" 2

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:22 UTC 2020
70




TB2 Tilt and Recline, AAM Master Assembly, After 1/2/12 __J
PRIDCE

3.2. Curtis thru AAM Tilt & Recline Assy's

e[r]a]n]i]i]

wel ] wal) w-
=1

Igkig

o

2
L]
858

ol 555

(8

M

The Run Plug is not neccessary for
modules manufactured after June 7, 2012.

88 CURTIS, Tilt and Recline... [Master Assembly* JAA AAM Module A
ah
..w/ Pressure Switches (and...) ELEASﬂ'IBSSGS ELEASMB5636
B1 bii
(Quantum R4000, 614) ELEASMB5825 | ELEASMB5822
Independent L - 4
LRl ELEASMB5505 | ELEASMB5637
D1 dik
Independent Legs (R4000, 614) | p Fagyipsgos | ELEASMBSS23
Combined L & 2
Qbinec Eegs ELEASMB5506 | ELEASMB5638
. F1 fim
Combined Legs (R4000,614) || ¢ raqupsg7 | ELEASMBS824
_ T— Gi n
Actuator Module Articulating Foot Platform AL REEe ELEASQM Sesad
A Replacement A _ 1 ah
..w/ No Pressure Switches (and...) ELEASMB7110 ELEASMB5636
Modules shown here are m o
ONLY compatible with (ERmntum R0 614) ELEASMB7114 | ELEASMB5822
units manufactured J1 clj
Independent Legs
AFTER January 2, 2012. ELEASKh:BHﬂ ELEASdI':rﬁkBSGS?
Independent Legs (R4000, 614) | & cagmp7115 | ELEASMBSS23
L1 ell
*Master assemblies contain harnesses Combined Legs
and hardware components not shown. ELEASMMBH i) ELEA?MBSG?’B
Reference component pages for . 1 im
illustrations and parts lists with the Combined L.ogs (FH000, 814) ELEASMB7116 | ELEASMB5824
Master Assembly part number in the i i N1 a/n
table. Articulating Foot Platform ELEASMB7113 | ELEASMBS5639
Lower case letters designate . " o1 o
AAM modules in assemblies with Articulaling Foot Platiorm, R44 ELE121672 ELE121673
the matching upper case letter. ] P1 p
W/ Elevating Seat (and...) ELEASMB5504 | ELEASMBS5640
a1 q
Independent Legs ELEASMB5507 | ELEASMBS641
3 R1 Ti
Combined Legs ELEASMB5508 | ELEASMB5642
; ; S1 s
Articulating Foot Platform ELEASMB5607 | ELEASMBS5643
Master Assembly® A AAM Module A

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:23 UTC 2020

4l



TB2 Tilt and Recline, AAM Master Assembly, After 1/2/12

PRIDC
Item Part No. Name Qty

A1 ELEASMB5503 CURTIS/AAM, TILT/RECLINE,W/PRESSURE SWITCH,(CONFIG. #28) 1

B1 ELEASMB5825 CURTIS/AAM, TILT/RECLINE,R4000/Q614,W/PRESSURE SWITCH,(CONFIG. #28) 1

C1 ELEASMB5505 CURTIS/AAM, TILT/RECLINE/IND. LEGS,SYNC. RECLINE W/ IND. CONTROLLED IND. 1
LEGS,W/PRESSURE SWITCH,(CONFIG. #29)

D1 ELEASMB5826 CURTIS/AAM, TILT/RECLINE/IND. LEGS,SYNC. RECLINE W/IND.CONTROLLED IND. 1
LEGS,R4000/Q614,W/PRESSURE SWITCH,(CONFIG. #29)

E1 ELEASMB5506 CURTIS/AAM, TILT/RECLINE/COMBINED LEGS,SYNC.RECLINE W/ IND. CONTROLLED COMBINED 1
LEGS,W/PRESSURE SWITCH,(CONFIG. #30)

F1 ELEASMB5827 CURTIS/AAM, TILT/RECLINE/COMBINED LEGS,SYNC. RECLINE W/ IND. CONTROLLED COMBINED 1
LEGS,R4000/Q614,W/PRESSURE SWITCH,(CONFIG. #30)

G1 ELEASMB5606 CURTIS/AAM, TILT/RECLINE/AFP,SYNC. RECLINE W/IND.CONTROLLED AFP,(CONFIG. #31) 1

H1 ELEASMB7110 CURTIS/AAM, TILT/RECLINE,W/O PRESSURE SWITCH,(CONFIG. #28) 1

f ELEASMB7114 CURTIS/AAM, TILT/RECLINE,R4000/Q614,(CONFIG. #28) 1

J1 ELEASMB7111 CURTIS/AAM, TILT/RECLINE/IND. LEGS,SYNC. RECLINE W/IND.CONTROLLED IND. LEGS,W/O 1
PRESSURE SWITCH,(CONFIG. #29)

K1 ELEASMB7115 CURTIS/AAM, TILT/RECLINE/IND. LEGS,SYNC. RECLINE W/ IND.CONTROLLED IND. 1
LEGS,R4000/Q614,(CONFIG. #29)

L1 ELEASMB7112 CURTIS/AAM, TILT/RECLINE/COMBINED LEGS,SYNC. RECLINE W/IND. CONTROLLED COMBINED 1
LEGS,W/O PRESSURE SWITCH,(CONFIG. #30)

M1 ELEASMB7116 CURTIS/AAM, TILT/RECLINE/COMBINED LEGS,SYNC.RECLINE W/IND. CONTROLLED COMBINED 1
LEGS,R4000/Q614,(CONFIG. #30)

N1 ELEASMB7113 CURTIS/AAM, TILT/RECLINE/AFP,SYNC. RECLINE W/ IND.CONTROLLED AFP,W/O PRESSURE 1
SWITCH,(CONFIG. #31)

01 ELE121672 CURTIS/AAM, TILT/RECLINE/AFP,SYNCH. RECLINE W/IND.CONTROLLED AFP,W/ATTENDANT 1
CONTROL,45°,(CONFIG. #31)

P1 ELEASMB5504 CURTIS/AAM, TILT/RECLINE/ELEVATE,(CONFIG. #34) 1

Q1 ELEASMB5507 CURTIS/AAM, TILT/RECLINE/ELEVATE/IND. LEGS,SYNC. RECLINE W/IND. CONTROLLED IND. 1
LEGS,(CONFIG. #35)

R1 ELEASMB5508 CURTIS/AAM, TILT/RECLINE/ELEVATE/COMBINED LEGS,SYNC.RECLINE W/IND. CONTROLLED 1
COMBINED LEGS,(CONFIG. #36)

S1 ELEASMB5607 CURTIS/AAM, TILT/RECLINE/ELEVATE/AFP,SYNC. RECLINE W/ IND.CONTROLLED AFP,(CONFIG. #37) | 1

a/h ELEASMB5636 AAM,TILT & RECLINE,(CONFIG #28) 1

bii ELEASMB5822 AAM, TILT/RECLINE,R4000,(CONFIG. #28) 1

clj ELEASMB5637 AAM,TILT & RECLINE W/INDEPENDENT LEGS,(CONFIG #29) 1

d/k ELEASMB5823 AAM, TILT/RECLINE/INDEPENDENT LEGS,R4000,(CONFIG. #29) 1

ell ELEASMB5638 AAM,TILT & RECLINE W/COMBINED LEGS,(CONFIG #30) 1

fim ELEASMB5824 AAM, TILT/RECLINE/COMBINED LEGS,R4000,(CONFIG. #30) 1

g/n ELEASMB5639 AAM,TILT & RECLINE W/AFP,(CONFIG #31) 1

o ELE121673 AAM, TILT/RECLINE/AFP,45° (CONFIG. #31) 1

p ELEASMB5640 AAM, TILT/RECLINE/ELEVATE (CONFIG. #34) 1

q ELEASMB5641 AAM, TILT/RECLINE/ELEVATE, INDEPENDENT LEGS (CONFIG. #35) 1

r ELEASMB5642 AAM,LIFT,TILT, & RECLINE W/COMBINED LEGS,(CONFIG #36) 1

s ELEASMB5643 AAM,LIFT,TILT, & RECLINE W/AFP,(CONFIG #37) 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:23 UTC 2020

72




TB2 Tilt and Recline, AAM Master Assembly, After 1/2/12

PRIDE

Actuator Module

A Replacement A

Modules shown here are
ONLY compatible with
units manufactured
AFTER January 2, 2012.

‘Master assemblies contain harnesses
and hardware components not shown.
Reference component pages for
illustrations and parts lists with the
Master Assembly part number in the
table.

Lower case letters designate
AAM modules in assemblies with
the matching upper case letter.

1

mr

L] wel | wal ] wal ]
O E’n E'I‘E g8 - g “E

CURTIS, Tilt and Recline...

RUN PLUG
LOCATION

The Run Plug is not neccessary for
modules manufactured after June 7, 2012.

Master Assembly” A AAM Module A

Al ah
..w/ Pressure Switches (and...) ELEASMB5503 | ELEASMB5636
Quantum R4000, 614 el o
(Quantum »614) ELEASMB5825 | ELEASMB5822
Independent L. - i
ndependent Legs ELEASMB5505 | ELEASMB5637
D1 dik
Independent Legs (4000, 614) | £ pagmBsgos | ELEASMB5823
. E1 ell
Combined Legs ELEASMB5506 | ELEASMB5638
] F1 fim
Combined Legs (R4000, 614) ELEASMB5827 | ELEASMB5824
. . G1 ’rn
Articulating Foot Platiorm ELEASMB5606 | ELEASMBS639
H1 ah
.w/ No Pressure Switches (and...) ELEASMB7110 | ELEASMB5636
1 bfi
(Quantum R4000, 614) ELEASMB7114 | ELEASMB5822
| t L . o
ndependent Legs ELEASMB7111 | ELEASMB5637
Ki dik
Independent Legs (R4000, 614) [ g eagmB7115 | ELEASMBS823
Combined L. o o
ombined Legs ELEASMB7112 | ELEASMB5638
. M1 fim
Combined Legs (R4000, 614) ELEASMB7116 | ELEASMB5824
— N1 gin
Articulating Foot Platform ELEASMB7113 | ELEASMB5639
Articulating Foot Platform, R44 ELE?; 1672 ELE10216?3
/ Elevating Seat (and # 7
..w/ Elevating Seat (and...) ELEASMB5504 | ELEASMB5640
Qi q
Independent Legs ELEASMB5507 | ELEASMB5641
: R1 r
Combined Legs ELEASMB5508 | ELEASMB5642
. . S1 S
Articulating Foot Platform ELEASMB5607 | ELEASMB5643
Master Assembly* [[AAAM Module A

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:23 UTC 2020
73




TB2 Tilt and Recline, AAM Master Assembly, After 1/2/12

PRIDC
Item Part No. Name Qty
T DWR1361H030 ELECTRONIC,HARNESS,RUN PLUG,MALE,MERCURY SWITCH,SWITCH-IT CONTROLLER,H-1361-030 | 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:23 UTC 2020
74




TB2 Tilt and Recline, AAM Master Assembly, Before 1/2/12 “_Jd
PRIDCE

3.2. Curtis thru AAM Tilt & Recline Assy's

e f
k |
P q r

weel ] wold welll well] meall o
__.__ ~EE
A.‘: I B Y] a w2 fafm a5 _

RUN PLUG
LOCATION

CURTIS, Tilt and Recline... Master Assembly* éAAM Module A_
: Al alh
-.w/ Pressure Switches (and...)
ELEASMB7110222 | ELEASMB?110068
B1 b/i
tum R 14
Suanur R0 014) ELEASMBY110226 ELEASMB7110076
1
Independent Legs < l
ELEASMB7110223 ELEASMB7110070
D1
Independent Legs (R4000, 614) dlk
ELEASMB7110228 ELEASMB?7110078
Combined Legs 2 el
ELEASMB7110224 ELEASMB7110072
Combined Legs (R4000, 614) £ b
i ELEASMB7110230 ELEASMB?110080
Actuator Module - —
Articulating Foot Platform
A Re P lacement A g ELEASMB7110225 ELEASMB7110074
. H1 a/h
Modules shown here are SWiNoTrseas SWtchas o) ELEASMB7110232 ELEASMB7110068
ONLY compatible with S — I b/
un |tS man UfaCtU red ! ELEASMB7110227 ELEASMB7110076
AFTER January 2, 2012. Independent L 1 ol
¥re, neopenpent togs ELEASMB7110233 ELEASMB7110070
K1 dik
Independent Legs (R4000, 614) "
. : EASMB7110229  I__ELEASMB7110078 |
*Master assemblies contain harnesses B
: ell
and hardware components not shown. Combined Legs
Reference component pages for ELEASMBT7110234 ELEASMB7110072
i i i i M1 il
illustrations and parts lists wm; the Combined Legs (R4000, 614) m
Master Assembly part number in the ELEASMB7110231 ELEASMB7110080
table. N1
Articulating Foot Platform gin
Lower case letters designate L ELEASMB7110074 |
AAM modules in assemblies with vl Elevaing Sest (anct-} o1 o
the matching upper case letter. ELEASMBY7110250 | ELEASMB7110082 |
P1 p
[ t L
ndependent Legs ELEASMB7110251 ELEASMB7110084
a1 q
Combined Legs
o ELEASMB7110252 | 711
R1 r
Articulating Foot Platform
ELEASMB7110253 ELEASMB7110088
Master Assembly* A AAM Module A

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:24 UTC 2020

75



TB2 Tilt and Recline, AAM Master Assembly, Before 1/2/12

PRIDC
Item Part No. Name Qty

A1 ELEASMB7110222 | CURTIS/AAM(FW 1.45), TILT/RECLINE,W/PRESSURE SWITCH,(CONFIG. #28) 1

B1 ELEASMB7110226 | CURTIS/AAM(FW 1.45), TILT/RECLINE,R4000/Q614,W/PRESSURE SWITCH,(CONFIG. #28) 1

c1 ELEASMB7110223 | CURTIS/AAM(FW 1.45), TILT/RECLINE/IND. LEGS,SYNC. RECLINE W/ IND. CONTROLLED IND. 1
LEGS,W/PRESSURE SWITCH,(CONFIG. #29)

D1 ELEASMB7110228 | CURTIS/AAM(FW 1.45), TILT/RECLINE/IND. LEGS,SYNC. RECLINE W/IND. CONTROLLED IND. 1
LEGS,R4000/Q614,W/ PRESSURE SWITCH,(CONFIG. #29)

E1 ELEASMB7110224 | CURTIS/AAM(FW 1.45), TILT/RECLINE/COMBINED LEGS,SYNC.RECLINE W/ IND. CONTROLLED 1
COMBINED LEGS,W/PRESSURE SWITCH,(CONFIG. #30)

F1 ELEASMB7110230 | CURTIS/AAM(FW 1.45), TILT/RECLINE/COMBINED LEGS,SYNC.RECLINE W/ IND. CONTROLLED 1
COMBINED LEGS,R4000/Q614, W/PRESSURE SWITCH,(CONFIG. #30)

G1 ELEASMB7110225 | CURTIS/AAM(FW 1.45), TILT/RECLINE/AFP,SYNC. RECLINE W/IND.CONTROLLED AFP,(CONFIG. #31) 1

H1 ELEASMB7110232 | CURTIS/AAM(FW 1.45), TILT/RECLINE,W/O PRESSURE SWITCH,(CONFIG. #28) 1

" ELEASMB7110227 | CURTIS/AAM(FW 1.45), TILT/RECLINE,R4000/Q614,(CONFIG. #28) 1

J1 ELEASMB7110233 | CURTIS/AAM(FW 1.45), TILT/RECLINE/IND. LEGS,SYNC. RECLINE W/IND. CONTROLLED IND. LEGS,W/O | 1
PRESSURE SWITCH,(CONFIG #29)

K1 ELEASMB7110229 | CURTIS/AAM(FW 1.45), TILT/RECLINE/IND. LEGS,SYNC. RECLINE W/ IND. CONTROLLED IND. 1
LEGS,R4000/Q614,(CONFIG. #29)

L1 ELEASMB7110234 | CURTIS/AAM(FW 1.45), TILT/RECLINE/COMBINED LEGS,SYNC.RECLINE W/ IND. CONTROLLED 1
COMBINED LEGS,W/O PRESSURE SWITCH,(CONFIG. #30)

M1 ELEASMB7110231 | CURTIS/AAM(FW 1.45), TILT/RECLINE/COMBINED LEGS,SYNC.RECLINE W/ IND. CONTROLLED 1
COMBINED LEGS,R4000/Q614,(CONFIG. #30)

N1 ELEASMB7110235 | CURTIS/AAM(FW 1.45), TILT/RECLINE/AFP,SYNC. RECLINE W/ IND.CONTROLLED AFP,W/O PRESSURE | 1
SWITCH,(CONFIG. #31)

o1 ELEASMB7110250 | CURTIS/AAM(FW 1.45), TILT/RECLINE/ELEVATE,(CONFIG. #34) 1

P1 ELEASMB7110251 | CURTIS/AAM(FW 1.45), TILT/RECLINE/ELEVATE/IND. LEGS, SYNC.RECLINE W/IND. CONTROLLED IND. | 1
LEGS,(CONFIG. #35)

Q1 ELEASMB7110252 | CURTIS/AAM(FW 1.45), TILT/RECLINE/ELEVATE/COMBINED LEGS,SYNC. RECLINE W/IND. 1
CONTROLLED COMBINED LEGS,(CONFIG. #36)

R1 ELEASMB7110253 | CURTIS/AAM(FW 1.45), TILT/RECLINE/ELEVATE/AFP,SYNC. RECLINE W/ IND. CONTROLLED 1
AFP,(CONFIG. #37)

a/h ELEASMB7110068 | AAM(FW 1.45), TILT/RECLINE,(CONFIG. #28) 1

bli ELEASMB7110076 | AAM(FW 1.45), TILT/RECLINE,R4000,(CONFIG. #28) 1

clj ELEASMB7110070 | AAM(FW 1.45), TILT/RECLINE/IND. LEGS,(CONFIG. #29) 1

d/k ELEASMB7110078 | AAM(FW 1.45), TILT/RECLINE/IND. LEGS,R4000,(CONFIG. #29) 1

ell ELEASMB7110072 | AAM(FW 1.45), TILT/RECLINE/COMBINED LEGS,(CONFIG. #30) 1

fim ELEASMB7110080 | AAM(FW 1.45), TILT/RECLINE/COMBINED LEGS,R4000,(CONFIG. #30) 1

g/n ELEASMB7110074 | AAM(FW 1.45), TILT/RECLINE/AFP,(CONFIG. #31) 1

o ELEASMB7110082 | AAM(FW 1.45), TILT/RECLINE/ELEVATE,(CONFIG. #34) 1

p ELEASMB7110084 | AAM(FW 1.45), TILT/RECLINE/ELEVATE/IND. LEGS,(CONFIG. #35) 1

q ELEASMB7110086 | AAM(FW 1.45), TILT/RECLINE/ELEVATE/COMBINED LEGS,(CONFIG #36) 1

r ELEASMB7110088 | AAM(FW 1.45), TILT/RECLINE/ELEVATE/AFP,(CONFIG. #37) 1

S1 DWR1361H030 ELECTRONIC,HARNESS,RUN PLUG,MALE,MERCURY SWITCH,SWITCH-IT CONTROLLER,H-1361-030 | 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:24 UTC 2020

76




TB2 Tilt and Recline, AAM, Harnesses

PRIDE

3.2. Curtis thru AAM Tilt & Recline Assy's

INDEPENDENT LEGS

Joystick

rom

wa[]
B8

At

To Power Base

Al

From Multiplier

Master Assembly

- 2nd Re = Before 1/2/12 After 172712 Al A2 A3 Ad A5 AB AT A8 A9 | A10 | A1
w/ Pressure Switches (and) ELEASMB7110222 | ELEASMB5503 | 1 1 1 2 1

Tilt & Recline Only* ELEASMB7110226 | ELEASMB5825 1 1 1 2 1

Independent Legs ELEASMB7110223 | ELEASMB5505 1 1 1 2 1 1 1

Independent Legs* ELEASMB7110228 | ELEASMB5826 | 1 1 1 2 1 1 1

Combined Legs ELEASMB7110224 | ELEASMB5506 | 1 1 1 2 1 1

Combined Legs* ELEASMB7110230 | ELEASMB5827 | 1 1 1 2 1 1

AFP ELEASMB7110225 | ELEASMB5606 | 1 | 1 | 1 | 2 | 1 1

w/ Mo Pressure Switches (and) | ELEASMB7110232 | ELEASMB7110 | 1 1 1

(Tilt and Recline Only*) ELEASMB7110227 | ELEASMB7114 | 1 1 1

Independent Legs ELEASMB7110223 | ELEASMB7111 1 1 1 1 1

Independent Legs” ELEASMB7110229 | ELEASMB7115 1 1 1 1 1

Combined Legs ELEASMB7110234 | ELEASMB7112 | 1 1 1 1

Combined Legs* ELEASMB7110231 | ELEASMB7116 | 1 1 1 1

AFP ELEASMB7110235 | ELEASMB7113 | 1 1 1 1

AFP, R44 N/A ELE121672 1 1 1 1
w/ Elevating Seat (and) ELEASMB7110250 | ELEASMB5504 | 1 1 1 1 1 1

Independent Legs ELEASMB7110251 | ELEASMB5507 1 1 1 1 1 1 1 1

Combined Legs ELEASMB7110252 | ELEASMB5508 | 1 1 1 1 1 1 1

AFP ELEASMB7110253 | ELEASMB5607 1 1 1 1 1 1 1
*Specific to Quantum R4000 and Al | A2 | A3 | A4 | A5 | A6 | A7 | AB | A9 | A10 | A11
Quantum 614.

The numbers within the table represent the quantity of each harness for each configuration.

TB2 Electronics IPB

77

Export Date: Tue Sep 08 03:06:25 UTC 2020



TB2 Tilt and Recline, AAM, Harnesses

PRIDC
Item Part No. Name Qty
A1 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE H-1111-047,(CURTIS:17881302) 1
A2 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
A3 CTL137822 CONTROLLER,ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
A4 DWR1265H001 ELECTRONIC,SWITCH,PRESSURE,ANTI-PINCH,TB2 TILT 2
A5 DWR1265H004 HARNESS,"Y", ANTI-PINCH SWITCH,TB2 TILT 1
A6 DWR1265H006 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,LEFT,H-1265-006 1
A7 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A8 DWR1265H005 ELECTRONIC,HARNESS,COMBINED ELR,CURTIS, TRU-BALANCE TILT 2,H-1265-005 1
A9 DWR1265H016 ELECTRONIC,HARNESS,POWER SEAT INHIBIT,CURTIS, TRUBALANCE TILT 2,H-1265-016 1
A10 DWR1265H017 ELECTRONIC,HARNESS,POWER SEAT, TRU-BALANCE TILT 2,H-1265-017 1
A11 SWTMAGN1001 ELECTRONIC,SWITCH,HERMETIC,PRX +8100 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:25 UTC 2020
78




TB2 Tilt and Recline, AAM, Hardware

PRIDE
3.2. Curtis thru AAM Tilt & Recline Assy's
INDEPENDENT LEGS
Plastic Cover Assembly
ARTICULATING FOOT PLATFORM
Please Note: ltems B1 and C1 are
included with the Master Assembly .
Master Assembly

CURTIS. Tilt & Recline.. Befors 112112 After 172112 Al | A2 | A3 | A4 | A5 | A6 | AT | AB| A9 |A10|A11[A12|A13|A14]| A15]|A16| BT | C1
w/ Pressure Switches (&) ELEASMB7110222 |ELEASMB5503 | 2 | 10| 1 2 114 ]2 211 2715 1
Tilt and Recline Only* ELEASMB7110226 |ELEASMBS825 | 2 |10 1 [ 2|14 ]2 ] 211 sl 47
Independent Legs ELEASMB7110223 |[ELEASMBS505 | 2 |10 1 |2 |1 |4 |2 2|12 ]|2]|2]|2[2]2]2]1]1
Independent Legs” ELEASMB7110228 |[ELEASMBS5826 | 2 (10| 1 211|412 211 2 212|222 211 1
Combined Legs ELEASMB7110224 |ELEASMBS5506 | 2 | 10 | 1 2 1 4 2 211 2 2] 2 2 2 2 2 1 1
Combined Legs* ELEASMB7110230 |ELEASMBS827 | 2 | 10| 1 21114 212l jl2l2l2]2|2]212111]1
AFP ELEASMB7110225 |ELEASMBS606 | 2 | 10| 1 2 1] 4 2 211 1 1 1 2 1 1

w/ No Pressure Switches (&) |ELEASMB7110232 | ELEASMB7110 F T S 2 1 | 4 2 2|l g 1 1
Tilt and Recline Only* ELEASMB7110227 |ELEASMB7114 | 2 |10 ]| 1 [ 2 [ 1 |4 |2 | 2| 1 21111
Independent Legs ELEASMB7110223 |ELEASMB7111 | 2 | 10| 1 2 11412 2 1 2 212 2 2 2 2 1 1
Independent Legs® ELEASMB7110229 |[ELEASMB7115 ] 2 | 10 ] 1 2 1 4 2 2 1 2 212 2 2 2 2 1 1
Combined Legs ELEASMB7110234 |ELEASMB7112 | 2 10| 1 | 2 | 1 |4 [ 2 |2 |1 |2 |2 |2 |2 |2]2]|2]1]1
Combined Legs® ELEASMB7110231 |[ELEASMB7T116 | 2 |10 ] 1 2 1 4 2 2 1 2 2 2 2 2 2 2 1 1
AFP ELEASMB7110235 |ELEASMB7113 | 2 | 10| 1 2 11412 211 1 1 1 2 1 1
AFP, R44 N/A ELE121672 2 1101 1 2 1 4 2 2 1 1 1 1 2 1 1

w/ Elevating Seat (& ELEASMB7110250 |ELEASMBS504 | 2 | 10| 1 2 1|4 2__2 1 Bl 1
ELEASMBT110251 |ELEASMBS507 | 2 | 10 ] 1 2 1 4 | 2 2 1 2 212 2 2 2 5] 1 1

Combined Legs ELEASMB7110252 [ELEASMBSS08 | 2 [ 10| 1 | 2 | 1 |4 [2 |2 ]| 1122 [|2 |2 [2]2([6][1]1
AFP ELEASMB7110253 |ELEASMBSE07 | 2 |10 ] 1 2 1 412 2 1 1 1 1 6 1 1

*Specific to Quantum R4000 and

Quantum 614. Al| A2| A3| Ad| A5 | AB | A7 | AB| A9|A10| A11| A12|A13| A14| A15| A16| B1| C1

The numbers within the table represent the guantity of each harness for each configuration.

TB2 Electronics IPB

79

Export Date: Tue Sep 08 03:06:25 UTC 2020



TB2 Tilt and Recline, AAM, Hardware

PRIDC
Item Part No. Name Qty
A1 ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 2
A2 PLSTIE1004 TIE WRAP,BLACK,8" 10
A3 BRK8110019 MULTIPLIER L-BRACKET, TRU-BALANCE 2 POWER RECLINE 1
A4 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
A5 DWR1010D298 MOUNTING BRACKET,ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
A6 TIE WRAP,BLACK, 18 1/2" 4
A7 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
A8 SCRPPH1379 SCREW,PPH,BLACK ZINC,8-32 X 0.375" 2
A9 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
A10 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 2
A11 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 2
A12 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 2
A13 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 2
A14 DWR1360A004 T-NUT,5/16-18 X 0.875",A-1360-004 2
A15 SCRHHCS1256 SCREW,HHCS,BLACK ZINC,5/16-18 X 0.625",GR 8 W/PATCH 2
A16 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 6
B1 PLSASMB2069 PLASTIC,ASSY,CURTIS/AAM, TRU-BALANCE 2 POWER RECLINE 1
c1 FRMASMB10455 MOUNTING BRACKET,ASSY,ATTENDANT CONTROL,C-1010-285 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:25 UTC 2020

80




Remote Plus / Switch-it, Tilt and Recline, Master Assembly and Switch-it Box

3.3. Remote Plus Switch-it Tllt & Recllne Assys

‘-n,

r\/’

l‘,lM \
ﬁ

5 & "- ﬁ

[At]+

a|lb|lc|d|e]|f
glhlil]ij|k]|I
mi|n plq]|r
s|tju|v|w

o—

NG f.

JEBELLO),
pE==g () Bleel @

LIMIT SWITCHES

POWER/ACTUATOR

@

“*The Switch-It Box requires a selection in the
Program column for desired power functions.

*Master assemblies contain harnesses and hardware components, which are not shown.
Hardware components are not available separately; the master assembly must be ordered.
Lower case letters designate Switch-It box programs for assemblies with the matching upper case letter.

Independent Function | Synchronized Function | *Master Assembly” ]| _Switch-It Box™” Program Dip Switch Sefting
i P S ok ELEASMBS310 (orderaA;:rogram} DWFH?H.':?HNS nuuu UUUUWUQ
Recline wi Tilt & Recline ELEASMBS315 | (order :;,ogmm} e oS HUUU Hﬂnﬂﬂﬂuﬂ
sl i imotins ELEASNBSA1S (orderaAr:rogram} OWRt567H0G3 HUDD @DUWUW
Combined Legs (no sync. function) ELEASMBS5314 (mer:;mgmm) " Fﬁﬁgﬁm ﬂﬂﬂﬂ ﬂﬂnnuﬂuu
. CombinedLegs. | mbined Legs ELEASMB5319 | (orqer aA;:rogram) OWR167Ho28 UUUU UUUUUQW
patorm © |7 | c1ensmBs554 | oerapmopam | owntsemor+ | [100H] HIOI00AD]|
Foot latorm. Footpetom 0| ELEASMBSS38 | (oersmmogam) | Owremces | (Toue] |TRHA
. e [ e P
Reclne Tilt& Recline ELEASMBS387 | (e aA;:rogram} Dwmggmozz nuuu Uﬂﬂﬂﬂﬂuﬂ
Independent Legs | (ng sync. function) ELEASMB5385 | (orger aA;,og,am) meggmuoa HQUU —rﬂﬂuwmﬂ
PSP FOU v N WO | N Ty
-
Tit, Combined Legs | Corl | age ELEASMBS38 | (o era program) | owrigg7hoze | (Jome] | 0m.1 el
b [wosmo e | eerswen6s | ersopam | owrosmors | 0BH] | OHOTHGH
Paiorm™ | Foot patim ELANB7105 | crr e pogramy | owrapczs_|(00R8] |00WT000R
- Flevaing Sest(anc.) ELEABNIBSATE (orderaA;:mgram) DWR1367HO10 UUUU @WUQUW
comitiaps_ [woomeinsim) | ccsonesos | o hogun| owiions | 0900] SONROHEE
Goroned Legs Tilt & Recine ELEASMBS316 | (o1ger program) | OWR1367H025 EUUU WUDDHUQ
mﬂi& o Tilt & Combined Legs ELEASMBS317 (Orde,:;mgmm, Dwm;";mzs UUEU EIDUDDEDH
Tilt, Combined Legs giﬂ';:,:d bk ELEASMBS318 (Mer:;wg,am} owmggmoz? ﬂuuu HDUDUHHQ
T e tinaiod) ELEASMBS533 | (orger aA;:rogram) DWRieHO nuuu IUQUWUUU
Foarutg || cuencussss | repmopem | oworens | 0B8] I0OG00EH
?:::ig;g:\?ming Ig;f;l«:li;zﬁting ELEASMBS536 | (5/der aA;:rogram} DWFI‘Ig;?HGZB ‘nﬂuu DﬂUUﬂﬂUﬂ
i Foot pratorm_ 9| ELEASMBSS7 | (e aAr:rogram} OWRI367HOZ7 ‘ﬂﬂﬂu HUUDUHHH
Independent Function | Synchronized Function | Master Assembly” | _Switch-It Box~ Program Dip Switch Setting

Versions
Priorto F:

e

TB2 Electronics IPB

81

Export Date: Tue Sep 08 03:06:26 UTC 2020




Remote Plus / Switch-it, Tilt and Recline, Master Assembly and Switch-it Box

PRIDC
Item Part No. Name Qty
A1 ELECTRONIC,CONTROL BOX,4 ACTUATOR 1
a/h DWR1367H013 DIP SWITCH CONFIG., TILT/RECLINE 1
bli DWR1367H022 DIP SWITCH CONFIG.,SYNCH. TILT & RECLINE,W/IND. RECLINE 1
clj DWR1367H003 DIP SWITCH CONFIG., TILT/RECLINE/IND. LEGS 1
d/ffk/m DWR1367H014 DIP SWITCH CONFIG., TILT/RECLINE/COMBINED LEGS 1
elgllin DWR1367H028 DIP SWITCH CONFIG.,SYNCH. RECLINE & COMBINED LEGS,W/ IND. TILT & COMBINED LEGS 1
o DWR1367H010 DIP SWITCH CONFIG., TILT/RECLINE/ELEVATE 1
pit DWR1367H002 DIP SWITCH CONFIG., TILT/RECLINE/ELEVATE/COMB. LEGS 1
qlu DWR1367H025 DIP SWITCH CONFIG.,SYNCH. TILT & RECLINE,W/ IND. RECLINE,ELEVATE & COMBINED LEGS 1
riv DWR1367H026 DIP SWITCH CONFIG.,SYNCH. TILT & COMBINED LEGS,W/IND. RECLINE,ELEVATE & COMBINED LEGS | 1
siw DWR1367H027 DIP SWITCH CONFIG.,SYNCH. RECLINE & COMBINED LEGS,W/IND. TILT,ELEVATE & COMBINED LEGS | 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:26 UTC 2020
82




Remote Plus / Switch-it, Tilt and Recline Harnesses

PRIDE
3.3. Remote Plus Switch-it Tilt & Recline Assy's
TR B
iy %_J  TOCONTROLLER

=
—AIL&S_E.__; 5
AGIAB = J—
—T”-TE___ ;. 1
E
RECLINE R
—@--' e

§

AS

|
TO POWER BASE

CONTROLLER
o,

o
Iu] u
=

TO POWER BASE

chronized Function
... w/ Pressure Switches and... ELEASMB5310] 1 1 1 2
Recline Tilt & Recline ELEASMBS5315| 1 1 1 2
Independent Legs ELEASMBS313| 1 1 1 1 1 2
Combined Legs ELEASMBS314| 1 1 1 1 2
Tilt, Combined Legs |Recline & CL ELEASMBS5319| 1 1 1 1 2
AFP ELEASMBS534| 1 i) 1 1 2
Tilt, AFP Recline & AFP ELEASMBS5538| 1 1 1 1 2
... w/ No Pressure Switches and... ELEASMB5384| 1 1 1
Recline Tilt & Recline ELEASMBS387| 1 1 1
Independent Legs ELEASMBS5385| 1 1 1 1 1
Combined Legs ELEASMB5386| 1 1 1 1
Tilt, Combined Legs |Recline & CL ELEASMB5388| 1 1 1 1
... w/ Elevating Seat and... ELEASMBS5311 1 1 1 1
Combined Legs ELEASMB5312 1 1 1 1 1
Recline, CL Tilt & Recline ELEASMBS5316 1 1 1 1 1
Recline, CL Tilt & Combined Legs |ELEASMB5317 1 1 1 1 i)
Tilt, Combined Legs [Recline, CL ELEASMB5318 1 1 1 1 1
AFP ELEASMB5533 1 1 1 1 1
Recline, AFP Tilt & Recline ELEASMB5535 1 1 1 1 1
Recline, AFP Tilt & AFP ELEASMBS5536 1 1 1 1 1
Tilt, AFP = Recline & AFP ELEASMB5537 1 1 1 1 1
Independent Function | Synchronized Function
Note CL: Combined Legs, IL: Independent Legs Al [ A2 | A3 A [ A5 | A6 | A7 | AB | A9 | A10

AFP: Ariculating Foot Platform

The numbers within the table represent the
quantity of each harness for each configuration.

TB2 Electronics IPB

83

Export Date: Tue Sep 08 03:06:26 UTC 2020



Remote Plus / Switch-it, Tilt and Recline Harnesses

PRIDE
Item Part No. Name Qty
Al HARNESS,RUN PLUG,DYNAMIC,SENSOR 1
A2 HARNESS,POWER OPTIONS INHIBIT,TB2 TILT 1
A3 HARNESS,POWER OPTIONS INHIBIT,INDEPENDENT ELR, TB2 TILT 1
A4 SWTMAGN1001 ELECTRONIC,SWITCH,HERMETIC,PRX +8100 1
A5 ELECTRONIC,HARNESS,1.16 LONG,REDEL CABLE, REMOTE PLUS,JOYSTICK TO TRAY,H-1010-049 1
A6 DWR1265H017 ELECTRONIC,HARNESS,POWER SEAT, TRU-BALANCE TILT 2,H-1265-017 1
A7 DWR1265H005 ELECTRONIC,HARNESS,COMBINED ELR,CURTIS, TRU-BALANCE TILT 2,H-1265-005 1
A8 DWR1265H006 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,LEFT,H-1265-006 1
A9 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A10 DWR1265H001 ELECTRONIC,SWITCH,PRESSURE,ANTI-PINCH,TB2 TILT 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:26 UTC 2020
84




Remote Plus / Switch-it, Tilt and Recline Hardware

nnnnnnnn

3.3. Remote Plus Switch-it Tilt & Recline Assy's

INDEPENDENT LEGS

[ ]
@
)

A
- |
@ ) T
N T N

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:27 UTC 2020
85



Remote Plus / Switch-it, Tilt and

Recline, Attendant Control Hardware

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:27 UTC 2020
86



Remote Plus / Switch-it, Tilt and Recline, Attendant Control Hardware

uuuuuuuu

3.3. Remote Plus Switch-it Tilt & Recline Assy's

TB2 Electronics IPB

87

Export Date: Tue Sep 08 03:06:27 UTC 2020



TB2 Electronics, Shark, VSI,

VR2 Harnesses and Pressure Pads

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:27 UTC 2020
88



TB2 Electronics, Shark, VSI, VR2 Harnesses and Pressure Pads

PRIDE

3.4. Dynamic Shark/ PG Drives VS| & VR2 Assy's

out Pre e e VSl Interface

~% TOVSI
CONTROLLER

=]

TO POWER '
BASE

3

TO POWER BASE

Please Note: Items N1 and O1 are not
included with the Master Assembly. They are
used in conjunction with DWR1265H039
TO POWER BASE when the unit does not have a manual recline.
*O1 i used in place of N1 - N4 Only items M1 thru M13 may be included in

TO POWER BASE with vent tray configurations. the Master Assemblies.

Master Assemblies are not pickable from table, please select from the parts list

Shark and... Master Assembly | M1 | M2 | M3 | M4 | M5 [ M& | M7 | M8 | M9 [M10(M11{M12|M13{*N1 |*O1
..with Pressure Switches A1 | ELEASMBB397 | 2 1 4 1 1 212 1 1
..No Pressure Switches B1 | ELEASMB7097 4 1 1 2 2 1 1 1
..Manual Recline with Pressure Switches C1 |ELEASMB5998| 2 | 1 1 1 1 4 |1
..Manual Recline, No Pressure Switches D1 | ELEASMB7096 1 1 1 4 1 1
Master Assembly | M1 | M2 | M3 | M4 | M5 [ M6 | M7 | M8 | M9 [M10|M11[M12{M13]*N1 |*O1

..with Pressure Switches E1 |ELEASMBE386| 2 1 4 1 1 2| 2 1 1 1
..No Pres§ure Switches F1 ELEASMBBSQD 4 1 1 2 2 1 1 1 1
..Manual Recline with Pressure Switches G1 | ELEASMB5143| 2 | 1 1 1 1 4 1 1
..Manual Recling, No Pressure Switches H1 | ELEASMBS5366 1 1 1 4 1 1 1

= Master Assembly | M1 | M2 [ M3 | M4 | M5 | M6 | M7 [ M8 | M3 [M10|M11|M12[M13|*N1 [*O1
..with Pressure Switches 11 |ELEASMB6396] 2 | 1 4 |1 1 Al 1 1
..No Pressure Switches J1 | ELEASMB7099 4 1 1 2 2 1 1 1
..Manual Recline with Pressure Switches K1 |ELEASMB5694| 2 | 1 1 1 A 1
..Manual Recline, No Pressure Switches L1 | ELEASMB7098 1 1 4 i 1 1

The numbers within the table represent the quantity of each harness for each configuration.
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:27 UTC 2020

89



TB2 Electronics, Shark, VSI, VR2 Harnesses and Pressure Pads

PRIDC
Item Part No. Name Qty
A1 ELEASMB6397 SHARK,THRU JOYSTICK,W/PRESSURE SWITCH,TB2 TILT 1
B1 ELEASMB7097 SHARK,THRU JOYSTICK,TB2 TILT 1
c1 ELEASMB5998 SHARK,THRU JOYSTICK W/MANUAL RECLINE,W/PRESSURE SWITCH,TB2 TILT 1
D1 ELEASMB7096 SHARK,THRU JOYSTICK W/MANUAL RECLINE,TB2 TILT 1
E1 ELEASMB6386 VSI,THRU JOYSTICK,W/PRESSURE SWITCH,TB2 TILT 1
F1 ELEASMB6390 VSI,THRU JOYSTICK,W/O PRESSURE SWITCH,TB2 TILT 1
G1 ELEASMB5143 VSI,THRU JOYSTICK,W/MANUAL RECLINE,W/PRESSURE SWITCH,TB2 TILT 1
H1 ELEASMB5366 VSI,THRU JOYSTICK W/MANUAL RECLINE,W/O PRESSURE SWITCH,TB2 TILT 1
" ELEASMB6396 VR2,THRU JOYSTICK,W/PRESSURE SWITCH,TB2 TILT 1
J1 ELEASMB7099 VR2,THRU JOYSTICK,W/O PRESSURE SWITCH,TB2 TILT 1
K1 ELEASMB5694 VR2,THRU JOYSTICK W/MANUAL RECLINE,W/PRESSURE SWITCH,TB2 TILT 1
L1 ELEASMB7098 VR2,THRU JOYSTICK W/MANUAL RECLINE,W/O PRESSURE SWITCH,TB2 TILT 1
M1 DWR1265H001 ELECTRONIC,SWITCH,PRESSURE,ANTI-PINCH,TB2 TILT 1
M2 DWR1265H011 ELECTRONIC,HARNESS, TAPE SWITCH RELAY,GEN 2,TB2 TILT 1
M3 ELE142519 HARNESS,COMBINATION, INHIBIT, MANUAL TILT,ROHS 1
M4 CLPCBLC1025 CLAMP,CABLE,STEEL,0.50" DIA,RUBBER COATED 1
M5 SCRASBH1148 SCREW,BHSCS,BLACK ZINC,1/4-20 X 0.50",W/PATCH 1
M6 PLSTIE1004 TIE WRAP,BLACK,8" 1
M7 ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 1
M8 DWR1265H039 HARNESS,MICROSWITCH INHIBIT,TILT 1
M9 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 1
M10 SCRPPH1076 SCREW, PPH,ZINC,M3 X .5T X 12MM 1
M11 DWR1265H028 HARNESS, TAPE SWITCH RELAY BY-PASS,TILT 1
M12 DWR1265H024 HARNESS,VS| CONTROLLER,TB2 TILT 1
M13 ELE142518 HARNESS,COMBINATION, INHIBIT,G2,ROHS 1
N1 FRMASMB14496 MOUNTING BRACKET,ASSY,INHIBIT MICROSWITCH,TB2 TILT 1
o1 MOUNTING BRACKET,INHIBIT MICROSWITCH,TB2 TILT,ARTICULATING VENT TRAY 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:27 UTC 2020

90




Q-Logic Electronics, TB2 Lift and Tilt (Config #40)

uuuuuuuu

4. Lift & Tilt

Ref# | Manufacture Date

After 1/2/2012

Prior to 1/2/2012

AActuator Module (AAM)A
Replacement

**Please note: Units manufactured prior |
to January 2, 2012, REQUIRE the
selection of ELEASMB7110113 (D1).**

w] m jw)
e =
3 b3
5 2 »
g g I
FE & 2
wel ] wol ] mel ] me
: | I.'| A3
g # %2 ¢
] > oI o
= 2 gz Q
& = ko =
4 2 gz
T =) mI
R g8
(¥4 ] J:Ef‘-d
TO UTILITY
TRAY
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:28 UTC 2020

91



Q-Logic Electronics, TB2 Lift and Tilt (Config #40)

PRIDC
Item Part No. Name Qty

A1-A5 ELEASMB6100 ELECTRONIC,ASSY,Q-LOGIC/AAM, TRU-BALANCE 2 POWER LIFT & TILT,LIFT/TILT, THRU 1

JOYSTICK,(CONFIGURATION # 40)
A1 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE,H-1111-047,(CURTIS:17881302) 1
A2 PLSTIE1004 TIE WRAP,BLACK,8" 4
A3 ELESWRP1008 ELECTRONIC,WRAP,0.375" DIA. X 26" LONG,SPIRAL 1
A4 ELEASMB6112 ELECTRONIC,ASSY,Q-LOGIC AAM 1

MODULE,W/PROGRAMMING, TRUBALANCE,LIFT/TILT,(CONFIGURATION # 40)
A5 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1
B2 DWR1265H044 ELECTRONIC,HARNESS,MICROSWITCH INHIBIT, TB2 LIFT & TILT 1
B3 DWR1265H083 ELECTRONIC,HARNESS,ACTUATOR LIMIT SWITCH,Q-LOGIC, TRUBALANCE 2 LIFT & TILT,H-1265-083 | 1
B4 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
B5 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 2
B6 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 2
B7 SCRPPH1290 SCREW,PPH,BLACK ZINC,4-40 X 0.25" 2
B8 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
B9 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
B10 SCRASBH1277 SCREW,BHSCS,BLACK ZINC,10-32 X 0.750",W/PATCH 2
B11 DWR1291B012 INHIBIT SWITCH SUPPORT,B-1291-012 1
c1 DWR1265H043 EXTENSION HARNESS,Q-LOGIC LIFT & TILT,H-1265-043 1
D1 ELEASMB7110113 | ELECTRONIC,ASSY,Q-LOGIC AAM 1

MODULE(FW1.45), W/PROGRAMMING, TB2,LIFT/TILT,(CONFIGURATION #40)
E1 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:28 UTC 2020

92




Q-Logic w/ Attendent Control Electronics, TB2 Lift and Tilt (Config #40)

--------

4. Lift & Tilt

Attendant Control
A Replacement A

**Please note: The Q-Logic 2.0

Attendant Control replaces all

prior versions. Contact service
for programming.**

Actuator Module (AAM), 1 C

Replacement

**Please note: Units manufactured prior .
to January 2, 2012, REQUIRE the
selection of ELEASMB7110113 (E1).**

Q m o
(=
3 I3
[} o %} |
& 5 a
3 o =
N & &
wel ] mol ] wcl ] wal ] mal ] e
BobotiaBol F A
5 1 w2 o e e.~: ™
5 = J Manufacture Date
5 = 25 E—E After 1/2/2012
o g 22 =B
3 5 82 3= .
T =] mwI I Prior to 1/2/2012
[=] o (=]
- w o
[ 3‘-] [
TO UTILITY
TRAY
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:29 UTC 2020

93



Q-Logic w/ Attendent Control Electronics, TB2 Lift and Tilt (Config #40)

PRIDC
Item Part No. Name Qty

A1-B1 ELEASMB6101 ELECTRONIC,ASSY,Q-LOGIC/AAM,TB2 LIFT & TILT,THRU JOYSTICK W/ATTENDANT 1

CONTROL,(CONFIG #40)
A1 CTL137822 CONTROLLER,ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
A2 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
A3 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE,H-1111-047,(CURTIS:17881302) 1
A4 PLSTIE1004 TIE WRAP,BLACK,8" 4
A5 ELESWRP1008 ELECTRONIC,WRAP,0.375" DIA. X 26" LONG,SPIRAL 1
A6 DWR1010D298 MOUNTING BRACKET,ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
A7 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
A8 ELEASMB6112 ELECTRONIC,ASSY,Q-LOGIC AAM 1

MODULE,W/PROGRAMMING, TRUBALANCE,LIFT/TILT,(CONFIGURATION # 40)
A9 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 FRMASMB10455 MOUNTING BRACKET,ASSY,ATTENDANT CONTROL,C-1010-285 1
C1 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1
c2 DWR1265H044 ELECTRONIC,HARNESS,MICROSWITCH INHIBIT,TB2 LIFT & TILT 1
c3 DWR1265H083 ELECTRONIC,HARNESS,ACTUATOR LIMIT SWITCH,Q-LOGIC, TRUBALANCE 2 LIFT & TILT,H-1265-083 | 1
c4 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
C5 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 2
cé NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 2
c7 SCRPPH1290 SCREW,PPH,BLACK ZINC,4-40 X 0.25" 1
c8 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
c9 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
C10 SCRASBH1277 SCREW,BHSCS,BLACK ZINC,10-32 X 0.750",W/PATCH 2
c11 DWR1291B012 INHIBIT SWITCH SUPPORT,B-1291-012 1
D1 DWR1265H043 EXTENSION HARNESS,Q-LOGIC LIFT & TILT,H-1265-043 1
E1 ELEASMB7110113 | ELECTRONIC,ASSY,Q-LOGIC AAM 1

MODULE(FW1.45), W/PROGRAMMING, TB2,LIFT/TILT,(CONFIGURATION #40)
F1 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:29 UTC 2020

94




Q-Logic w/ Ind Legs Electronics, TB2 Lift and Tilt (Config #41)

uuuuuuuu

4. Lift & Tilt

AActuator Module (AAM)A

Replacement

**Please note: Units manufactured prior
to January 2, 2012, REQUIRE the
selection of ELEASMB7110115 (F1).**

Ma

#OHS9Z1 Y
9eg.L8NSYIT3
E£80HS9Z IHMA

L
-

N
wel ] mol ] mcl ] mel ] mal] %
u o P e R
] ll Elokdokd o
o B o g
as [haa [Ellan [Ellee [Efm Eﬁ £ 1

L00HS9Z LHMA
900HS9Z LHMA
EY0HS9Z LdMA

10Ny Uil
(aseq Jemod o])
LFOHLLEEHAMA

Manifaciore Date] =
After 1/2/2012

Prior to 1/2/2012

TOUTILITY
TRAY

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:29 UTC 2020
95



Q-Logic w/ Ind Legs Electronics, TB2 Lift and Tilt (Config #41)

PRIDC
Item Part No. Name Qty
A1-A11 ELEASMB6102 ELECTRONIC,ASSY,Q-LOGIC/AAM,TB2 LIFT & TILT,LIFT/TILT/INDEPENDENT LEGS,THRU 1
JOYSTICK,(CONFIG #41)
A1 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE,H-1111-047,(CURTIS:17881302) 1
A2 DWR1265H006 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,LEFT,H-1265-006 1
A3 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A4 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 2
A5 NUT8120005 NUT,T-SLOT,BLACK,M8-1.25 2
A6 SCRHHCS1382 SCREW,HHCS,BLACK ZINC CHROMATE,M8-1.25 X 12MM,10.9 2
A7 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 2
A8 PLSTIE1004 TIE WRAP,BLACK,8" 4
A9 ELESWRP1008 ELECTRONIC,WRAP,0.375" DIA. X 26" LONG,SPIRAL 1
A10 ELEASMB6113 ELECTRONIC,ASSY,Q-LOGIC AAM 1
MODULE,W/PROGRAMMING, TRUBALANCE,LIFT/TILT/INDEPENDENT LEGS,(CONFIGURATION #41)
A11 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 2
C1 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 2
D1 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1
D2 DWR1265H044 ELECTRONIC,HARNESS,MICROSWITCH INHIBIT,TB2 LIFT & TILT 1
D3 DWR1265H083 ELECTRONIC,HARNESS,ACTUATOR LIMIT SWITCH,Q-LOGIC, TRUBALANCE 2 LIFT & TILT,H-1265-083 | 1
D4 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
D5 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 2
D6 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 2
D7 SCRPPH1290 SCREW,PPH,BLACK ZINC,4-40 X 0.25" 2
D8 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
D9 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
D10 SCRASBH1277 SCREW,BHSCS,BLACK ZINC,10-32 X 0.750",W/PATCH 2
D11 DWR1291B012 INHIBIT SWITCH SUPPORT,B-1291-012 1
E1 DWR1265H043 EXTENSION HARNESS,Q-LOGIC LIFT & TILT,H-1265-043 1
F1 ELEASMB7110115 EL_F)CTRONIC,ASSY,Q-LOGIC AAM MODULE(FW1.45),W/PROGRAM,TB2,LIFT/TILT/IND. LEGS,(CONFIG | 1
G1 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:29 UTC 2020

96




Q-Logic w/ Ind Legs and Attendant Control Electronics, TB2 Lift and Tilt (Config #41)

uuuuuuuu

4. Lift & Tilt

A/ﬂ\ttendan’[ Control
Replacement

“*Please note: The Q-Logic 2.0
Attendant Control replaces all
prior versions. Contact service
for programming.**

A s ZaN

AActuator Module (AAM)A

Replacement

**Please note: Units manufactured prior
to January 2, 2012, REQUIRE the
selection of ELEASMB7110115 (G1).**

PPOHSO9Z LHMA

9ee/gaNsSvY33

E€80HS9C 1 HMA

Z00HS9ZLHMA

900HS9Z FdMA

EPOHS9ZLHMA

J0lenioy JiL

(eseqg Jamod o1 )
LPOHLELEEHMA

(sondimni

S e ESOHLLLIHMA

Manufacture Date

After 1/2/2012

Prior to 1/2/2012

TO UTILITY
TRAY

TB2 Electronics IPB

97

Export Date: Tue Sep 08 03:06:30 UTC 2020



Q-Logic w/ Ind Legs and Attendant Control Electronics, TB2 Lift and Tilt (Config #41)

PRIDC
Item Part No. Name Qty
A1-B1 ELEASMB6103 TB2,Q-LOGIC/AAM,LIFT/TILT/INDEPENDENT LEGS, THRU JOYSTICK W/ATTENDANT 1
CONTROL,(CONFIGURATION #41)
A1 CTL137822 CONTROLLER,ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
A2 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
A3 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE,H-1111-047,(CURTIS:17881302) 1
A4 DWR1265H006 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,LEFT,H-1265-006 1
A5 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A6 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 2
A7 NUT8120005 NUT,T-SLOT,BLACK,M8-1.25 2
A8 SCRHHCS1382 SCREW,HHCS,BLACK ZINC CHROMATE,M8-1.25 X 12MM,10.9 2
A9 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 2
A10 DWR1010D298 MOUNTING BRACKET,ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
A1 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
A12 PLSTIE1004 TIE WRAP,BLACK,8" 4
A13 ELESWRP1008 ELECTRONIC,WRAP,0.375" DIA. X 26" LONG,SPIRAL 1
A14 ELEASMB6113 ELECTRONIC,ASSY,Q-LOGIC AAM 1
MODULE,W/PROGRAMMING, TRUBALANCE,LIFT/TILT/INDEPENDENT LEGS,(CONFIGURATION #41)
A15 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 FRMASMB10455 MOUNTING BRACKET,ASSY,ATTENDANT CONTROL,C-1010-285 1
C1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 2
D1 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 2
E1 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1
E2 DWR1265H044 ELECTRONIC,HARNESS,MICROSWITCH INHIBIT,TB2 LIFT & TILT 1
E3 DWR1265H083 ELECTRONIC,HARNESS,ACTUATOR LIMIT SWITCH,Q-LOGIC, TRUBALANCE 2 LIFT & TILT,H-1265-083 | 1
E4 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
E5 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 2
E6 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 2
E7 SCRPPH1290 SCREW,PPH,BLACK ZINC,4-40 X 0.25" 2
E8 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
E9 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
E10 SCRASBH1277 SCREW,BHSCS,BLACK ZINC,10-32 X 0.750",W/PATCH 2
E11 DWR1291B012 INHIBIT SWITCH SUPPORT,B-1291-012 1
F1 DWR1265H043 EXTENSION HARNESS,Q-LOGIC LIFT & TILT,H-1265-043 1
G1 ELEASMB7110115 EL_F)CTRONIC,ASSY,Q-LOGIC AAM MODULE(FW1.45),W/PROGRAM,TB2,LIFT/TILT/IND. LEGS,(CONFIG | 1
H1 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:30 UTC 2020

98




Q-Logic w/ Comb Legs Electronics, TB2 Lift and Tilt (Config #42)

--------

4. Lift & Tilt

A)'Jﬁctuator Module (AANI)A

Replacement

**Please note: Units manufactured prior
to January 2, 2012, REQUIRE the
selection of ELEASMB7110117 (F1).**

After 1/2/2012

@ Prior to 1/2/2012

PPOHG9C FHMA
9gELgNSYI3
£80HS92 L HMA

. |rr-::| n-n |:.u A

"

B
(=jes |=fas =

-
5 o
=

o
o)Az [=)

SOOHS9Z L HMA
EPOHS9Z LHMA

10jenioy JiiL
ZPOHELLLEHMA

(eseg lamod ol )

TOUTILITY
TRAY

‘

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:31 UTC 2020
99



Q-Logic w/ Comb Legs Electronics, TB2 Lift and Tilt (Config #42)

PRIDC
Item Part No. Name Qty

A1-A10 ELEASMB6104 ELECTRONIC,ASSY,Q-LOGIC/AAM,TB2 LIFT &TILT,LIFT/TILT/COMBINED LEGS, THRU 1

JOYSTICK,(CONFIG #42)
A1 SCRHHCS1382 SCREW,HHCS,BLACK ZINC CHROMATE,M8-1.25 X 12MM,10.9 2
A2 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 2
A3 PLSTIE1004 TIE WRAP,BLACK,8" 4
A4 ELESWRP1008 ELECTRONIC,WRAP,0.375" DIA. X 26" LONG,SPIRAL 1
A5 NUT8120005 NUT,T-SLOT,BLACK,M8-1.25 2
A6 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE,H-1111-047,(CURTIS:17881302) 1
A7 DWR1265H005 ELECTRONIC,HARNESS,COMBINED ELR,CURTIS, TRU-BALANCE TILT 2,H-1265-005 1
A8 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 2
A9 ELEASMB6114 ELECTRONIC,ASSY,Q-LOGIC AAM MODULE,W/PROGRAMMING, TRUBALANCE,LIFT/TILT/COMBINED 1

LEGS,(CONFIGURATION # 42)
A10 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 2
C1 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 2
D1 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1
D2 DWR1265H044 ELECTRONIC,HARNESS,MICROSWITCH INHIBIT,TB2 LIFT & TILT 1
D3 DWR1265H083 ELECTRONIC,HARNESS,ACTUATOR LIMIT SWITCH,Q-LOGIC, TRUBALANCE 2 LIFT & TILT,H-1265-083 | 1
D4 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
D5 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 2
D6 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 2
D7 SCRPPH1290 SCREW,PPH,BLACK ZINC,4-40 X 0.25" 2
D8 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
D9 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
D10 SCRASBH1277 SCREW,BHSCS,BLACK ZINC,10-32 X 0.750",W/PATCH 2
D11 DWR1291B012 INHIBIT SWITCH SUPPORT,B-1291-012 1
E1 DWR1265H043 EXTENSION HARNESS,Q-LOGIC LIFT & TILT,H-1265-043 1
F1 ELEASMB7110117 | ELECTRONIC,ASSY,Q-LOGIC AAM MODULE (FW 1.45),W/PROGRAM, TB2,LIFT/TILT/COMBINED 1

LEGS,(CONFIG #42)
G1 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:31 UTC 2020

100




Q-Logic w/ Comb Legs and Attendant Control, TB2 Lift and Tilt (Config #42)

uuuuuuuu

4. Lift & Tilt

AJfl\tto;:ndant ControIA
Q

Replacement

**Please note: The Q-Logic 2.0
Attendant Control replaces all
prior versions. Contact service
for programming.**

AActuator Module (AAM)A
Replacement

**Please note: Units manufactured prior
to January 2, 2012, REQUIRE the
selection of ELEASMB7110117 (G1).**

Ref# IManufacture Date

@ After 1/2/2012
@ Prior to 1/2/2012

PPOHS9Z LHMA
9EELANSYIN3
E£80HS9C I HMA

(sondnniy)

J0JENIOY 1L

SO0HS9Z L HMA
EYOHS9ZLHMA
LPOH L MO

(eseg Jamod o1)

TO UTILITY
TRAY

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:31 UTC 2020
101



Q-Logic w/ Comb Legs and Attendant Control, TB2 Lift and Tilt (Config #42)

PRIDC
Item Part No. Name Qty

A1-B1 ELEASMB6105 TB2,Q-LOGIC/AAM, LIFT/TILT/COMBINED LEGS,THRU JOYSTICK W/ATTENDANT 1

CONTROL,(CONFIGURATION # 42)
A1 CTL137822 CONTROLLER,ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
A2 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
A3 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE,H-1111-047,(CURTIS:17881302) 1
A4 DWR1265H005 ELECTRONIC,HARNESS,COMBINED ELR,CURTIS, TRU-BALANCE TILT 2,H-1265-005 1
A5 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 2
A6 NUT8120005 NUT,T-SLOT,BLACK,M8-1.25 2
A7 SCRHHCS1382 SCREW,HHCS,BLACK ZINC CHROMATE,M8-1.25 X 12MM,10.9 2
A8 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 2
A9 DWR1010D298 MOUNTING BRACKET,ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
A10 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
A1 PLSTIE1004 TIE WRAP,BLACK,8" 4
A12 ELESWRP1008 ELECTRONIC,WRAP,0.375" DIA. X 26" LONG,SPIRAL 1
A13 ELEASMB6114 ELECTRONIC,ASSY,Q-LOGIC AAM MODULE,W/PROGRAMMING, TRUBALANCE,LIFT/TILT/COMBINED 1

LEGS,(CONFIGURATION # 42)
A14 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 FRMASMB10455 MOUNTING BRACKET,ASSY,ATTENDANT CONTROL,C-1010-285 1
C1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 2
D1 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 2
E1 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1
E2 DWR1265H044 ELECTRONIC,HARNESS,MICROSWITCH INHIBIT,TB2 LIFT & TILT 1
E3 DWR1265H083 ELECTRONIC,HARNESS,ACTUATOR LIMIT SWITCH,Q-LOGIC, TRUBALANCE 2 LIFT & TILT,H-1265-083 | 1
E4 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
E5 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 2
E6 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 2
E7 SCRPPH1290 SCREW,PPH,BLACK ZINC,4-40 X 0.25" 2
E8 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
E9 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
E10 SCRASBH1277 SCREW,BHSCS,BLACK ZINC,10-32 X 0.750",W/PATCH 2
E11 DWR1291B012 INHIBIT SWITCH SUPPORT,B-1291-012 1
F1 DWR1265H043 EXTENSION HARNESS,Q-LOGIC LIFT & TILT,H-1265-043 1
G1 ELEASMB7110117 | ELECTRONIC,ASSY,Q-LOGIC AAM MODULE (FW 1.45),W/PROGRAM, TB2,LIFT/TILT/COMBINED 1

LEGS,(CONFIG #42)
H1 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:31 UTC 2020

102




Q-Logic w/ AFP Electronics, TB2 Lift and Tilt (Config #43)

uuuuuuuu

4. Lift & Tilt

AActuator Module (AAM)A

Manufacture Dgtg R
After 1/2/2012

Replacement

**Please note: Units manufactured prior
to January 2, 2012, REQUIRE the
selection of ELEASMB7110119 (F1).**

Prior to 1/2/2012

Mad

FPOHSOS 1HMA
9£ELEBNSYINT
£80HS92 1Y

A4 1:3

weef ) mof ] melo] wafo] meal ] b i
_ & _ !aama!
A5 Bt ] s

LOOHS9ZIHMA
eFOHS92 L HMA
J0enjoY L
LPOHLLLLHMA
sonshor

(eseg Jemod 0] )

TO UTILITY
TRAY

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:32 UTC 2020
103



Q-Logic w/ AFP Electronics, TB2 Lift and Tilt (Config #43)

PRIDC
Item Part No. Name Qty

A1- A7 ELEASMB6106 ELECTRONIC,ASSY,Q-LOGIC/AAM,TB2 LIFT & TILT,LIFT/TILT/POWER ART. FOOT PLATFORM,THRU 1

JOYSTICK,(CONFIG #43)
A1 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE,H-1111-047,(CURTIS:17881302) 1
A2 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A3 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 1
A4 PLSTIE1004 TIE WRAP,BLACK,8" 4
A5 ELESWRP1008 ELECTRONIC,WRAP,0.375" DIA. X 26" LONG,SPIRAL 1
A6 ELEASMB6115 ELECTRONIC,ASSY,Q-LOGIC AAM MODULE,W/PROGRAM,TB2,LIFT/TILT/POWER FOOT 1

PLATFORM,(CONFIG # 43)
A7 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 1
C1 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 1
D1 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1
D2 DWR1265H044 ELECTRONIC,HARNESS,MICROSWITCH INHIBIT, TB2 LIFT & TILT 1
D3 DWR1265H083 ELECTRONIC,HARNESS,ACTUATOR LIMIT SWITCH,Q-LOGIC, TRUBALANCE 2 LIFT & TILT,H-1265-083 | 1
D4 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
D5 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 2
D6 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 2
D7 SCRPPH1290 SCREW,PPH,BLACK ZINC,4-40 X 0.25" 2
D8 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
D9 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
D10 SCRASBH1277 SCREW,BHSCS,BLACK ZINC,10-32 X 0.750",W/PATCH 2
D11 DWR1291B012 INHIBIT SWITCH SUPPORT,B-1291-012 1
E1 DWR1265H043 EXTENSION HARNESS,Q-LOGIC LIFT & TILT,H-1265-043 1
F1 ELEASMB7110119 | ELECTRONIC,ASSY,Q-LOGIC AAM MODULE(FW 1.45),W/PROGRAM,TB2,LIFT/TILT/POWER FOOT 1

PLATFORM,(CONFIG # 43)
G1 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:32 UTC 2020

104




Q-Logic w/ AFP and Attendant Control Electronics, TB2 Lift and Tilt (Config #43)

--------

4. Lift & Tilt

Attendant Control , PEN
& Replacement e

“*Please note: The Q-Logic 2.0

Attendant Control replaces all

prior versions. Contact service
for programming.**

AActuator Module (AAM)A

Replacement

**Please note: Units manufactured prior
to January 2, 2012, REQUIRE the
selection of ELEASMB7110119 (G1).**

" [Ref# [Man

acture Date

PPOHS9E LdMa

9eEL8WSYI3

£80HS9Z IHMA

@ After 1/2/2012

@ Prior to 1/2/2012

wal ] well] wel] wal]
B[] B [m] B8 S

lojenioy il
(4ondninpy)
ESOHLELEHMA

LOOHS9Z 1 HMA
EPOHS9ZLHMA
LPOHEELEHMA

(eseg samod o)

TO UTILITY
TRAY

TB2 Electronics IPB

105

Export Date: Tue Sep 08 03:06:32 UTC 2020



Q-Logic w/ AFP and Attendant Control Electronics, TB2 Lift and Tilt (Config #43)

PRIDC
Item Part No. Name Qty

A1-B1 ELEASMB6107 ELECTRONIC,ASSY,Q-LOGIC/AAM, TRU-BALANCE 2 POWER LIFT & TILT LIFT/TILT/POWER 1

ARTICULATING FOOT PLATFORM,THRU JOYSTICK W/ATTENDANT CONTROL,(CONFIGURATION #43)
A1 CTL137822 CONTROLLER,ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
A2 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
A3 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE,H-1111-047,(CURTIS:17881302) 1
A4 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A5 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 1
A6 DWR1010D298 MOUNTING BRACKET,ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
A7 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
A8 PLSTIE1004 TIE WRAP,BLACK,8" 4
A9 ELESWRP1008 ELECTRONIC,WRAP,0.375" DIA. X 26" LONG,SPIRAL 1
A10 ELEASMB6115 ELECTRONIC,ASSY,Q-LOGIC AAM MODULE,W/PROGRAM,TB2,LIFT/TILT/POWER FOOT 1

PLATFORM,(CONFIG # 43)
A11 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 FRMASMB10455 MOUNTING BRACKET,ASSY,ATTENDANT CONTROL,C-1010-285 1
C1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 1
D1 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 1
E1 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1
E2 DWR1265H044 ELECTRONIC,HARNESS,MICROSWITCH INHIBIT,TB2 LIFT & TILT 1
E3 DWR1265H083 ELECTRONIC,HARNESS,ACTUATOR LIMIT SWITCH,Q-LOGIC, TRUBALANCE 2 LIFT & TILT,H-1265-083 | 1
E4 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
E5 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 2
E6 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 2
E7 SCRPPH1290 SCREW,PPH,BLACK ZINC,4-40 X 0.25" 2
E8 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
E9 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
E10 SCRASBH1277 SCREW,BHSCS,BLACK ZINC,10-32 X 0.750",W/PATCH 2
E11 DWR1291B012 INHIBIT SWITCH SUPPORT,B-1291-012 1
F1 DWR1265H043 EXTENSION HARNESS,Q-LOGIC LIFT & TILT,H-1265-043 1
G1 ELEASMB7110119 | ELECTRONIC,ASSY,Q-LOGIC AAM MODULE(FW 1.45),W/PROGRAM,TB2,LIFT/TILT/POWER FOOT 1

PLATFORM,(CONFIG # 43)
H1 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:32 UTC 2020

106




Elevate Inhibit Retro Kit, TB2 Lift and Tilt

PRIDC
4. Lift & Tilt
RETROFITS THESE PARTS —*
1 L
W |
= 4 V: £ is ¥

TB2 Electronics IPB

107

Export Date: Tue Sep 08 03:06:33 UTC 2020



Elevate Inhibit Retro Kit, TB2 Lift and Tilt

PRIDC
Item Part No. Name Qty
A1 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
A2 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
A3 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
A4 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:33 UTC 2020
108




Multiplier & Top Cover Mounting, TB2 Tilt and Recline

........

4. Lift & Tilt

Y

J | ,_ 2::‘

Y | { b |

il T | RN LY
i, (/; . _\\'?&_ 1 ~

Complete Top Center

— _"_p_". kP e A Gen 2 Bracket
| . A j Mounting Location
| \\‘-;.- -
N
b
s
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:33 UTC 2020

109



Multiplier & Top Cover Mounting, TB2 Tilt and Recline

PRIDE
Item Part No. Name Qty
Al DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
B1 DWR1367D078 MULTIPLIER BRACKET, TRU-BALANCE 2 POWER RECLINE 1
B2 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 2
B3 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
c1 BRK8110019 MULTIPLIER L-BRACKET, TRU-BALANCE 2 POWER RECLINE 1
c2 SCRPPH1379 SCREW,PPH,BLACK ZINC,8-32 X 0.375" 2
c3 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 2
D1 PLSASMB2069 PLASTIC,ASSY,CURTIS/AAM, TRU-BALANCE 2 POWER RECLINE 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:33 UTC 2020
110




TB2 Lift and Tilt, Electrical System Diagram

PRIDE
Electrical System Diagrams
~_CURTIS CONTROLLER
i |
| |
i |
i |
i |
e Ty I
37 DWR1265H044 ﬂ ﬂl
PR TR S ST DWR1111H047
m—— { LIFT &TILT ACTUATOR 1 _J' ----- ,
| |
I f‘]) | TH
| = |
| !! ol |
. !
| !
E e E DWR1265H043
s { LIFT & TILT ACTUATOR 2 }-—+—- |
[ = T e RETE === .
I ||[ ELeasmB7336 |
LT pbe
! = i
| [ ! :
i i
e o o e e e |
POWER CHAIR
YP—— UTILITY TRAY

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:34 UTC 2020

111



TB2 Lift and Tilt w/ Attendant Control, Electrical System Diagram

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:34 UTC 2020
112



TB2 Lift and Tilt w/ Attendant Control, Electrical System Diagram

uuuuuuuu

Electrical System Diagrams

q&--
@_E

A'I'I'ENDANT CONTROL \-

._-_._._-_._._-_._I

e [ AAM MODULE —-—-—-—-—- .

DWR1111H053

0 0 DWR1265H044

DWR1111HO047

DWR1265H043

-0 o
________________ POWER CHAIR

UTILITY TRAY

|
!

! |
! = i
i 1o
: !
' |
| I._ DWR1265H083

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:34 UTC 2020
113




TB2 Lift and Tilt w/ Independent Legs Electrical System Diagram

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:34 UTC 2020
114



TB2 Lift and Tilt w/ Independent Legs Electrical System Diagram

PRIDC
Electrical System Diagrams
] CARMMOBULE - —- . 1
T i
I
I -} H WE H N! -u. i
| 83 || B0 CR0Reae
[z " BS »s. Rl H e H gos
5 DWR1265H007 | S S S
i
5 !_______l_l_i__l__l__-l_.l_
= | ; A
i DWR1265H006 : E]_ﬂ" :
i ?1; s
DWR1265H044 J‘:D[l Jﬂl ﬂl
== | LIFT &TILT ACTUATOR 1 .—.—. | | DWR1111H047
i i
! e@) | N
! |
Cims ol |
[ I
o !
E oon D DWR1265H043
SE— { LIFT & TILT ACTUATOR 2 j-—-—- |
I J_[L ELEASMB7336 |
I E i
I r—@ D Cm :
i oy i
i [ o) |
SO —————S
POWER CHAIR
DWR1265H083 UTILITY TRAY
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:35 UTC 2020

115



TB2 Lift and Tilt w/ Independent Legs an

d Attendant Control, Electrical System Diagram

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:35 UTC 2020
116



TB2 Lift and Tilt w/ Independent Legs and Attendant Control, Electrical System Diagram

uuuuuuuu

Electrical System Diagrams

r [ ATTENDANT CONTROL L

._._._._._._.-._-..-t

DWR1111H053

DWR1265H006

(o

g DWR1265H007
]
[+

DWR1111H047

-A-—-‘-—..--n—.u—n’..—vv-.-nw-qa—-«--‘w—.p

|
|
|
.
| o
.
|
-
|

n

POWER CHAIR
UTILITY TRAY

ﬁ DWR1265H083

TB2 Electronics IPB

117

Export Date: Tue Sep 08 03:06:35 UTC 2020



TB2 Lift and Tilt w/ Combined Legs, Electrical System Diagram

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:35 UTC 2020
118



TB2 Lift and Tilt w/ Combined Legs, Electrical System Diagram -

PRIDC
Electrical System Diagrams
C|
i DWR1265H005
@%7—
G DWR1265H044
== {_LIFT & TILT ACTUATOR 1 -+, | DWR1111H047
i i
[ (5) | 1]
I = |
| el ] ol |
I |
o !
E caip C: DWR1265H043
PR { LIFT & TILT ACTUATOR 2 . —-—- i
I JJJ_ ELEASMB7336 |
i = i
9 :
| p =
[ D“ I
| [ o} i
. ovpm————— N
POWER CHAIR
DWR1265H083 UTILITY TRAY
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:36 UTC 2020

119



TB2 Lift and Tilt w/ Combined Legs and Attendant Control, Electrical System Diagram

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:36 UTC 2020
120



TB2 Lift and Tilt w/ Combined Legs and Attendant Control, Electrical System Diagram

uuuuuuuu

Electrical System Diagrams

A'I'I'ENDANT CONTROL L-

._-_._._-_._._-_._I

GE__

e [ AAM MODULE —-—-—-—-—- .

@_E

DWR1111H053

o
@# DWR1265H005
]

0o DWR1265H044

DWR1111H047

E@L “EP?

| L DWR1265H083

T

POWER CHAIR
UTILITY TRAY

TB2 Electronics IPB

121

Export Date: Tue Sep 08 03:06:36 UTC 2020



TB2 Lift and Tilt w/ AFP, Electrical System Diagram

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:36 UTC 2020
122



TB2 Lift and Tilt w/ AFP,

Electrical System Diagram

PRIDC
Electrical System Diagrams
| CURTIS CONTROLLER |,
i i
| !
i |
i I
i |
Cimms gy e ST 1
|_ _________ Mo
A —— -~ AAMMODULE |-—-—-——. 1
! b o e = o = e = — — i
! i
| i) wofg] wef) wef] ml] O !
i uz Ell !
j 5 i Ll Gl “n'f*' l
. O = — J 1
SR S 1 N — i
= ' I P !
@é"] DWR1265H007 E Eﬂl Hli %
i I I 1
5 DWR1265H044 @ Jﬂl ﬂ!
== i LIFT & TILT ACTUATOR 1 ;.—.—. | | DWR1111H047
i l
! Q} l B\
! I
fCims o |
! |
e !
DWR1265H043
B
S { LIFT &TILT ACTUATOR 2 j-m—-—- |
! lLL ELEASMB7336 |
I L a i
! @Iﬂ ™ i
| oy i
1 1o |
! S
POWER CHAIR
DWR1265H083 UTILITY TRAY

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:37 UTC 2020

123



TB2 Lift and Tilt w/ AFP and Attendant Control, Electrical System Diagram

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:37 UTC 2020
124



TB2 Lift and Tilt w/ AFP and Attendant Control, Electrical System Diagram

uuuuuuuu

Electrical System Diagrams

ATTENDANT CONTROL L-

._-_-_._-_._-_-_._I

(1§

2 DWR1265H007
g
[+of

00 DWR1265H044

DWR1111H053

DWR1111H047

(e

ﬁ DWR1265H083

T

POWER CHAIR
UTILITY TRAY

TB2 Electronics IPB

125

Export Date: Tue Sep 08 03:06:37 UTC 2020



Q-Logic Electronics, TB2 L

ift, Tilt and Recline (Config #44)

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:37 UTC 2020
126



Q-Logic Electronics, TB2 Lift, Tilt and Recline (Config #44)

--------

5. Lift, Tilt, & Recline

AAttendant Control

Replacement
**Please note: The Q-Logic 2.0
Attendant Control replaces all
prior versions. Contact service
for programming.**

AActuator Module (AANI)A
Replacement
**Please note: Units manufactured prior

to January 2, 2012, REQUIRE the
selection of ELEASMB7110121 (F1).**

g g ¢
3 m 3
— m —
5 = b
fai] @ @
s 4 2
S 53 @
meel ) meol ] mclo] mal ] weal ] Manu'acture Dal
...m S
[ ]
no_ m w M b After 1/2/2012
@ Prior to 1/2/2012

(4endiyniy)

101eMoY HIL
SSOHLFFLHMA

EYOHS9Z L IMA
J0JENIOY Buljoey
(aseg 1amod ol )

LVOHLELEHMA

TO UTILITY
TRAY

.
**NOTE: There are multiple mounting locations for ™~ & |
the Multiplier Harness (A3). Refer to the Tilt and Recline ~le— & (0)
Multiplier and Top Cover Mounting section for the variations
and the mounting of the Top Cover (C1).

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:38 UTC 2020

127



Q-Logic Electronics, TB2 Lift, Tilt and Recline (Config #44)

PRIDC
Item Part No. Name Qty
A1-C1 ELEASMB6096 TB2, Q-LOGIC/AAM, LIFT/TILT/RECLINE,(CONFIGURATION # 44) 1
A1 CTL137822 CONTROLLER,ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
A2 TIE WRAP,BLACK,18 1/2" 4
A3 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
A4 DWR1010D298 MOUNTING BRACKET,ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
A5 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
A6 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE H-1111-047,(CURTIS:17881302) 1
A7 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
A8 ELESWRP1008 ELECTRONIC,WRAP,0.375" DIA. X 26" LONG,SPIRAL 2
A9 PLSTIE1004 TIE WRAP,BLACK,8" 10
A10 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 2
A11 ELEASMB6108 Q-LOGIC AAM MODULE ASSY,LIFT/TILT/RECLINE,(CONFIG #44) 1
A12 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 FRMASMB10455 MOUNTING BRACKET,ASSY,ATTENDANT CONTROL,C-1010-285 1
c1 PLSASMB2069 PLASTIC,ASSY,CURTIS/AAM, TRU-BALANCE 2 POWER RECLINE 1
D1 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1
D2 DWR1265H044 ELECTRONIC,HARNESS,MICROSWITCH INHIBIT, TB2 LIFT & TILT 1
D3 DWR1265H083 ELECTRONIC,HARNESS,ACTUATOR LIMIT SWITCH,Q-LOGIC,TRUBALANCE 2 LIFT & TILT,H-1265-083 | 1
D4 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
D5 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 2
D6 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 2
D7 SCRPPH1290 SCREW,PPH,BLACK ZINC,4-40 X 0.25" 2
D8 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
D9 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
D10 SCRASBH1277 SCREW,BHSCS,BLACK ZINC,10-32 X 0.750"W/PATCH 2
D11 DWR1291B012 INHIBIT SWITCH SUPPORT,B-1291-012 1
E1 DWR1265H043 EXTENSION HARNESS,Q-LOGIC LIFT & TILT,H-1265-043 1
F1 ELEASMB7110121 | Q-LOGIC AAM MODULE (FW 1.45), W/PROGRAMMING,LIFT/TILT/RECLINE,(CONFIGURATION # 44) 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:38 UTC 2020

128




Q-Logic w/ Ind Legs Electronics, TB2 Lift, Tilt and Recline (Config #45)

--------

5. Lift, Tilt, & Recline

1] i AAttcndant Control
g | T ) - Replacement
' **Please note: The Q-Logic 2.0
Attendant Control replaces all

prior versions. Contact service
for programming.**

{

L)

ator Module (AAM)A
Replacement

**Please note: Units manufactured prior
to January 2, 2012, REQUIRE the
selection of ELEASMB7110123 (H1).**

Mma

0HG92IH
£ELAWSYIN3

Manufacture Date
After 1/2/2012

BT | (e80HS9ZHMA

[*]
ma
i |

&
'y

IN.E mol ] m (o] el

0 -EE-EF gl |

Prior to 1/2/2012

J0jemay L

£00HS9Z HMA
900HS92 L HMA
EPOHS9Z1 9Ma
LPOHELLEAMA

101EN9Y aUDaYy
(oseg Jamod of)

TO UTILITY
TRAY

A
**NOTE: There are multiple mountin%
locations for the Multiplier Harness (A3).
Refer to the Tilt and Recline Multiplier and To
Cover Mounting section for the variations and the
mounting of the Top Cover (C1).

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:38 UTC 2020
129



Q-Logic w/ Ind Legs Electronics, TB2 Lift, Tilt and Recline (Config #45)

PRIDC
Item Part No. Name Qty
A1-C1 ELEASMB6097 ELECTRONIC,ASSY,Q-LOGIC/AAM,TB2 LIFT TILT & RECLINE,LIFT/TILT/RECLINE W/SYNCH. 1
INDEPENDENT LEGS,(CONFIG#45)
A1 CTL137822 CONTROLLER,ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
A2 TIE WRAP,BLACK,18 1/2" 4
A3 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
A4 DWR1010D298 MOUNTING BRACKET,ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
A5 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
A6 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE,H-1111-047,(CURTIS:17881302) 1
A7 DWR1265H006 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,LEFT,H-1265-006 1
A8 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A9 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 2
A10 NUT8120005 NUT,T-SLOT,BLACK,M8-1.25 2
A1 SCRHHCS1382 SCREW,HHCS,BLACK ZINC CHROMATE,M8-1.25 X 12MM,10.9 2
A12 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 2
A13 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
A14 ELESWRP1008 ELECTRONIC,WRAP,0.375" DIA. X 26" LONG,SPIRAL 2
A15 PLSTIE1004 TIE WRAP,BLACK,8" 10
A16 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 2
A17 ELEASMB6109 Q-LOGIC AAM,LIFT/TILT/RECL W/IND. LEGS,(CONFIG#45) 1
A18 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 FRMASMB10455 MOUNTING BRACKET,ASSY,ATTENDANT CONTROL,C-1010-285 1
C1 PLSASMB2069 PLASTIC,ASSY,CURTIS/AAM, TRU-BALANCE 2 POWER RECLINE 1
D1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 2
E1 NUTJAM1032 NUT,JAM, THIN,STAINLESS STEEL,3/8-32 2
F1 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1
F2 DWR1265H044 ELECTRONIC,HARNESS,MICROSWITCH INHIBIT,TB2 LIFT & TILT 1
F3 DWR1265H083 ELECTRONIC,HARNESS,ACTUATOR LIMIT SWITCH,Q-LOGIC, TRUBALANCE 2 LIFT & TILT,H-1265-083 | 1
F4 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
F5 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 2
F6 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56, GRADE 2 2
F7 SCRPPH1290 SCREW,PPH,BLACK ZINC,4-40 X 0.25" 2
F8 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
F9 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
F10 SCRASBH1277 SCREW,BHSCS,BLACK ZINC,10-32 X 0.750",W/PATCH 2
F11 DWR1291B012 INHIBIT SWITCH SUPPORT,B-1291-012 1
G1 DWR1265H043 EXTENSION HARNESS,Q-LOGIC LIFT & TILT,H-1265-043 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:38 UTC 2020

130




Q-Logic w/ Ind Legs Electronics, TB2 Lift, Tilt and Recline (Config #45)

--------

Attendant Control

Replacement

**Please note: The Q-Logic 2.0
Attendant Control replaces all
prior versions. Contact service
for programming.**

(AANI)A
Replacement

**Please note: Units manufactured prior
to January 2, 2012, REQUIRE the
| selection of ELEASMB7110123 (H1)."* |

¥¥OHS9Z LIMO
9EELEGNSY3N3

>

B | |esoHS9ZIHMA

Manufacture Datel
After 1/2/2012

e

900HS9Z 1 HMA L0 =

€0HS9Z I HMA

JaE =

Prior 1o 1/2/2012

JO)eNIoY 1L

LOOHS9ZHdMA
I01ENIOY Bulosy
(eseq Jamod o)

LPOHEEEIHMA

TO UTILITY
TRAY

)

**NOTE: There are multiple mountin% ~
locations for the Multiplier Harness (A3). —~ X
Refer to the Tilt and Recline Multiplier and To S
Cover Mounting section for the variations and the
mounting of the Top Cover (C1).

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:39 UTC 2020
131



Q-Logic w/ Ind Legs Electronics, TB2 Lift, Tilt and Recline (Config #45)

PRIDC
Item Part No. Name Qty
H1 ELEASMB7110123 | Q-LOGIC AAM(FW 1.45),LIFT/TILT/RECL. W/IND. LEGS,(CONFIG#45) 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:39 UTC 2020
132




Q-Logic w/ Combined Legs Electronics, TB2 Lift, Tilt and Recline (Config #46)

--------

5. Lift, Tilt, & Recline

Attendant ControIA

Replacement
**Please note: The Q-Logic 2.0
Attendant Control replaces all
prior versions. Contact service
for programming.**

Actuator Module (AAM)
A Replacement A

**Please note: Units manufactured prior
to January 2, 2012, REQUIRE the
selection of ELEASMB7110125 (H1).**

[=] m (]

= m =

2 5 3

n 1]

& & &

I 3 I

8 & 8

3 S 2 ,
mel] A ,_:"‘ ) :? = ~

wnl] H : Ref# [Manufacture Dats
= 1.2
s a [ : After 1/2/2012
g2 3 4 3739 = @ Prior to 1/2/2012
2 2 3 = 32 EZ
) I = » I =3
= o 2 aQ o = - =
c s = =

a & z =2 & 2
x I 2 8 T Tz
8 3B g2 3
G & g o @

TO UTILITY
TRAY

g

**NOTE: There are multiple mountin
locations for the Multiplier Harness (A3).
Refer to the Tilt and Recline Multiplier and To
Cover Mounting section for the variations and the
mounting of the Top Cover (C1).

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:39 UTC 2020
133



Q-Logic w/ Combined Legs Electronics, TB2 Lift, Tilt and Recline (Config #46)

PRIDC
Item Part No. Name Qty

A1-C1 ELEASMB6098 ELECTRONIC,ASSY,Q-LOGIC/AAM,TB2 LIFT TILT & RECL.,LIFT/TILT/RECL.W/IND. CONTROLLED 1

COMB. LEGS,(CONFIG#46)
A1 CTL137822 CONTROLLER,ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
A2 TIE WRAP,BLACK,18 1/2" 4
A3 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
A4 DWR1010D298 MOUNTING BRACKET ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
A5 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
A6 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE,H-1111-047,(CURTIS:17881302) 1
A7 DWR1265H005 ELECTRONIC,HARNESS,COMBINED ELR,CURTIS, TRU-BALANCE TILT 2,H-1265-005 1
A8 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 2
A9 NUT8120005 NUT,T-SLOT,BLACK,M8-1.25 2
A10 SCRHHCS1382 SCREW,HHCS,BLACK ZINC CHROMATE,M8-1.25 X 12MM,10.9 2
A11 WASSTND1002 WASHER,FLAT,BLACK ZINC,0.3125" ID X 0.6875" OD X 0.0625" TH 2
A12 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
A13 ELESWRP1008 ELECTRONIC,WRAP,0.375" DIA. X 26" LONG,SPIRAL 2
A4 PLSTIE1004 TIE WRAP,BLACK,8" 10
A15 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 2
A16 ELEASMB6110 ELECTRONIC,ASSY,Q-LOGIC AAM MODULE,W/PROGRAM,TB2,LIFT/TILT/RECLINE W/COMBINED 1

LEGS,(CONFIG #46)
A17 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 FRMASMB10455 MOUNTING BRACKET,ASSY, ATTENDANT CONTROL,C-1010-285 1
c1 PLSASMB2069 PLASTIC,ASSY,CURTIS/AAM, TRU-BALANCE 2 POWER RECLINE 1
D1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0OD X .025"TH 2
E1 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 2
F1 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX, TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1
F2 DWR1265H044 ELECTRONIC,HARNESS,MICROSWITCH INHIBIT,TB2 LIFT & TILT 1
F3 DWR1265H083 ELECTRONIC,HARNESS, ACTUATOR LIMIT SWITCH,Q-LOGIC, TRUBALANCE 2 LIFT & TILT,H-1265-083 | 1
F4 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
F5 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 2
F6 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56, GRADE 2 2
F7 SCRPPH1290 SCREW,PPH,BLACK ZINC,4-40 X 0.25" 2
F8 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
F9 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
F10 SCRASBH1277 SCREW,BHSCS,BLACK ZINC,10-32 X 0.750",W/PATCH 2
F11 DWR1291B012 INHIBIT SWITCH SUPPORT,B-1291-012 1
G1 DWR1265H043 EXTENSION HARNESS,Q-LOGIC LIFT & TILT,H-1265-043 1
H1 ELEASMB7110125 | ELECTRONIC,ASSY,Q-LOGIC AAM MODULE(FW 1.45),W/PROGRAM,TB2, LIFT/TILT/RECLINE W/COMB. | 1

LEGS,(CONFIG #46)

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:39 UTC 2020

134




Q-Logic w/ AFP Electronics, TB2 Lift, Tilt and Recline (Config #47)

--------

5. Lift, Tilt, & Recline

A 8 aAttendant Control
M= T Replacement
**Please note: The Q-Logic 2.0
Attendant Control replaces all
prior versions. Contact service
for programming.**

Actuator Module (AAM)
i Replacement A

**Please note: Units manufactured prior
to January 2, 2012, REQUIRE the
selection of ELEASMB7110127 (H1).**

Ma

PFOHGSE LYMA
9eeLaNsSY3T3
£80HS92IY

Ref# IManufacture Date|

= H
il 2 2
E

After 1/2/2012
=] o X’ 4 45U SU @Priortﬂ1f2ﬁ2012
2 £ 3 = oz E=
I ] 5 = aﬂ:ﬂ =3
E 5 (o] 2 E: =

= =
& & 2 &8 %2 82
g 3§ % gz 3
W
g8 B g g% 8

TO UTILITY
TRAY

**NOTE: There are multiple mountin%\\
locations for the Multiplier Harness (A3). N R
Refer to the Tilt and Recline Multiplier and To >
Cover Mounting section for the variations and the
mounting of the Top Cover (C1).

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:40 UTC 2020
135



Q-Logic w/ AFP Electronics, TB2 Lift, Tilt and Recline (Config #47)

PRIDC
Item Part No. Name Qty
A1-C1 ELEASMB6099 ELECTRONIC,ASSY,Q-LOGIC/AAM,TB2 LIFT TILT & RECL. LIFT/TILT/RECL., W/POWER ART. FOOT 1
PLATFORM,(CONFIG#47)
A1 CTL137822 CONTROLLER,ATTENDANT CONTROL MODULE 2.0,Q-LOGIC 2 1
A2 TIE WRAP,BLACK,18 1/2" 4
A3 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
A4 DWR1111H047 HARNESS,BUS CABLE,1.0 METER,FEMALE/FEMALE,H-1111-047,(CURTIS:17881302) 1
A5 DWR1265H007 ELECTRONIC,HARNESS,INDEPENDENT ELR,CURTIS, TRU-BALANCE TILT 2,RIGHT,H-1265-007 1
A6 DWR1303B026 ELECTRICAL CONNECTION BRACKET,ARTICULATING LEGREST 1
A7 DWR1010D298 MOUNTING BRACKET,ATTENDANT BRACKET,CURTIS STAND ALONE JOYSTICK,D-1010-298 1
A8 SCRPPH1165 SCREW,PPH,BLACK ZINC,M4-.7 X 8MM,P-TYPE 2
A9 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
A10 ELESWRP1008 ELECTRONIC,WRAP,0.375" DIA. X 26" LONG,SPIRAL 2
A1 PLSTIE1004 TIE WRAP,BLACK,8" 10
A12 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 2
A13 ELEASMB6111 ELECTRONIC,ASSY,Q-LOGIC AAM MODULE,W/PROGRAM,TB2,LIFT/TILT/RECLINE, W/POWER FOOT 1
PLATFORM,(CONFIG#47)
A14 MEC138556 BRACKET,STRAIN RELIEF,AAM 1
B1 FRMASMB10455 MOUNTING BRACKET,ASSY,ATTENDANT CONTROL,C-1010-285 1
C1 PLSASMB2069 PLASTIC,ASSY,CURTIS/AAM, TRU-BALANCE 2 POWER RECLINE 1
D1 WASSTND1155 WASHER,FLAT,STAINLESS STEEL,.375"ID X .615"0D X .025"TH 1
E1 NUTJAM1032 NUT,JAM,THIN,STAINLESS STEEL,3/8-32 1
F1 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1
F2 DWR1265H044 ELECTRONIC,HARNESS,MICROSWITCH INHIBIT,TB2 LIFT & TILT 1
F3 DWR1265H083 ELECTRONIC,HARNESS,ACTUATOR LIMIT SWITCH,Q-LOGIC, TRUBALANCE 2 LIFT & TILT,H-1265-083 | 1
F4 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
F5 SCRPFH1076 SCREW,PFH,STAINLESS STEEL,2-56 X 0.50" 2
F6 NUTNYLK1106 NUT,NYLOCK,BLACK ZINC,2-56,GRADE 2 2
F7 SCRPPH1290 SCREW,PPH,BLACK ZINC,4-40 X 0.25" 2
F8 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
F9 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
F10 SCRASBH1277 SCREW,BHSCS,BLACK ZINC,10-32 X 0.750",W/PATCH 2
F11 DWR1291B012 INHIBIT SWITCH SUPPORT,B-1291-012 1
G1 DWR1265H043 EXTENSION HARNESS,Q-LOGIC LIFT & TILT,H-1265-043 1
H1 ELEASMB7110127 | ELECTRONIC,ASSY,Q-LOGIC AAM MODULE(FW1.45),W/PROGRAM,TB2,LIFT/TILT/RECL.,W/POWER 1

FOOT PLATFORM,(CONFIG #47)

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:40 UTC 2020

136




Multiplier & Top Cover Mounting, TB2 Tilt and Recline

........

5. Lift, Tilt, & Recline

Y

J | ,_ 2::‘

Y | { b |

il T | RN LY
i, (/; . _\\'?&_ 1 ~

Complete Top Center

— _"_p_". kP e A Gen 2 Bracket
| . A j Mounting Location
| \\‘-;.- -
N
b
s
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:40 UTC 2020

137



Multiplier & Top Cover Mounting, TB2 Tilt and Recline

PRIDE
Item Part No. Name Qty
Al DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
B1 DWR1367D078 MULTIPLIER BRACKET, TRU-BALANCE 2 POWER RECLINE 1
B2 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 2
B3 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
c1 BRK8110019 MULTIPLIER L-BRACKET, TRU-BALANCE 2 POWER RECLINE 1
c2 SCRPPH1379 SCREW,PPH,BLACK ZINC,8-32 X 0.375" 2
c3 SCRPPH1031 SCREW, PPH,BLACK ZINC,4-40 X 3/8" 2
D1 PLSASMB2069 PLASTIC,ASSY,CURTIS/AAM, TRU-BALANCE 2 POWER RECLINE 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:40 UTC 2020
138




Elevate Inhibit Retro Kit, TB2 Lift and Tilt

nnnnnnnn

5. Lift, Tilt, & Recline

RETROFITS THESE PARTS — %

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:41 UTC 2020
139



Elevate Inhibit Retro Kit, TB2 Lift and Tilt

PRIDC
Item Part No. Name Qty
A1 DWR1290C085 ADJUSTMENT PLATE,ELEVATE INHIBIT,TB2 LIFT & TILT 1
A2 SCRPPH1419 SCREW,PPH,STEEL,ZINC,4-40 X 0.50",B-1005-262 2
A3 SCRPFH1083 SCREW,PFH,UNDERCUT,STAINLESS STEEL,4-40 X 0.50",B-1005-263 2
A4 ELEASMB7336 ELECTRONIC,ASSY,ELEVATE INHIBIT SWITCH BOX,TRU-BALANCE 2 POWER LIFT & TILT,C-1290-088 | 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:41 UTC 2020
140




TB2 Lift, Tilt, and Recline, Electrical System Diagram

uuuuuuuu

Electrical System Diagrams

ATTENDANT CONTROL L-

-_._-_-_._-_-_._-_I

|
| i
i i :
| i i
' I
i i :
i I 1 :
| i s [ AAM MODULE jr—-—-—-—-— 1 3
e _: L B i
| i
I 1: \ rIE 3
K ' "' !
751 B¢ !ﬁ il |
. L t 1 J I
! — i

RECLINE
L 1 _ACTUATOR ¥

- ——— — — ——

|

|

|

_______________________________ : |

;El . E_DWRT265H04G I :

| :
~~~~~~~~~~~~~~~~ ' | [POWER CHAIR
r=-={_LIFT & TILT ACTUATOR 2 {--—"~" | : i | uTiLTy TRAY

J_|_|_ ELEASMB7336 | i i

| :

@) i | !

i |

i |

i |

P o o o o e = s e e — — —

ﬁ DWR1265H083

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:41 UTC 2020
141



TB2 Lift, Tilt, and Recline w/ Independent Legs, Electrical System Diagram

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:41 UTC 2020
142



TB2 Lift, Tilt, and Recline w/ Independent Legs, Electrical System Diagram

uuuuuuuu

Electrical System Diagrams

r I ATTENDANT CONTROL '—I
! 1
| l — o
| ] 8
. , I
! 1 =
! e — £
! e [ AAM MODULE jr—-—-—-—-— . &
s e sesras e 4 ! '
&
@ﬁ] DWR1265H007
<
[y
[
g Iia“d,’ DWR1265H006
utr_
00 DWR1265H044
— | LIFT & TILT ACTUATOR 1 —-—-— | STTEEEEEITYE:
| l L 4 RECLNE |
= @@ } - i _ACTUATOR |
, : |
fom - * i
| ! S
s ! T i
;E wsf ] DWR1265H043 l | @
: |
[ .
—-——{_LIFT & TILT AGTUATOR 2 - | e
: |[] ELEASMBT7336 1 : |
! () ] . ,
i b P | |
| O | :
L3 I 1 . |
' @_ | | ! i
! " bsoisncenoensia: i
| L DWR1265H083

TB2 Electronics IPB

143

Export Date: Tue Sep 08 03:06:42 UTC 2020



TB2 Lift, Tilt, and Recline w/ Combined Legs, Electrical System Diagram

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:42 UTC 2020
144



TB2 Lift, Tilt, and Recline w/ Combined Legs, Electrical System Diagram

uuuuuuuu

Electrical System Diagrams

DWR1265H005

e e e [ AAM MODULE ff—-—-—-—-— ]

SIDE
VIEW

!

!

“‘ !
3 |

F o o o e = e ¢ e e — - — = —

ﬁ DWR1265H083

DWR1111H053

RECLINE .
- T ACTUATOR [

7

POWER CHAIR
UTILITY TRAY

TB2 Electronics IPB

145

Export Date: Tue Sep 08 03:06:42 UTC 2020



TB2 Lift, Tilt, and Recline w/ AFP, Electrical System Diagram

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:42 UTC 2020
146



TB2 Lift, Tilt, and Recline w/ AFP, Electrical System Diagram -

uuuuuuuu

Electrical System Diagrams

ATTEN DANT CONTROL L

._._-_._-_-_._._-_!

e e e e [ AAM MODULE ff—-—-—-—-— .

DWR1111H053

[1a

y DWR1265H007
3]
r|

55 DWR1265H044 J‘QL Jﬂl ﬂl

I _I,}JE:I—ET_I!TT.LACJU&TQ,H.EJ_ ''''' | DWR1111H047
E= A RECLINE l :
€ i) | '] ACTUATOR ¥

i

|
!
|
|
|
!
| [PowER cHAIR
|
|
|
|
|
|

UTILITY TRAY

|

|

| i
i o i
| © o) |
i 1
| L DWR1265H083

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:42 UTC 2020
147



Electronics Box - ALM - So

lid Back Plate/ Cane Mount, TB2

This page intentionally left blank

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:42 UTC 2020
148



Electronics Box - ALM - Solid Back Plate/ Cane Mount, TB2

PRIDC
9. Standard Electronics Box Assy's
A1 | ALM, Synergy Shape Back Electronics Mounting Box 5 \
8|
B1 | ALM, Remote Plus/VR2 TB2 Electronics Mounting Box o o
8|
The complete assembly must be ordered. ‘ = —
Individual components are not available. ' ol ° 5 »
] ‘; Q o
) | Q
E )
°
<
© R

TB2 Electronics IPB

149

Export Date: Tue Sep 08 03:06:43 UTC 2020



Electronics Box - ALM - Solid Back Plate/ Cane Mount, TB2

PRIDC
Item Part No. Name Qty
A1 FRMASMB10502 MOUNTING,ASSY,ELECTRONICS BOX,SYNERGY SHAPE BACK,ALM,TRU-BALANCE 2 POWER TILT 1
B1 FRMASMB10499 MOUNTING,ASSY,ELECTRONICS BOX,REMOTE PLUS/VR2, TRUBALANCE 2 POWER TILT 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:43 UTC 2020
150




Electronics Box - AAM - Solid Back Plate/ Cane Mount, TB2

PRIDC
9. Standard Electronics Box Assy's
.
A1 | AAM Solid Back Plate Electronics Mounting Box ) &
The complete assembly must be ordered. \ e
Individual components are not available. ) —
o ) ‘ P-)
[ ﬁ
o
Q
& g -

0 o

O

TB2 Electronics IPB

151

Export Date

: Tue Sep 08 03:06:43 UTC 2020



Electronics Box - AAM - Solid Back Plate/ Cane Mount, TB2

PRIDC
Item Part No. Name Qty
A1 FRMASMB10503 MOUNTING,ASSY,ELECTRONICS BOX,SOLID BACK PLATE,AAM 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:43 UTC 2020
152




Electronics Box - Switch-it - Solid Back Plate/ Cane Mount, TB2

PRIDC
9. Standard Electronics Box Assy's
\"
A1 |Remote Plus, Solid Back Plate, Switch-it Electronics Mounting Box ly 8 oD
L
L]
B1 |[Remote Plus, Switch-it Electronics Mounting Box |
5 ) \\ Y
L]
The complete assembly must be ordered. Iy ® i
Individual components are not available. s ° e
45 4 | o <
L]
C > &
< <
- @

TB2 Electronics IPB

153

Export Date: Tue Sep 08 03:06:44 UTC 2020



Electronics Box - Switch-it - Solid Back Plate/ Cane Mount, TB2

PRIDCE
Item Part No. Name Qty
A1 FRMASMB10504 MOUNTING,ASSY,ELECTRONICS BOX,SOLID BACK PLATE,SWITCHIT,TRU-BALANCE 2 POWER TILT 1
B1 FRMASMB10501 MOUNTING,ASSY,ELECTRONICS BOX,SWITCH-IT, TRU-BALANCE 2 POWER TILT 1
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:44 UTC 2020

154



Electronics Box - SingleSwitch - Solid Back Plate/ CaneMount, TB2

........

9. Standard Electronics Box Assy's

A1 |Single Switch, Solid Back Plate Electronics Mounting Box

The complete assembly must be ordered.
Individual components are not available.

TB2 Electronics IPB

155

Export Date: Tue Sep 08 03:06:44 UTC 2020



Electronics Box - SingleSwitch - Solid Back Plate/ CaneMount, TB2

PRIDC
Item Part No. Name Qty
A1 FRMASMB11069 MOUNTING,ASSY,ELECTRONICS BOX,SOLID BACK PLATE,SINGLE SWITCH,TRU-BALANCE 2 POWER | 1

TILT

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:44 UTC 2020
156




Electronics Box to Push Bar Mounting Bracket, TB2

PRIDC
9. Standard Electronics Box Assy's
A1 | Synergy/Seat Tilt, Push Bar Electronics Mounting Box
The complete assembly must be ordered.
Individual components are not available.
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:45 UTC 2020

157



Electronics Box to Push Bar Mounting Bracket, TB2

PRIDC
Item Part No. Name Qty
A1 FRMASMB9898 MOUNTING BRACKET,ASSY,ELECTRONICS BOX,PUSH BAR MOUNT,SYNERGY SEAT/TILT,D-1358-014 | 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:45 UTC 2020
158




Electronics Box - Compact, Solid Back, TB2

PRIDC
10. Compact Electronics Box Assy's
. . TP
Al Compact Electronics Mounting Assembly o
for a Solid Back Plate P
The complete mounting assembly includes: ’ . =
the electronic box assembly, o) @
the controller plate, and hardware. o

B1

Compact Electronic Box Assembly

TB2 Electronics IPB

159

Export Date: Tue Sep 08 03:06:45 UTC 2020



Electronics Box - Compact, Solid Back, TB2

PRIDC
Item Part No. Name Qty
A1 FRMASMB14208 MOUNTING,ASSY,COMPACT ELECTRONICS BOX,SOLID BACK PLATE,Q-LOGIC/REMOTE 1
PLUS/VR2/NE/NE PLUS
B1 PLSASMB2077 ELECTRONIC,ASSY,BOX,COMPACT,PLASTIC,TB2 TILT,E-1358-016 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:45 UTC 2020
160




Electronics Box - Compact, TB2

uuuuuuuu

10. Compact Electronics Box Assy's

Al

Compact Electronics Mounting Assembly

The complete mounting assembly includes:

the electronic box assembly,
the back support plate,
the controller plate, and hardware.

Compact Electronic Box Assembly

TB2 Electronics IPB

161

Export Date: Tue Sep 08 03:06:45 UTC 2020



Electronics Box - Compact, TB2

PRIDC
Item Part No. Name Qty
A1 FRMASMB14207 MOUNTING,ASSY,COMPACT ELECTRONICS BOX,Q-LOGIC/REMOTE PLUS/VR2/NE/NE PLUS 1
B1 PLSASMB2077 ELECTRONIC,ASSY,BOX,COMPACT,PLASTIC,TB2 TILT,E-1358-016 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:45 UTC 2020
162




Electronics Mount - Compact Ele Box, thru Toggle, TB2

uuuuuuuu

10. Compact Electronics Box Assy's

Al

Compact Electronics Mounting Assembly
With VR2, Remote Plus, and Curtis Thru Toggle

The complete mounting assembly includes:
the electronic box assembly,
the support back plate, and hardware.

B1

Compact Electronic Box Assembly

TB2 Electronics IPB

163

Export Date: Tue Sep 08 03:06:46 UTC 2020



Electronics Mount - Compact Ele Box, thru Toggle, TB2

PRIDC
Item Part No. Name Qty
A1 FRMASMB15905 MOUNTING,ASSY,COMPACT ELECTRONICS BOX,VR2/NE/NE+ THRU TOGGLE/Q-LOGIC THRU 1
TOGGLE/REMOTE PLUS THRU TOGGLE
B1 PLSASMB2077 ELECTRONIC,ASSY,BOX,COMPACT,PLASTIC,TB2 TILT,E-1358-016 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:46 UTC 2020
164




Electronics Mount - Compact Ele Box, thru Toggle, Solid Back, TB2

uuuuuuuu

10. Compact Electronics Box Assy's

Compact Electronics Mounting Assembly With I " ' & ol . P
A1 |aVR2, Remote Plus, and Curtis Thru Toggle h o
and a Solid Back Plate R © D
The complete mounting assembly includes 4 R - o
the electronic box assembly and hardware. K S le Ll.o®

B1 |Compact Electronic Box Assembly

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:46 UTC 2020
165



Electronics Mount - Compact Ele Box, thru Toggle, Solid Back, TB2

ELECTRONIC,ASSY,BOX,COMPACT,PLASTIC,TB2 TILT,E-1358-016 1

PRIDE
Item Part No. Name Qty
A1 FRMASMB15906 MOUNTING,ASSY,COMPACT ELECTRONICS BOX,SOLID BACK PLATE,VR2/NE/NE+ THRU TOGGLE/Q- | 1
LOGIC THRU TOGGLE/REMOTE PLUS THRU TOGGLE
B1 PLSASMB2077

TB2 Electronics IPB

166

Export Date: Tue Sep 08 03:06:46 UTC 2020



Electronics Mount - Compact Box Bracket, Offset, 10"-28", TB2

uuuuuuuu

10. Compact Electronics Box Assy's

10" - 16" Width
Ala

14" - 20" Width

Assemblies include the mounting
brackets and hardware.

Individual components are not available.

18" - 24" Width
Alc

22" - 28" Width

P

5"
Bracket

— :\_
™, N
% R
A
v\
i
. ]
~ ‘\\
\ A o
“ '\“ 5
|
]
[s]
o
0
]
s 4]
3 S
] . %
’ @

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:46 UTC 2020
167



Electronics Mount - Compact Box Bracket, Offset, 10"-28", TB2

PRIDC
Item Part No. Name Qty
Ala FRMASMB16405 MOUNTING BRACKET,ASSY,ELECTRONICS BOX,10"-16",0FFSET,W/MOUNTING HARDWARE 1
A1b FRMASMB16406 MOUNTING BRACKET,ASSY,ELECTRONICS BOX,14"-20",0FFSET,W/MOUNTING HARDWARE 1
Alc FRMASMB16407 MOUNTING BRACKET,ASSY,ELECTRONICS BOX,18"-24",0FFSET,W/MOUNTING HARDWARE 1
A1d FRMASMB17094 MOUNTING BRACKET,ASSY,ELECTRONIC BOX,22"-28",0FFSET,W/MOUNTING HARDWARE 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:46 UTC 2020
168




Q-Logic, LED Lights, TB2 Tilt or Tilt and Recline

7. Curtis LED Light Assy's

|
After 1/2/2012 |-
Prior to 1/2/2012

Lighting Module
A Replacement A il

**Please note: Units

manufactured prior to P
January 2, 2012 REQUIRE| @ |
the selection of |
ELEASMB7110035 (D1).**| | |

LM MODULE

\EEE )

b
TO UTILITY TRAY

TB2 Electronics IPB

169

Export Date: Tue Sep 08 03:06:47 UTC 2020



Q-Logic, LED Lights, TB2 Tilt or Tilt and Recline

PRIDC
Item Part No. Name Qty
A1-A11 ELEASMB6211 ELECTRONIC,ASSY,Q-LOGIC/LM,TRU-BALANCE 2 POWER TILT W/LIGHTS 1
A1 DWR1010E765 ELECTRONIC,LM INTERFACE BRACKET, TRU-BALANCE 2 POWER TILT,E-1010-765 1
A2 DWR1265H047 ELECTRONIC,HARNESS,FULL LIGHT,LED,TRU-BALANCE 2 POWER TILT,H-1265-047 1
A3 DWR1111H047 HARNESS,BUS CABLE, 1.0 METER,FEMALE/FEMALE H-1111-047,(CURTIS:17881302) 1
A4 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
*A5 PLSTIE1004 TIE WRAP,BLACK,8" 5
*AG ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 1
A7 SCRPPH1072 SCREW,PPH,BLACK ZINC,8-32 X 1.00" 2
A8 NUTNYLK1018 NUT, NYLOCK,BLACK ZINC,8-32 2
A9 SCRASBH1157 SCREW,BHSCS,BLACK ZINC,1/4-20 X 0.375",W/NYLON PATCH 1
A10 ELEASMB6213 ELECTRONIC,ASSY,Q-LOGIC LM MODULE,W/PROGRAMMING,LED LIGHTS,QUANTUM 1
A11 MEC138637 BRACKET,STRAIN RELIEF,AM1 1
B1-C1 ELEASMB5720 FULL LIGHT,ASSY,12V,LED LIGHTS, TRU-BALANCE 2 POWER TILT,E-1010-755 1
B1 DWR1010B161 SPACER,BLACK,PLASTIC,0.157" ID X 0.866" OD X 0.22" TH,B-1010-161 4
B2 ELEASMB7120026 | LIGHT,ASSY,RED/AMBER,LED E-MARKED LIGHTS,SYNERGY,REAR/RIGHT,ELEASMB7120026 1
B3 ELEASMB7120025 | LIGHT,ASSY,RED/AMBER,LED E-MARKED LIGHTS,SYNERGY,REAR/LEFT,ELEASMB7120025 1
B4 ELEASMB7120023 | FULL LIGHT,ASSY,WHITE/AMBER,LED E-MARKED LIGHTS,SYNERGY,FRONT/LEFT,ELEASMB7120023 | 1
B5 ELEASMB7120024 | FULL LIGHT,ASSY,WHITE/AMBER,LED LIGHTS,SYNERGY,FRONT/RIGHT,ELEASMB7120024 1
B6 NUTNYLK1065 NUT,NYLOCK,BLACK ZINC,M4-.7 4
B7 SCRSHCS1237 SCREW,SHCS,BLACK ZINC,M4-.7 X 35MM 4
B8 MOUNTING BRACKET,SWING ARM TOWER,SYNERGY/EURO LED LIGHTS,C-1010-318 4
B9 MOUNTING BRACKET,WIDTH ADJUSTMENT,SYNERGY/EURO LED LIGHTS,C-1010-319 4
B10 SCRSHCS1127 SCREW,SHCS,BLACK ZINC,M4-.7 X 10MM,GRADE 8.8 16
B11 NUTNYLK1020 NUT,NYLOCK,ZINC,M4-.7 16
c1 FRMASMB10938 MOUNTING BRACKET,ASSY,LED LIGHTS,SYNERGY,B-1010-172 4
D1 ELEASMB7110035 | ELECTRONIC,ASSY,Q-LOGIC LM MODULE (FW 1.16),W/PROGRAMMING,LED LIGHTS,QUANTUM 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:47 UTC 2020

170




Q-Logic, LED Lights, Power Seat w/ Tilt or Tilt and Recline

uuuuuuuu

7. Curtis LED Light Assy's

Lighting Module
A Replacement A

**Please note: Units
manufactured prior to
January 2, 2012 REQUIRE
the selection of
ELEASMB7110035 (D1).**

LM MODULE

Ref#| Manufacturer Date

A10| After 1/2/2012

g =
D1 | Priorto 1/2/2012
) TO UTJLITY TRAY
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:48 UTC 2020

171



Q-Logic, LED Lights, Power Seat w/ Tilt or Tilt and Recline

PRIDC
Item Part No. Name Qty
A1-A11 ELEASMB6211 ELECTRONIC,ASSY,Q-LOGIC/LM,TRU-BALANCE 2 POWER TILT W/LIGHTS 1
A1 DWR1010E765 ELECTRONIC,LM INTERFACE BRACKET, TRU-BALANCE 2 POWER TILT,E-1010-765 1
A2 DWR1265H047 ELECTRONIC,HARNESS,FULL LIGHT,LED,TRU-BALANCE 2 POWER TILT,H-1265-047 1
A3 DWR1111H047 HARNESS,BUS CABLE, 1.0 METER,FEMALE/FEMALE H-1111-047,(CURTIS:17881302) 1
A4 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
*A5 PLSTIE1004 TIE WRAP,BLACK,8" 5
*AG ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 1
A7 SCRPPH1072 SCREW,PPH,BLACK ZINC,8-32 X 1.00" 2
A8 NUTNYLK1018 NUT, NYLOCK,BLACK ZINC,8-32 2
A9 SCRASBH1157 SCREW,BHSCS,BLACK ZINC,1/4-20 X 0.375",W/NYLON PATCH 1
A10 ELEASMB6213 ELECTRONIC,ASSY,Q-LOGIC LM MODULE,W/PROGRAMMING,LED LIGHTS,QUANTUM 1
A11 MEC138637 BRACKET,STRAIN RELIEF,AM1 1
B1-C1 ELEASMB5719 FULL LIGHT,ASSY,12V,LED LIGHTS,SYNERGY SEAT,E-1010-754 1
B1 DWR1010B161 SPACER,BLACK,PLASTIC,0.157" ID X 0.866" OD X 0.22" TH,B-1010-161 4
B2 DWR1010B173 SLOT NUT,SYNERGY/EURO LED LIGHTS,B-1010-173 4
B3 ELEASMB7120026 | LIGHT,ASSY,RED/AMBER,LED E-MARKED LIGHTS,SYNERGY,REAR/RIGHT,ELEASMB7120026 1
B4 ELEASMB7120025 | LIGHT,ASSY,RED/AMBER,LED E-MARKED LIGHTS,SYNERGY,REAR/LEFT,ELEASMB7120025 1
B5 ELEASMB7120023 | FULL LIGHT,ASSY,WHITE/AMBER,LED E-MARKED LIGHTS,SYNERGY,FRONT/LEFT,ELEASMB7120023 | 1
B6 ELEASMB7120024 | FULL LIGHT,ASSY,WHITE/AMBER,LED LIGHTS,SYNERGY,FRONT/RIGHT,ELEASMB7120024 1
B7 NUTNYLK1065 NUT,NYLOCK,BLACK ZINC,M4-.7 4
B8 SCRSHCS1237 SCREW,SHCS,BLACK ZINC,M4-.7 X 35MM 4
B9 SCRSHCS1096 SCREW,SHCS,BLACK ZINC,M4-.7 X 20MM 8
c1 FRMASMB10938 MOUNTING BRACKET,ASSY,LED LIGHTS,SYNERGY,B-1010-172 4
D1 ELEASMB7110035 | ELECTRONIC,ASSY,Q-LOGIC LM MODULE (FW 1.16),W/PROGRAMMING,LED LIGHTS,QUANTUM 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:48 UTC 2020

172




Q-Logic, LED Lights, TB2 Recline

uuuuuuuu

7. Curtis LED Light Assy's

Lighting Module
A Replacement A

**Please note: Units
manufactured prior to
January 2, 2012 REQUIRE
the selection of
ELEASMB7110035 (D1).**

Ref#| Manufacturer Date

After 1/2/2012

Prior to 1/2/2012

)
o

TO UTILITY TRAY

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:48 UTC 2020
173



Q-Logic, LED Lights, TB2 Recline

PRIDC
Item Part No. Name Qty
A1-A11 ELEASMB6210 Q-LOGIC/LM,SYNERGY/RECLINE, W/LIGHTS & POWER OPTIONS 1
A1 DWR1010C337 ELECTRONIC,LM INTERFACE BRACKET,SYNERGY/SPECIALTY SEAT 1
A2 DWR1265H051 ELECTRONIC,HARNESS,FULL LIGHT,LED,NE+,SYNERGY SEAT 1
A3 DWR1111H047 HARNESS,BUS CABLE, 1.0 METER,FEMALE/FEMALE H-1111-047,(CURTIS:17881302) 1
A4 DWR1111H053 HARNESS,MULTIPLIER BOX,0.3 METER,H-1111-053,(CURTIS: 17869700) 1
A5 DWR1360A004 T-NUT,5/16-18 X 0.875",A-1360-004 2
A6 SCRPPH1080 SCREW,PPH,BLACK ZINC,8-32 X 0.75" 2
A7 SCRHHCS1256 SCREW,HHCS,BLACK ZINC,5/16-18 X 0.625",GR 8 W/PATCH 2
A8 PLSTIE1004 TIE WRAP,BLACK,8" 5
A9 ELECTRONIC,WRAP,3/8"D,1 FT,SPIRAL 1
A10 ELEASMB6213 ELECTRONIC,ASSY,Q-LOGIC LM MODULE,W/PROGRAMMING,LED LIGHTS,QUANTUM 1
A11 MEC138637 BRACKET,STRAIN RELIEF,AM1 1
B1-C1 ELEASMB5719 FULL LIGHT,ASSY,12V,LED LIGHTS,SYNERGY SEAT,E-1010-754 1
B1 DWR1010B161 SPACER,BLACK,PLASTIC,0.157" ID X 0.866" OD X 0.22" TH,B-1010-161 4
B2 DWR1010B173 SLOT NUT,SYNERGY/EURO LED LIGHTS,B-1010-173 4
B3 ELEASMB7120026 | LIGHT,ASSY,RED/AMBER,LED E-MARKED LIGHTS,SYNERGY,REAR/RIGHT,ELEASMB7120026 1
B4 ELEASMB7120025 | LIGHT,ASSY,RED/AMBER,LED E-MARKED LIGHTS,SYNERGY,REAR/LEFT,ELEASMB7120025 1
B5 ELEASMB7120023 | FULL LIGHT,ASSY,WHITE/AMBER,LED E-MARKED LIGHTS,SYNERGY,FRONT/LEFT,ELEASMB7120023 | 1
B6 ELEASMB7120024 | FULL LIGHT,ASSY,WHITE/AMBER,LED LIGHTS,SYNERGY,FRONT/RIGHT,ELEASMB7120024 1
B7 NUTNYLK1065 NUT,NYLOCK,BLACK ZINC,M4-.7 4
B8 SCRSHCS1237 SCREW,SHCS,BLACK ZINC,M4-.7 X 35MM 4
B9 SCRSHCS1096 SCREW,SHCS,BLACK ZINC,M4-.7 X 20MM 8
c1 FRMASMB10938 MOUNTING BRACKET,ASSY,LED LIGHTS,SYNERGY,B-1010-172 4
D1 ELEASMB7110035 | ELECTRONIC,ASSY,Q-LOGIC LM MODULE (FW 1.16),W/PROGRAMMING,LED LIGHTS,QUANTUM 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:48 UTC 2020

174




High Power Toggle and Mount, Tubular Arms — <
PRIDC

uuuuuuuu

8. Toggle & Push Button User Controls

- Only serviceable components contain callouts. For components without callouts, the entire assembly must be selected.

€3
Right &
7 a®
Left / 0
|, e e
@?® )

o] .
Toggle Handle » ﬁ %%

TO ELECTRICAL g

*Included with B1 %% HARNESS ARMREST
TB2 Electronics IPB Export Date: Tue Sep 08 03:06:49 UTC 2020

175



High Power Toggle and Mount, Tubular Arms

PRIDC
Item Part No. Name Qty
Ala-B1 ELEASMB5157 ELECTRONIC,ASSY,HIGH POWER TOGGLE BOX,W/MOUNTING BRACKET,RIGHT 1
A1b - B1 ELEASMB5156 ELECTRONIC,ASSY,HIGH POWER TOGGLE BOX,W/MOUNTING BRACKET,LEFT 1
Ala ELEASMB4950 ELECTRONIC,ASSY,TOGGLE BOX,MULTIPOSITIONAL,QUANTUM,RIGHT,H-1000-178 1
A1b ELEASMB4949 ELECTRONIC,ASSY,TOGGLE BOX,MULTIPOSITIONAL,QUANTUM,LEFT,H-1000-177 1
B1 FRMASMB11354 MOUNTING BRACKET,ASSY,HIGH POWER TOGGLE BOX,W/MOUNTING HARDWARE,MULTI- 1
POSITIONAL
c1 FRMASMB8929 MOUNTING BRACKET,ASSY, TOGGLE BOX,W/THREADED INSERTS 1
D1 DWR1000C390 KNOB,BLACK,RUBBER, TOGGLE BOX,C-1000-390 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:49 UTC 2020
176




Seating Controls and Mounts, Tubular Arms

uuuuuuuu

8. Toggle & Push Button User Controls

- Only serviceable components contain callouts. For components without callouts, the entire

assembly must be selected.

4-way Toggle

4-way Toggle Mount

S ——
t 1
T I

| Front View |

Two points
of height
adjustment

Curtis / AAM 4-way Toggle Harness
Used with Q-Logic 1, 2, & 3 AAM madules.

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:49 UTC 2020

177



Seating Controls and Mounts, Tubular Arms

PRIDE
Item Part No. Name Qty
Al SWTMCRO1099 ELECTRONIC,SWITCH,4-WAY TOGGLE,(PME: M26) 1
A2 FRMASMB17640 MOUNTING BRACKET,ASSY,4-WAY TOGGLE SWITCH,W/TOGGLE BOX CLAMP 1
B1 SWTMCRO1100 ELECTRONIC,SWITCH,4-WAY BUTTON TOGGLE,(PME: S12) 1
B2 FRMASMB17641 MOUNTING BRACKET,ASSY,4-WAY BUTTON TOGGLE SWITCH,W/TOGGLE BOX CLAMP 1
c1 SWTMCRO1098 ELECTRONIC,SWITCH,QUAD PUSH BUTTON,(PME: S24) 1
c2 FRMASMB17642 MOUNTING BRACKET,ASSY,QUAD PUSH BUTTON SWITCH,W/TOGGLE BOX CLAMP 1
D1 FRMASMB8929 MOUNTING BRACKET,ASSY, TOGGLE BOX,W/THREADED INSERTS 1
E1 SCRPPH1029 SCREW, PPH,BLACK ZINC,10-32 X 0.375" 2
F1 DWR1265H038 ELECTRONIC,HARNESS,CURTIS/AAM,4 WAY TOGGLE,H-1265-038 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:49 UTC 2020
178




4 Way Seating Controls for AAM and Switch-it

uuuuuuuu

8. Toggle & Push Button User Controls

0000
®

)

TB2 Electronics IPB

179

Export Date: Tue Sep 08 03:06:50 UTC 2020



4 Way Seating Controls for AAM and Switch-it

PRIDE
Item Part No. Name Qty
Ala-A2 ELEASMB5924 ELECTRONIC,ASSY,W/SWITCH & QUAD PUSH BUTTON 1
Alb - A2 ELEASMB5925 ELECTRONIC,ASSY,W/SWITCH & 4-WAY TOGGLE 1
Alc- A2 ELEASMB5926 ELECTRONIC,ASSY,W/SWITCH & 4-WAY BUTTON TOGGLE 1
Ala SWTMCRO1098 ELECTRONIC,SWITCH,QUAD PUSH BUTTON,(PME: S24) 1
Alb SWTMCRO1099 ELECTRONIC,SWITCH,4-WAY TOGGLE,(PME: M26) 1
Alc SWTMCRO1100 ELECTRONIC,SWITCH,4-WAY BUTTON TOGGLE,(PME: S12) 1
A2 DWR1265H038 ELECTRONIC,HARNESS,CURTIS/AAM,4 WAY TOGGLE,H-1265-038 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:50 UTC 2020
180




Curtis Stand Alone Charger Port

uuuuuuuu

9. Curtis Stand-alone Charger Port Assy

B1 |Stand Alone Joystick Mounting Bracket

Assembly must be ordered.
Individual componets are not available .

Nylock Mut @

Mounted on Side

@

R 440 x 0.50"

&

5/16-18 x 0.50"
GR 8 with Patch

Mounted on Bottom

TB2 Electronics IPB Export Date: Tue Sep 08 03:06:50 UTC 2020
181



Curtis Stand Alone Charger Port

PRIDC
Item Part No. Name Qty
A1 DWR1111H051 HARNESS,CHARGER/PROGRAMMER, 1.0 METER,H-1111-051,(CURTIS: 17880700) 1
B1 FRMASMB11156 MOUNTING BRACKET,ASSY,STAND ALONE JOYSTICK,SIDE RAIL MOUNT,C-1360-163 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:50 UTC 2020
182




.......

Appendix A:Pages Index

4 Way Seating Controls for AAM and Switch-it ... .............. 179
AM1/ AM2 Attendant Control and Recline Plastics . ......... 13, 47, 69
AM1/ AM2, Harnesses and Hardware .. ................. 11, 45, 67
AM1/ AM2, Master Assembly and Modules, After 1/2/12 . ... ... 7,41, 62
AM1/AM2, Master Assembly and Modules, Before 1/2/12 .. . . .. 9, 43, 65
Curtis Stand Alone Charger Port . . . ........................ 181
Electronics Box - AAM - Solid Back Plate/ Cane Mount, TB2 . ....... 151
Electronics Box - ALM - Solid Back Plate/ Cane Mount, TB2 . ....... 148
Electronics Box - Compact, Solid Back, TB2 ... ................ 159
Electronics Box - Compact, TB2 ... ........................ 161
Electronics Box - SingleSwitch - Solid Back Plate/ CaneMount, TB2 .. 155
Electronics Box - Switch-it - Solid Back Plate/ Cane Mount, TB2 .. ... 153
Electronics Box to Push Bar Mounting Bracket, TB2 .. ........... 157
Electronics Mount - Compact Box Bracket, Offset, 10"-28", TB2 . .. .. 167
Electronics Mount - Compact Ele Box, thru Toggle, Solid Back, TB2 .. 165
Electronics Mount - Compact Ele Box, thru Toggle, TB2 ... ........ 163
Elevate Inhibit Retro Kit, TB2 Liftand Tilt . ................. 107, 139
High Power Toggle and Mount, TubularArms . .. ............... 175
High Power Toggles and Mounts, TubularArms . . .. .............. 3
Multiplier & Top Cover Mounting, TB2 Tilt and Recline .. ...... 109, 137
Q-Logic Electronics, TB2 Lift and Tilt (Config#40) . ............... 91
Q-Logic Electronics, TB2 Lift, Tilt and Recline (Config#44) ......... 126
Q-Logic w/ AFP Electronics, TB2 Lift and Tilt (Config #43) .. ....... 103
Q-Logic w/ AFP Electronics, TB2 Lift, Tilt and Recline (Config #47) ... 135
Q-Logic w/ AFP and Attendant Control Electronics, TB2 Lift and Tilt (Config
A3 105
Q-Logic w/ Attendent Control Electronics, TB2 Lift and Tilt (Config #40) . 93
Q-Logic w/ Comb Legs Electronics, TB2 Lift and Tilt (Config #42) .. ... 99
Q-Logic w/ Comb Legs and Attendant Control, TB2 Lift and Tilt (Config #42)
.................................................. 101
Q-Logic w/ Combined Legs Electronics, TB2 Lift, Tilt and Recline (Config
A 133
Q-Logic w/ Ind Legs Electronics, TB2 Lift and Tilt (Config#41) .. ... .. 95

Q-Logic w/ Ind Legs Electronics, TB2 Lift, Tilt and Recline (Config #45) 129
Q-Logic w/ Ind Legs and Attendant Control Electronics, TB2 Lift and Tilt

(Config#41) . ... e 97
Q-Logic, LED Lights, Power Seat w/ Tilt or Tilt and Recline ... ...... 171
Q-Logic, LED Lights, TB2Recline . ......................... 173
Q-Logic, LED Lights, TB2 Tiltor Tiltand Recline . ............... 169
Remote Plus / Switch-it, Recline Hardware . .................... 61
Remote Plus / Switch-it, Recline, Harnesses . . ... .............. 59
Remote Plus / Switch-it, Recline, Master Assembly and Switch-it Box .. 57
Remote Plus / Switch-it, TiltHardware ... ..................... 37
Remote Plus / Switch-it, Tilt Harnesses . . ..................... 35
Remote Plus / Switch-it, Tilt Master Assembly and Switch-it Box ...... 33
Remote Plus / Switch-it, Tilt and Recline Hardware . .............. 85
Remote Plus / Switch-it, Tilt and Recline Harnesses .. .. .......... 83

Remote Plus / Switch-it, Tilt and Recline, Attendant Control Hardware . . 86
Remote Plus / Switch-it, Tilt and Recline, Master Assembly and Switch-it
BOX .. e 81

Remote Plus, ALM-ALMSL Hardware .. .......................... 31
Remote Plus, ALM-ALMSL Harnesses . .. ...................oo... 29
Remote Plus, ALM-ALM5L Master Level Table . .................... 27
Seating Controls and Mounts, TubularArms . ... .................. 177
TB2 Electronics, Shark, VSI, VR2 Harnesses and Pressure Pads . ... .. 38, 88
TB2 Lift and Tilt w/ AFP and Attendant Control, Electrical System Diagram . 124
TB2 Lift and Tilt w/ AFP, Electrical System Diagram .. ............... 122
TB2 Lift and Tilt w/ Attendant Control, Electrical System Diagram . ....... 112
TB2 Lift and Tilt w/ Combined Legs and Attendant Control, Electrical System
Diagram . ... 120
TB2 Lift and Tilt w/ Combined Legs, Electrical System Diagram . ........ 118
TB2 Lift and Tilt w/ Independent Legs Electrical System Diagram . ....... 114
TB2 Lift and Tilt w/ Independent Legs and Attendant Control, Electrical System
Diagram . . ... 116
TB2 Lift and Tilt, Electrical System Diagram . .. .................... 11
TB2 Lift, Tilt, and Recline w/ AFP, Electrical System Diagram . .......... 146

TB2 Lift, Tilt, and Recline w/ Combined Legs, Electrical System Diagram . . .144
TB2 Lift, Tilt, and Recline w/ Independent Legs, Electrical System Diagram . 142

TB2 Lift, Tilt, and Recline, Electrical System Diagram ... ............. 141
TB2 Recline, AAM, Hardware . ................ ... . ..c0uuiunin.. 55
TB2 Recling, AAM, Harnesses . .. ... ... 53
TB2 Recline, AAM, Master Assembly, After 1/2/12 . . .. ............... 49
TB2 Recline, AAM, Master Assembly, Before 1/2/12 . ... .............. 51
TB2 Single Switch through Current LimitBox . ....................... 5
TB2 Tilt and Recline, AAM Master Assembly, After 1/2/12 ... ... ........ 71
TB2 Tilt and Recline, AAM Master Assembly, Before 1/2/12 ... .......... 75
TB2 Tilt and Recline, AAM, Hardware . ........................... 79
TB2 Tilt and Recline, AAM, Harnesses . .......................... 77
TB2Tilt, AAM, Hardware .. .......... ... ... .0, 25
TB2 Tilt, AAM, Harnesses . .. ............0iiuiiiiiiiinnnnnn. 23
TB2 Tilt, AAM, Master Assembly, After 1/2/12 . . .. ...... ... .. .. .... 15
TB2 Tilt, AAM, Master Assembly, Before 1/2/12 . . ... ... .. ........... 19
Tilt thru Toggle Harness and InhibitAssy .. ........... .. .. .. .. ..... 1

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:50 UTC 2020

183



.......

Appendix B:Parts Index

BRK8110019 . ............ ... ....... 14, 48, 56, 70, 80, 110, 138
CLPCBLC1025 .................... 2,6,12, 26, 32, 40, 46, 68, 90
CTL137822 .. .14, 24,48,54,70,78, 94, 98, 102, 106, 128, 130, 134, 136
CTLDCIM30 ..o 28
CTLDCA373 . e 28
CTLDCA387 .. e 34, 58, 82
DWR1000C390 . ... ... i 4,176
DWRI1010B161 . ... . 170,172,174
DWRI010B173 . ... i 172,174
DWR1010C318 . ... e 170
DWR1010C319 . ... 170
DWR1010C337 ... 174
DWR1010D298 . 14, 26, 48, 56, 70, 80, 94, 98, 102, 106, 128, 130, 134,
136

DWR1O10E76S . ... ... . i 170,172
DWR1111H047 . 12, 24, 46, 54, 68, 78, 92, 94, 96, 98, 100, 102, 104, 106,

128, 130, 134, 136, 170, 172, 174

DWRMMITHOST ..o 182
DWR1111HO053 . 14, 24, 48, 54, 70, 78, 94, 98, 102, 106, 110, 128, 130,
134, 136, 138, 170, 172, 174

DWR1265C069 . .......... ... . ... ... 2,6,32,40,90
DWR1265H001 . .............. 2,6,12, 24, 30, 40, 46, 68, 78, 84, 90
DWR1265H004 ... ...... .. ... ... .. 12,24, 46,68, 78
DWR1265H005 ............. 24, 30, 36, 54, 60, 78, 84, 100, 102, 134
DWR1265H006 ................. 24, 30, 54, 60, 78, 84, 96, 98, 130
DWR1265H007 . 12, 24, 30, 36, 46, 54, 60, 68, 78, 84, 96, 98, 104, 106,
130, 136

DWR1265H008 . ...... ... . ... . ... . .. i 36, 60, 84
DWR1265H009 . ... ... .. . ... 84
DWR1265HO11 . ... ... . 2,6, 30, 40, 90
DWR1265H012 .. ... 2
DWR1265H016 . ........ .. ... ... ... ..., 12,24, 46, 54, 68, 78
DWR1265H017 . ... ... ... .......... 12, 24, 46, 54, 60, 68, 78, 84
DWR1265H018 . . ... . . . 36
DWR1265H019 . .. ... .. 30
DWR1265H024 . ... .. ... .. ... . .. 40, 90
DWR1265H028 . ... ... ... .. ... . 2, 30, 40, 90
DWR1265H038 . ..... ... .. ... . .. i 178, 180
DWR1265H039 . ....... ... .. ... i 2,6, 30, 40, 90
DWR1265H043 ... 92, 94, 96, 98, 100, 102, 104, 106, 128, 130, 134, 136
DWR1265H044 ... 92, 94, 96, 98, 100, 102, 104, 106, 128, 130, 134, 136
DWR1265H047 . . . ... . 170,172
DWR1265H051 .. ... . 174
DWR1265H052 . ... ... ... . . 2
DWR1265H057 ... ... . . 2
DWR1265H083 ... 92, 94, 96, 98, 100, 102, 104, 106, 128, 130, 134, 136
DWR1290C085 . 92, 94, 96, 98, 100, 102, 104, 106, 108, 128, 130, 134,
136, 140

DWR1291B012 ... 92, 94, 96, 98, 100, 102, 104, 106, 128, 130, 134, 136
DWR1303B026 12, 26, 32, 46, 56, 68, 80, 96, 98, 100, 102, 104, 106, 130,

134, 136

DWR1360A004 . .. ... . . 80, 174
DWR1361HO30 . ...... ... ... ... 18, 22, 50, 52, 74, 76
DWRI136THO37 . ... 30
DWR1367D078 . ... . . 110, 138
DWR1367HO02 . ... ... . . . 82
DWR1367HO03 . ... .. 82
DWRI1367HO06 . ... ... . ... 58
DWR1367HOO7 . ... . . 58
DWR1367HO09 . ... ... . . . 34
DWRI1367HO10 ... .. 82
DWRI1367HO13 . ... 82
DWRI1367HO14 . ... 82
DWRI367HO7 ... 58
DWRI367HO19 . ... 58
DWR1367HO21 . ... 34
DWR1367HO022 . .. ... . . . . 82
DWR1367HO024 . .. ... . 58
DWR1367HO25 . .. ... . . . . 82
DWRI1367HO26 . ... ... ... . . 82
DWRI1367HO27 . ... .. 82
DWR1367HO028 . .. ... . . . . 82
DWR1367HO029 ... ... . . .. 58
DWRI1367HO30 . ... ... 34
DWRI1367HO31 . ... 34
ELE121670 . .. . 16
ELE121671 16
ELE121672 . . . 72
ELE121673 . .. 72
ELE121676 . . ... . 50
ELE121677 . 50
ELE121679 ... ... 8,42,64
ELE121680 . ... ... 8,42,64
ELE142518 . . ... . 40, 90
ELE142519 ... ... ... ... .. ... 2,6, 12, 24, 30, 40, 46, 68, 90
ELEASMB3524 . . ... ... 4
ELEASMB3525 .. ... .. . 4
ELEASMB4949 . . ... ... . e 176
ELEASMB4950 ... ... ... e 176
ELEASMBS143 . . ... 40, 90
ELEASMBST47 . . . 2
ELEASMBS154 . . .. 16
ELEASMBS156 ... ... 4,176
ELEASMBS1S7 . ... 4,176
ELEASMBS350 ... ... 16
ELEASMBS351 . ... 16
ELEASMBS366 ... ... ... i 40, 90
ELEASMBS372 . . .. e 16
ELEASMBS375 . ... e 16
ELEASMBS376 . ... .. 16
ELEASMBS497 . ... . e 16

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:50 UTC 2020
184



nnnnnnn

ELEASMBS5498 . ... ... . . . 16
ELEASMBS5499 . ... .. ... .. 16
ELEASMBS5500 . ... ... .. 16
ELEASMBS501T . ... . 16
ELEASMBS5502 . ... ... . 16
ELEASMBS5503 . ... ... 72
ELEASMBS5504 . . .. ... . 72
ELEASMBS50S . ... ... 72
ELEASMBS506 . . ... ... . 72
ELEASMBS507 . ... .. . 72
ELEASMBS5508 . ... ... . 72
ELEASMBS5509 . ... ... . . 50
ELEASMBSS510 . ... . 50
ELEASMBSSTT ... 50
ELEASMBS512 . ... 50
ELEASMBSS513 . ... 50
ELEASMBS514 . ... . 50
ELEASMBS5520 . ... ... . 2
ELEASMBS5602 . ... ... . . 16
ELEASMBS5604 . ... . ... . . 16
ELEASMBS560S . ... . ... 16
ELEASMBS5606 . ... ... ... i 72
ELEASMBS607 . ... ... . 72
ELEASMBS5608 . ... . ... . . 50
ELEASMBS5609 . ... ... .. .. .. 50
ELEASMBS5620 . . ... ... .. i 50
ELEASMBS5621 . ... .. . 50
ELEASMBS5622 . ... ... . . . 50
ELEASMBS5623 . ... ... . 50
ELEASMBS5624 . ... . ... . . . 50
ELEASMBS5625 . ... ... . 50
ELEASMBS626 . ... ... ... i 50
ELEASMBS627 . ... ... 50
ELEASMBS5628 . .. .. ... . . 16
ELEASMBS5629 .. ... ... . ... 16, 16
ELEASMBS5630 .. ... ... . 16
ELEASMBS631 . ... .. . 16
ELEASMBS5632 . ... ... .. 18
ELEASMBS5633 . ... .. . 18
ELEASMBS5634 . ... ... . 18
ELEASMBS63S . ... ... 18
ELEASMBS636 . . ... ... .. 72
ELEASMBS637 . ... ... 72
ELEASMBS638 . ... ... . 72
ELEASMBS5639 . ... ... . . 72
ELEASMBS5640 . ... ... . 72
ELEASMBS641 . ... . 72
ELEASMBS5642 . ... ... . 72
ELEASMBS5643 . ... ... 72
ELEASMBS5694 . ... . ... . ... .. 40, 90
ELEASMBS5719 . .. ... e 172,174

ELEASMBS720 ... ... e 170
ELEASMBS780 ... .. .. 16
ELEASMBS781 . .. . e 16
ELEASMBS813 . . .. 16
ELEASMBS816 . .. ... 16
ELEASMBS817 . .. . 16
ELEASMBS818 . . . . . 16
ELEASMBS819 . ... . e 16
ELEASMBS820 ... ... .. 16
ELEASMBS821 . ... 16
ELEASMBS822 . .. .. .. . e 72
ELEASMBS823 . ... . . e 72
ELEASMBS824 . .. .. ... e 72
ELEASMBS825 ... .. .. . 72
ELEASMBS826 ... ... .. e 72
ELEASMBS827 . . .. . e 72
ELEASMBS828 . .. .. .. . e 50
ELEASMBS829 . .. .. . .. e 50
ELEASMBS830 ... ... 50
ELEASMBS831 . ... e 50
ELEASMBS832 . ... .. 50
ELEASMBS833 . ... . e 50
ELEASMBS924 . . ... ... . e 180
ELEASMBS925 ... .. . .. e 180
ELEASMBS926 ... ... ... e 180
ELEASMBS998 . .. .. ... . 40, 90
ELEASMBBO31 .. ... 2
ELEASMBBO035 ... .. ... . . 8,42,64
ELEASMBBO036 . ........ ... 8,42,64
ELEASMBB043 . . ... ... 8,42,64
ELEASMBB044 . . ... ... . 8,42,64
ELEASMBB045 ... ... ... . . 8,42,64
ELEASMBB096 ... ... ... .. 128
ELEASMBBO097 .. ... . . . e 130
ELEASMBB098 . ... .. ... 134
ELEASMBB099 ... ... ... . . e 136
ELEASMBB100 ... ... ... . 92
ELEASMBB10T . .. .. e 94
ELEASMBB102 ... ... .. . 96
ELEASMBB103 ... .. .. 98
ELEASMBB104 . . ... ... e 100
ELEASMBB105 ... ... ... e 102
ELEASMBB106 ... ... ... .. e 104
ELEASMBB107 ... .. 106
ELEASMBB108 . . ... ... . e 128
ELEASMBB109 ... ... ... 130
ELEASMBBT10 ... ... 134
ELEASMBBT11 .. .. 136
ELEASMBB112 . ... . 92, 94
ELEASMBBT13 . ... 96, 98
ELEASMBB114 . . ... . 100, 102

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:50 UTC 2020
185



.......

ELEASMBG11S . ... . 104, 106
ELEASMBG210 . ... ... 174
ELEASMBG211 . .. .. e 170,172
ELEASMBG213 . .. .. .. . 170,172,174
ELEASMBG386 . ....... ...ttt 40, 90
ELEASMBG389 . ... ... .. 2
ELEASMBG390 .. ... ... ... i 40, 90
ELEASMBG39S . ... ... . 2
ELEASMBG396 .. ... ... ... i 40, 90
ELEASMBG397 .. ... ... 40, 90
ELEASMBG429 . ... .. ... ... 8,42, 64
ELEASMBG433 . ... ... . 8,42, 64
ELEASMBG435 ... .. ... 8,42, 64
ELEASMBGS73 . ... ... 8,42, 64
ELEASMBGS74 ... .. ... 8,42, 64
ELEASMBGS78 . ... ... . . 8,42, 64
ELEASMBG639 .. ... ... ... .. 8,42, 64
ELEASMBG640 .. ... ... ... i 8,42, 64
ELEASMBG641T ... .. ... 8,42, 64
ELEASMBG642 . ... ... . ... 14,48,70
ELEASMBT7096 .. ... ... ... ... 40, 90
ELEASMBT7097 .. ... ... . 40, 90
ELEASMB7098 . ... . ... . .. 40, 90
ELEASMB7099 ... ... .. . ... . . 40, 90
ELEASMB7100 .. ... ... ... i 8,42, 64
ELEASMB7101 . .. ... e 8,42, 64
ELEASMB7102 . .. ... . . e 8,42, 64
ELEASMB7103 . ... ... 8,42, 64
ELEASMBT7107 . ... . 16
ELEASMB7108 . ... ... 16
ELEASMB7109 . ... . ... 16
ELEASMB7110 . ... . 72
ELEASMB7110035 . ... ... ... 170,172,174
ELEASMB7110036 .. ... ..., 10, 44, 66
ELEASMB7110037 . . ... ... e 10, 44, 66
ELEASMB7110038 . ... ... .. i 10, 44, 66
ELEASMB7110039 . ... ... ... i 10, 44, 66
ELEASMB7110040 . ... ... ... 10, 44, 66
ELEASMB7110041 . ... ... . e 10, 44, 66
ELEASMB7110042 . . ... ... . . 10, 44, 66
ELEASMB7110043 . . ... ... . e 10, 44, 66
ELEASMB7110044 . . . . .. . 20
ELEASMB7110047 . . . . .. . e 20, 20
ELEASMB7110049 . . .. .. . . 20
ELEASMB7110051 . ... .. . 20
ELEASMB7110052 . . .. .. . .. 20
ELEASMB7110055 . ... ... .. e 20
ELEASMB7110057 . . .. ... e 20
ELEASMB7110059 . ... .. ... 20
ELEASMB7110062 . ... .. ... e 22
ELEASMB7110064 . ... ... .. e 22

ELEASMB7110066 . ... ... ... ... i 22
ELEASMB7110068 . ... ... ... . .. 76
ELEASMB7110070 . . . ... 76
ELEASMBT7110072 . . . ... 76
ELEASMBT7110074 . . . ... e 76
ELEASMB7110076 . . . . ...t e 76
ELEASMBT7110078 . . . ... e 76
ELEASMB7110080 . ... ... ... . i 76
ELEASMB7110082 . . . ... . .t 76
ELEASMBT7110084 . . . . ... e 76
ELEASMB7110086 . ... ... ... ... 76
ELEASMB7110088 . ... ... ... . i 76
ELEASMB7110091 . . . ... 52
ELEASMB7110093 ... ... ... 52
ELEASMB7110095 .. ... .. ... . 52
ELEASMBT7110097 . . . . ... e 52
ELEASMB7110099 ... ... . .. . . . 52
ELEASMB7110101 . . .. o 52
ELEASMB7110103 . . . ... e 52
ELEASMB7110105 . . . ... e 52
ELEASMB7110107 . . . . e 52
ELEASMB7110109 . . . ... e 52
ELEASMB7110111 .. 52
ELEASMB7110113 . . ... e 92, 94
ELEASMB7110115 . . ..o e 96, 98
ELEASMB7110117 . . e 100, 102
ELEASMB7110119 . . ... e 104, 106
ELEASMB7110121 . . .o 128
ELEASMB7110123 . . ... 132
ELEASMB7110125 . . ... 134
ELEASMBT7110127 . . . 136
ELEASMB7110188 . . ... ... 10, 44, 66
ELEASMB7110161 .. ... ... . e 10, 44, 66
ELEASMB7110162 . . .. ... .. e 10, 44, 66
ELEASMB7110163 . . .. ... e 10, 44, 66
ELEASMB7110165 . ... ... ... e 10, 44, 66
ELEASMB7110166 .. ... .. ...t 10, 44, 66
ELEASMB7110168 . .. ... ... . e 10, 44, 66
ELEASMB7110169 . ... ... .. . i e 10, 44, 66
ELEASMB7110171 . . .. e 10, 44, 66
ELEASMB7110172 . . . ... e 10, 44, 66
ELEASMB7110174 . . ... e 10, 44, 66
ELEASMB7110176 .. ... ... e 10, 44, 66
ELEASMB7110178 . . ... . e e 10, 44, 66
ELEASMB7110179 . . .. .. 10, 44, 66
ELEASMB7110181 . . ... 20
ELEASMB7110182 . . . ... e 20
ELEASMB7110186 . .. ... e 20
ELEASMB7110187 . . ... e 20
ELEASMB7110190 .. . ... 20
ELEASMB7110192 20

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:50 UTC 2020
186



.......

ELEASMB7110193 . . .. .. . 20
ELEASMB7110194 . . . . .. . 20
ELEASMB7110206 . ... ... ... ittt 20
ELEASMB7110207 . ... ... e 20
ELEASMB7110208 . ... .. ... e 20
ELEASMB7110209 . ... ... ... e 20
ELEASMB7110210 . ... ... e 20
ELEASMB7110211 . . .. 20
ELEASMB7110212 . . .. .. . 20
ELEASMB7110213 . . . . .. 20
ELEASMB7110214 . . .. .. 20
ELEASMB7110215 . . . . .. . 20
ELEASMB7110216 . ... ... it e 20
ELEASMB7110217 . . .. . e 20
ELEASMB7110218 . . . . .. . e 20
ELEASMB7110219 . . .. .. . e 20
ELEASMB7110220 . ... .. ... e 20
ELEASMB7110221 . . .. ... 20
ELEASMB7110222 . . . . .. . . 76
ELEASMB7110223 . . .. .. . . e 76
ELEASMB7110224 . . . . .. . e 76
ELEASMB7110225 . . .. .. .. 76
ELEASMB7110226 . .. ... ... i 76
ELEASMB7110227 . . .. .. . e 76
ELEASMB7110228 . . .. .. . . . 76
ELEASMB7110229 . . .. ... . . 76
ELEASMB7110230 . ... ...ttt e 76
ELEASMB7110231 . ... . 76
ELEASMB7110232 . . .. ... e 76
ELEASMB7110233 . . .. .. . e 76
ELEASMB7110234 . . .. .. . 76
ELEASMB7110235 . . .. .. . i 76
ELEASMB7110250 . ... .. ... e 76
ELEASMB7110251 . . .. . . . 76
ELEASMB7110252 . . .. .. . . 76
ELEASMB7110253 . . .. .. . e 76
ELEASMB7110259 . ... . ... . 52
ELEASMB7110260 . ... .. ... ... 52
ELEASMB7110261 . . .. .. .. e 52
ELEASMB7110262 . ... ... .. e 52
ELEASMB7110263 . . .. ... ..t 52
ELEASMB7110264 . . .. .. ... e 52
ELEASMB7110265 . ... ... ... e 52
ELEASMB7110274 . . . . . 52
ELEASMB7110275 . . . . .. . e 52
ELEASMB7110276 . . .. ... .o 52
ELEASMB7110277 . . . . . e 52
ELEASMB7110417 . . . . 20
ELEASMB7110419 . . . . ... 20
ELEASMB7111 . e 72
ELEASMB7112 . .. e e 72

ELEASMB7113 . .. 72
ELEASMB7114 . . 72
ELEASMB7115 . ... 72
ELEASMB7116 . ... . 72
ELEASMB7117 . . 16
ELEASMB7120023 ... ... ... .. e 170,172,174
ELEASMB7120024 ... ... ... .. .. e 170,172,174
ELEASMB7120025 ... ... ... .. .. e 170,172,174
ELEASMB7120026 . ... ...ttt 170,172,174
ELEASMB7159 . .. .. .. 8,42,64
ELEASMB7160 ... ... ... . 8,42,64
ELEASMB7162 ... ... .. . 8,42,64
ELEASMB7163 . ... . . 8,42,64
ELEASMBT7211 ... 16
ELEASMB7336 92, 94, 96, 98, 100, 102, 104, 106, 108, 128, 130, 134, 136, 140
ELESWRP1003 ........ 2,6,12, 26, 32, 40, 46, 56, 68, 80, 90, 170, 172, 174
ELESWRP1008 ....... 92, 94, 96, 98, 100, 102, 104, 106, 128, 130, 134, 136
FRMASMB10455 .. 14, 26, 48, 56, 70, 80, 94, 98, 102, 106, 128, 130, 134, 136
FRMASMB10499 . ... ... . .. . i 150
FRMASMB10501 . ... . . i 154
FRMASMB10502 . ... ... . .. i i 150
FRMASMB10503 . ... ... . i 152
FRMASMB10504 . .. ... .. . i 154
FRMASMB10938 . ... ... ... ... i 170,172,174
FRMASMB11069 ... ... . . i e 156
FRMASMBI1156 . .. ... i 182
FRMASMB11354 . . ... . . e 4,176
FRMASMB14207 . ... ... i 162
FRMASMB14208 . .. .. ... .. . i i 160
FRMASMB14496 .. ... .. ... .. .. 2,6,32,40,90
FRMASMB15905 . ... ... . .. i i 164
FRMASMB15906 . ... ... ... ... 166
FRMASMB16405 . ... ... . .. i e 168
FRMASMB16406 . ... ... ... .. ... 168
FRMASMB16407 . .. ... . i 168
FRMASMB17094 . ... .. 168
FRMASMB17640 . ... ... . . i 178
FRMASMBI7641 . ... i 178
FRMASMBI7642 . ... .. . i 178
FRMASMB8929 . ......... ... ... . ..., 4,176,178
FRMASMBO636 ... ....... .. 4
FRMASMBO898 . ... ... ... . . . . i 158
HARUSHD2081 ... ... . .. . i 60, 84
HARUSHD2189 .. .... ... ... ... . .. .. 30, 36, 60, 84
MEC138556 . 26, 56, 80, 92, 94, 96, 98, 100, 102, 104, 106, 128, 130, 134, 136
MEC138637 . ...... ... . .. 12, 46, 68, 170, 172, 174
NUT8120005 ............ 12, 26, 32, 46, 56, 68, 96, 98, 100, 102, 130, 134

NUTJAM1032 12, 26, 32, 46, 56, 68, 80, 96, 98, 100, 102, 104, 106, 130, 134,
136

NUTNYLK1018
NUTNYLK1020

TB2 Electronics IPB

Export Date: Tue Sep 08 03:06:50 UTC 2020
187



NUTNYLK1065 .. ... .. ... ... .. 170,172,174
NUTNYLK1106 .2, 6, 32, 40, 90, 92, 94, 96, 98, 100, 102, 104, 106, 128,
130, 134, 136

PLSASMB2069 ........ 14, 48, 56, 70, 80, 110, 128, 130, 134, 136, 138
PLSASMB2077 ... ... . . i 160, 162, 164, 166
PLSTIE1004 . 2,6, 12, 26, 32, 40, 46, 56, 68, 80, 90, 92, 94, 96, 98, 100,
102, 104, 106, 128, 130, 134, 136, 170, 172, 174

PLSTIE1005 ......... ... ... ... ...... 56, 80, 128, 130, 134, 136
SCRASBH1148 . . ... ... .. ... . i 2,6,32,40,90
SCRASBHT157 .. ... 170, 172
SCRASBH1277 ... 92,94, 96, 98, 100, 102, 104, 106, 128, 130, 134, 136
SCRHHCS1256 . ... ... . ... i 80,174
SCRHHCS1382 ....... 12, 26, 32, 46, 56, 68, 96, 98, 100, 102, 130, 134

SCRPFH1076 2, 6, 32, 92, 94, 96, 98, 100, 102, 104, 106, 128, 130, 134,
136

SCRPFH1083 92, 94, 96, 98, 100, 102, 104, 106, 108, 128, 130, 134, 136,
140

SCRPPH1029 .. ... . .. . 178
SCRPPH1031 . 12, 14, 26, 46, 48, 56, 68, 70, 80, 110, 110, 128, 130, 134,
136, 138, 138

SCRPPH1072 . ... . 170,172
SCRPPHTI076 ... .. . . . i 40, 90
SCRPPH1080 .12, 26, 46, 56, 68, 80, 92, 94, 96, 98, 100, 102, 104, 106,
110, 128, 130, 134, 136, 138, 174

SCRPPH1165 . 14, 26, 48, 56, 70, 80, 94, 98, 102, 106, 128, 130, 134, 136
SCRPPH1290 .... 92,94, 96, 98, 100, 102, 104, 106, 128, 130, 134, 136
SCRPPH1379 .. ... ... ... ... ... .. ... 14, 48, 56, 70, 80, 110, 138
SCRPPH1419 92, 94, 96, 98, 100, 102, 104, 106, 108, 128, 130, 134, 136,
140

SCRSHCS1096 .. ..... ... ... 172,174
SCRSHCS1127 . ... . 170
SCRSHCS1237 ... ... . . 170,172,174
SWTMAGN1001 . ................. 12, 24, 36, 46, 54, 60, 68, 78, 84
SWTMCRO1098 ... ... ... . . . i 178, 180
SWTMCRO1099 .. ... ... ... .. i 178, 180
SWTMCROT100 .. ... ... i 178, 180
WASSTND1002 . ... 12, 26, 32, 46, 56, 68, 80, 96, 98, 100, 102, 130, 134

WASSTND1155 .. 12, 26, 32, 46, 56, 68, 80, 96, 98, 100, 102, 104, 106,
130, 134, 136

TB2 Electronics IPB

188

Export Date: Tue Sep 08 03:06:50 UTC 2020



PRIDC

M OB 1 LI TY
LIVE YOUR BEST®

lilustrated Parts Breakdown QUANTUM

USA - Quantum Rehab
401 York Avenue

Duryea, Pa 18642
www.quantumrehab.com

USA - Pride Mobility Products Corp.

182 Susquehanna Avenue
Exeter, Pa 18643
www.pridemobility.com

Canada

5096 South Service Road
Beamsville, Ontario LOR 1B3
www.pridemobility.ca
www.quantumrehab.com

Australia

20-24 Apollo Drive

Hallam, Victoria 3803
www.pridemobility.com.au
www.quantumrehab.com.au

New Zealand

38 Lansford Crescent
Avondale, Auckland 0600
www.pridemobility.co.nz

UK

32 Wedgwood Road

Bicester, Oxfordshire OX26 4UL
www.pride-mobility.co.uk
www.quantumrehab.co.uk

Netherlands

(Authorised EU Representative)
De Zwaan 3

1601 MS Enkhuizen
www.pridemobility.eu
www.quantumrehab.eu

Italy

Via del Progresso, ang. Via del Lavoro
Loc. Prato della Corte

00065 Fiano Romano (RM)
www.pride-italia.it
www.quantumrehab-italia.it

France

26 Rue Monseigneur Ancel
69800 Saint-Priest
www.pridemobility.fr
www.quantumrehab.fr

Spain
Calle Las Minas NUmero 67

Poligono Industrial Urtinsa Il, de Alcorcon

28923 Madrid

Germany
Hovelrieger Str. 28
33161 Hovelhof
www.pridemobility.de

China

Room 508, Building #4
TianNa Business Zone
No. 500 Jianyun Road
Pudong New Area
Shanghai 201318

www.pridemobility.com Q 0 Q www.quantumrehab.com



	1. Tilt
	1.1. Tilt thru Toggle
	Tilt thru Toggle Harness and Inhibit Assy
	High Power Toggles and Mounts, Tubular Arms

	1.2. Tilt thru Single Switch
	TB2 Single Switch through Current Limit Box

	1.3. Curtis thru AM1 / AM2 Assy's
	AM1/ AM2, Master Assembly and Modules, After 1/2/12
	AM1/AM2, Master Assembly and Modules, Before 1/2/12
	AM1/ AM2, Harnesses and Hardware
	AM1/ AM2 Attendant Control and Recline Plastics

	1.4. Curtis thru AAM Tilt Assy's
	TB2 Tilt, AAM, Master Assembly, After 1/2/12
	TB2 Tilt, AAM, Master Assembly, Before 1/2/12
	TB2 Tilt, AAM, Harnesses
	TB2 Tilt, AAM, Hardware

	1.5. Remote Plus ALM / ALM5L Assy's
	Remote Plus, ALM-ALM5L Master Level Table
	Remote Plus, ALM-ALM5L Harnesses
	Remote Plus, ALM-ALM5L Hardware

	1.6. Remote Plus Switch-it Tilt  Assy's
	Remote Plus / Switch-it, Tilt Master Assembly and Switch-it Box
	Remote Plus / Switch-it, Tilt Harnesses
	Remote Plus / Switch-it, Tilt Hardware

	1.7. Dynamic Shark/ PG Drives VSI & VR2 Assy's
	TB2 Electronics, Shark, VSI, VR2 Harnesses and Pressure Pads


	2. Recline
	2.1. Curtis thru AM1 / AM2 Assy's
	AM1/ AM2, Master Assembly and Modules, After 1/2/12
	AM1/AM2, Master Assembly and Modules, Before 1/2/12
	AM1/ AM2, Harnesses and Hardware
	AM1/ AM2 Attendant Control and Recline Plastics

	2.2. Curtis thru AAM Recline Assy's
	TB2 Recline, AAM, Master Assembly, After 1/2/12
	TB2 Recline, AAM, Master Assembly, Before 1/2/12
	TB2 Recline, AAM, Harnesses
	TB2 Recline, AAM, Hardware

	2.3. Remote Plus Switch-it Recline Assy's
	Remote Plus / Switch-it, Recline, Master Assembly and Switch-it Box
	Remote Plus / Switch-it, Recline, Harnesses
	Remote Plus / Switch-it, Recline Hardware


	3. Tilt & Recline
	3.1. Curtis thru AM1 / AM2 Assy's
	AM1/ AM2, Master Assembly and Modules, After 1/2/12
	AM1/AM2, Master Assembly and Modules, Before 1/2/12
	AM1/ AM2, Harnesses and Hardware
	AM1/ AM2 Attendant Control and Recline Plastics

	3.2. Curtis thru AAM Tilt & Recline Assy's
	TB2 Tilt and Recline, AAM Master Assembly, After 1/2/12
	TB2 Tilt and Recline, AAM Master Assembly, Before 1/2/12
	TB2 Tilt and Recline, AAM, Harnesses
	TB2 Tilt and Recline, AAM, Hardware

	3.3. Remote Plus Switch-it Tilt & Recline Assy's
	Remote Plus / Switch-it, Tilt and Recline, Master Assembly and Switch-it Box
	Remote Plus / Switch-it, Tilt and Recline Harnesses
	Remote Plus / Switch-it, Tilt and Recline Hardware
	Remote Plus / Switch-it, Tilt and Recline, Attendant Control Hardware

	3.4. Dynamic Shark/ PG Drives VSI & VR2 Assy's
	TB2 Electronics, Shark, VSI, VR2 Harnesses and Pressure Pads


	4. Lift & Tilt
	Q-Logic Electronics, TB2 Lift and Tilt (Config #40)
	Q-Logic w/ Attendent Control Electronics, TB2 Lift and Tilt (Config #40)
	Q-Logic w/ Ind Legs Electronics, TB2 Lift and Tilt (Config #41)
	Q-Logic w/ Ind Legs and Attendant Control Electronics, TB2 Lift and Tilt (Config #41)
	Q-Logic w/ Comb Legs Electronics, TB2 Lift and Tilt (Config #42)
	Q-Logic w/ Comb Legs and Attendant Control, TB2 Lift and Tilt (Config #42)
	Q-Logic w/ AFP Electronics, TB2 Lift and Tilt (Config #43)
	Q-Logic w/ AFP and Attendant Control Electronics, TB2 Lift and Tilt (Config #43)
	Elevate Inhibit Retro Kit, TB2 Lift and Tilt
	Multiplier & Top Cover Mounting, TB2 Tilt and Recline 
	Electrical System Diagrams
	TB2 Lift and Tilt, Electrical System Diagram
	TB2 Lift and Tilt w/ Attendant Control, Electrical System Diagram
	TB2 Lift and Tilt w/ Independent Legs Electrical System Diagram
	TB2 Lift and Tilt w/ Independent Legs and Attendant Control, Electrical System Diagram
	TB2 Lift and Tilt w/ Combined Legs, Electrical System Diagram
	TB2 Lift and Tilt w/ Combined Legs and Attendant Control, Electrical System Diagram
	TB2 Lift and Tilt w/ AFP, Electrical System Diagram
	TB2 Lift and Tilt w/ AFP and Attendant Control, Electrical System Diagram


	5. Lift, Tilt, & Recline
	Q-Logic Electronics, TB2 Lift, Tilt and Recline (Config #44)
	Q-Logic w/ Ind Legs Electronics, TB2 Lift, Tilt and Recline (Config #45)
	Q-Logic w/ Combined Legs Electronics, TB2 Lift, Tilt and Recline (Config #46)
	Q-Logic w/ AFP Electronics, TB2 Lift, Tilt and Recline (Config #47)
	Multiplier & Top Cover Mounting, TB2 Tilt and Recline 
	Elevate Inhibit Retro Kit, TB2 Lift and Tilt
	Electrical System Diagrams
	TB2 Lift, Tilt, and Recline, Electrical System Diagram
	TB2 Lift, Tilt, and Recline w/ Independent Legs, Electrical System Diagram
	TB2 Lift, Tilt, and Recline w/ Combined Legs, Electrical System Diagram
	TB2 Lift, Tilt, and Recline w/ AFP, Electrical System Diagram


	6. Electronics Box Assy's
	9. Standard Electronics Box Assy's
	Electronics Box - ALM - Solid Back Plate/ Cane Mount, TB2
	Electronics Box - AAM - Solid Back Plate/ Cane Mount, TB2
	Electronics Box - Switch-it - Solid Back Plate/ Cane Mount, TB2
	Electronics Box - SingleSwitch - Solid Back Plate/ CaneMount, TB2
	Electronics Box to Push Bar Mounting Bracket, TB2

	10. Compact Electronics Box Assy's
	Electronics Box - Compact, Solid Back, TB2
	Electronics Box - Compact, TB2
	Electronics Mount - Compact Ele Box, thru Toggle, TB2
	Electronics Mount - Compact Ele Box, thru Toggle, Solid Back, TB2
	Electronics Mount - Compact Box Bracket, Offset, 10"-28", TB2


	7. Curtis LED Light Assy's
	Q-Logic, LED Lights, TB2 Tilt or Tilt and Recline
	Q-Logic, LED Lights, Power Seat w/ Tilt or Tilt and Recline
	Q-Logic, LED Lights, TB2 Recline

	8. Toggle & Push Button User Controls
	High Power Toggle and Mount, Tubular Arms
	Seating Controls and Mounts, Tubular Arms
	4 Way Seating Controls for AAM and Switch-it

	9. Curtis Stand-alone Charger Port Assy
	Curtis Stand Alone Charger Port

	Appendix A:Pages Index
	Appendix B:Parts Index

